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[5808]-501
S.Y. B.A.

COMPULSORY ENGLISH
Text Book : Panorama

(2019 Pattern) (Semester - IV) (24001)

Time : 2½ Hours]    [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.
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SEAT No. :

Q1) a) Answer any six of the following in one/two sentences each. [6]
i) In which words did Swami Vivekananda start his speech at Chicago?
ii) Why did Swami Vivekananda call Hinduism as a mother of all

regions?
iii) What, according to Swami Vivekananda has destroyed civilization

and sent whole nations to despair?
iv) What was the series and lottery ticket number which was bought by

Masha?
v) What type of character is Ivan Dmitritch in ‘The Lottery ticket’?
vi) What is the name of Ivan Dmitritch’s wife?
vii) Why had Framton Nuttel come to the ‘rural retreat’ in ‘The Open

Window’?
viii) What did Mrs. Sappleton say about the open window?
ix) Why did Framton rush out wildly in ‘The Open Window’?

b) Answer any two of the following. [14]
i) Explain Swami Vivekananda’s views on Hinduism reflected in

Chicago speech.
ii) ‘The Lottery Ticket’ is a satirical comment on thoughts and

aspirations of human being. Elaborate your answer.

iii) Attempt the character sketch of Vera in ‘The Open Window’.

P.T.O.
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Q2) a) Answer any six of the following in one/two sentences each. [6]

i) Who is the poet of the poem ‘On Another’s Sorrow’?

ii) What is the theme of the poem ‘On Another’s Sorrow’?

iii) Which bird is mentioned in the poem ‘On Another’s Sorrow’?

iv) ‘Laugh till the game is played’ what does the word ‘game’ signify
in ‘Laugh and Be Merry’?

v) What is man’s span of life compared to in ‘Laugh and Be Merry’?

vi) Why did God create earth and heaven referred in ‘Laugh and Be
Merry’?

vii) What does bubble symbolize in ‘Th Rock and the Bubble’?

viii) Who claims to have a rainbow robe in ‘The Rock and the Bubble’?

ix) At whose feet the waves danced merrily in ‘The Rock and the
Bubble’?

b) Answer any two of the following. [14]

i) What is the speaker’s reaction when he sees another person in
distress in the poem ‘On Another’s Sorrow’?

ii) According to Masefield, what are the ways in which an ordinary
person can make the world a better place?

iii) What message do we get from the poem ‘The Rock and the Bubble’?
Support your answer with illustration.

Q3) a) Add question tags to the following (any four) [4]

i) They played football.

ii) Let us play.

iii) She is a doctor.

iv) They could hear me.

v) Sham didn’t go out last Sunday.

vi) We aren’t late.
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b) Identify the type of sentence (simple/compound/complex) (any three)[3]
i) Anil will stay with friends in the hotel.
ii) You should work hard to achieve your goal.
iii) He is poor yet he is trustworthy.
iv) She died in the village where her parents were born.
v) I have lost the watch which my brother gave me.

c) Change the degree without changing the meaning (any three) [3]
i) Apples are not as sweet as mangoes.

(Change into Comparative)
ii) Usha runs as fast as any other girl in the class.

(Change into comparative)
iii) No other subject is as difficult as mathematics.

(Change into superlative)
iv) Very few metals are as costly as gold.

(Change into superlative)
v) Indore is the cleanest city in India.

(Change into comparative)

Q4) a) Specify whether the underlined collocation is right or wrong (any four)[04]

i) I want to speak English freely.

ii) Could you give me some information.

iii) I think, I did a mistake.

iv) The prisoner has committed the crime.

v) Can you do a favour to me?

vi) It’s so hot. I must have a fast shower.

b) Fill in the blanks with correct phrasal verbs.
Chosen from those given in the brackets (any three) [3]
i) The people _____ bravely during the famine.

(carried out / carried on / carried away)
ii) Nishi is _____ a bad time in office.

(going through / going about / going in to)
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iii) She had no appetite and ______ the food on her plate.
(picked at / picked on / picked up)

iv) At his request, she _____ smoking.
(gave up / gave away /  gave out)

v) The children ______ very well with each other.
(get through / get on / get by)

c) Complete the sentences with an appropriate word chosen from those in
the brackets (any three) [3]
i) A snake was killed _____ Alice with a sword.

(by, bye)
ii) He is my _____ friend

(dear, deer)
iii) Have you seen the new ______ shop.

(stationary, stationery)
iv) Nothing can _____ the fact that she is my best friend.

(alter, altar)
v) India is _____ for its classical forms of dance.

(popular, famous)

Q5) Answer the following questions in brief (any two) [10]

a) Problem solving skills are important for professional success. Explain

b) Why is time management an important softskill in the present times?

c) How can one manage and organise time effectively?

 
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[5808]-502
S.Y. B.A.

MARATHI (‘amR>r)
MODERN INDIAN LANGUAGES

MIL - 2 : Zd‘mÜ¶‘o Am{U g‘mO ‘mÜ¶‘m§gmR>r ‘amR>r
 (2019 Credit Pattern) (Semester - IV) (24011)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4193 [Total No. of Pages : 1
SEAT No. :

à.à.à.à.à.1) g§kmnZmVrb Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§À¶m ¶moJXmZm{df¶r WmoS>³¶mV ‘m{hVr {bhm. [10]

qH$dm

ãbm°J, ’o$g~wH$, {Q²>dQ>a ¶m Zd‘mÜ¶‘m§Mo OrdZ ì¶dhmamVrb ñWmZ ñnï> H$am.

à.à.à.à.à.2) do~gmB©Q> Am{U ãbm°J, {Q²>dQ>agmR>r boIZmMr R>iH$ d¡{eîQ>ço gmoXmhaU {bhm. [10]

qH$dm

ì¶mdgm{¶H$ nÌì¶dhmamMo doJionU gm§Jm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVrhr EH$ Q>rn {bhm. [5]

A) Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§Mm dmna Am{U n[aUm‘.

~) ì¶mdgm{¶H$ nÌì¶dhmamMo ‘hÎd.





Total No. of Questions : 3]

[5808]-503
S.Y. B.A.

HINDI (qhXr)
MIL - 2 : qhXr  ^mfm {ejU

nmR²>¶nwñVH$ … qhXr ^mfm {ejU - g§nm. àmo. S>m°. gXmZ§X ^mogbo
(qhXr AÜ¶¶‘ ‘§S>b, gm. ’w$bo nwUo {díd{dÚmb¶)
 (2019 CBCS Pattern) (Semester - IV) (24012)

g‘¶ : 2 K§Q>o] [ nyUmªH$ : 25
gyMZmE± …- 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¢&

P4194 [Total No. of Pages : 1
SEAT No. :

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) gmYmaU dm³¶ H$m ñdê$n ñnï> H$s{OE&

~) g§km Cndm³¶ Am¡a {deofU Cndm³¶ H$s n[a^mfm Xr{OE&

g$) g§¶wº$ dm³¶ H$m ñdê$n ~VmH$a CgHo$ ôX {b{IE&

X>) g§{já dm³¶ Ho$ ñdê$n H$mo AYmoao{IV H$s{OE&

à.à.à.à.à.2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) H${d ZraO Ho$ OrdZ n[aM¶ H$mo {deX H$s{OE&

~) "H${d ZraO ‘mZdVmdmX Ho$ H${d h¡' - ñnï> H$s{OE&

g) H${d ZraO Ho$ JrVm| ‘| ào‘ H$s n{dÌVm {H$g àH$ma {M{ÌV hþB© h¡&

X>) H${d ZraO Zm{¶H$m H$mo H$~ IV {bIVo h¢?

à.à.à.à.à.3) {ZåZ{b{IV _| go {H$gr EH$ àíZ H$m CÎma {b{IE& [5]
A) dm³¶ H$s n[a^mfm XoH$a dm³¶ Ho$ ôX {b{IE&

~) "’y$bm| Ho$ a§J go, {Xb H$s H$b‘ go'- JrV H$m ^mdmW© ñnï> H$s{OE&


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S.Y.B.A. 

URDU
MIL-2 : Making Sentences & Grammar

(2019 CBCS Pattern) (Semester - IV)  (24013)

Time : 2 Hours] [Max. Marks : 25

 


[5]  
 

 
 
 
 
 
 

[5]  
  


 


P.T.O.
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 



 



 



[5]   

 

 

 

 

 

[3]  

 

 

 

 

 
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[3]    

 

 

 

 

 

[4]  

1) Urdu is the word of which language?

2) Getting up early in the morning is a sign of a healthy life.

3) The Capital of India is Delhi.

4) The Rose is the king of flowers.

[5808]-504 3



Total No. of Questions : 4]

[5808]-505
S.Y. B.A.

MARATHI (‘amR>r)
DSE - 2B : _Ü` ẁJrZ _amR>r gm{hË` … {ZdS>H$ _Ü` ẁJrZ JÚ, nÚ

(DSE 1B (3) S-1)
(2019 Credit Pattern) (Semester - IV) (24021)

nmR²>`nwñVH$ … - {ZdS>H$ _Ü``wJrZ JÚ-nÚ

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

P4196 [Total No. of Pages : 1

SEAT No. :

à.à.à.à.à.1) nwT>rb nmM àíZm§n¡H$s VrZ àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. [15]
A) _hmZŵ md JÚ gm{hË`mMo {deof WmoS>Š`mV {bhm.
~) Eo{Vhm{gH$ nÌm§Mo ñdê$n ñnï> H$am.
H$) "^mê$S>' `m H$mì`àH$mamMr WmoS>Š`mV AmoiI H$ê$Z Xçm.
S>) ""åhUo ^aV hm am_'' `m H$mì`mVrb ^aVmÀ`m ~§Yyào_mMo dU©Z H$am.
B) "g§V H¥$nm Pmbr' `m g§V ~{hUm~mBªÀ`m A §̂JmMo gma {bhm.

à.à.à.à.à.2) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao àË òH$s 150 eãXm§V {bhm. [20]
A) "A §̂J' `m H$mì`boIZ àH$mamMo {deof {bhm.
~) "~Ia' `m gm{hË`àH$mamÀ`m ñdê$nmMo boIZ H$am.
H$) "nmodmS>m' `m H$mì`boIZ àH$mamMr AmoiI H$ê$Z Xçm.

à.à.à.à.à.3) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. [20]
A) emhra am_ Omoer `m§Zr órgm¢X`m©Mo dU©Z H$go Ho$bo Amho, Vo {bhm.
~) hmoZmOr ~mim `m§À`m "bQ>nQ> bQ>nQ>' `m bmdUrMo Ame`gm¢X ©̀ CbJSy>Z XmIdm.
H$) hÎmrÀ`m Ñï>m§VmMm Ame` ñnï> H$am.

à.à.à.à.à.4) nwT>rb XmoZ àíZm§n¡H$s EH$m àíZmMo CÎma 300 eãXm§V Xçm. [15]
A) {ZdS>H$ _Ü` ẁJrZ JÚ-nÚ `m nmR>çnwñVH$mVrb em{har H$mì`mMm gmoXmhaU n[aM` H$ê$Z Xçm.
~) {ZdS>H$ _Ü` ẁJrZ JÚ-nÚ ̀ m nmR>çnwñVH$mVrb "A §̂J' ̀ m H$mì`àH$mamMr d¡{eîQ>ço CXmhaUmgh

{bhm.


P.T.O.



àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [10]

A) gm{hË` g_rjoMo à`moOZ ñnï> H$am.

~) gm{hË`H¥$Vr Am{U AmñdmXçm§À`m nañnag§~§YmMr MMm© H$am.

g) gm{hË`mMr dmL²>_`rZ _yë ò {deX H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 150 eãXm§V {bhm. [20]

A) "g_rjm hr H$bm Am{U emó Amho' ho {dYmZ ñnï> H$am.

~) gm{hË` g_rjoMo H$moUVohr VrZ àH$ma ñnï> H$am.

g) gm{hË` g_rjoMr g§H$ënZm Am{U ñdén {deX H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]

A) gm{hË` g_rjoVrb AmñdmX, AmH$bZ d _yë`_mnZ `m§Mo H$m ©̀ ñnï> H$am.

~) gm{hË`H¥$Vr Am{U dmMH$ `m§Mo nañnag§~§Y ñnï> H$am.

g) gm{hË`H¥$Vr Am{U g_rjmH$`m§Mo nañnag§~§Y ñnï> H$am.

Total No. of Questions : 4]

[Total No. of Pages : 2

[5808]-506
S.Y. B.A.

MARATHI (_amR>r)
Sahitya Samiksha (gm{hË` g_rjm) [DSE2-B]
(2019 Pattern) (CBCS) (Semester - IV) (24022)

doi : 2½ Vmg     ] [EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4197

SEAT No. :

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]

A) J«§Wn[aM` åhUOo H$m`? Vo gm§JyZ J«§Wn[aM`mMo _hËd {deX H$am.

~) g_rjH$mÀ`m A§Jr H$moUH$moUVo JwU Agbo nmhrOoV Vo {deX H$am.

g) Cn`mo{OV g_rjoÀ`m {d{dY KQ>H$m§Mr MMm© H$am.





Total No. of Questions : 4]

[5808]-507
S.Y. B.A.

MARATHI (‘amR>r)
CC - 1D (3) : ̂ m{fH$ H$m¡eë¶{dH$mg Am{U AmYw{ZH$ ‘amR>r gm{hË¶ àH$ma : b{bVJÚ

(2019 Pattern) (Semester - IV) (24023)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

P4198

à.à.à.à.à.1) nmM n¡H$s VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§n¶ªV {bhm. [15]

A) JwJb åhUOo H$m¶ Vo WmoS>³¶mV {bhm.

~) AÜ¶¶ZmVrb JwJb ³bmgê$‘Mo ‘hÎd {deX H$am.

H$) b{bV JÚmMr g§H$ënZm ñnï> H$am.

S>) b{bV JÚmMo {deof WmoS>³¶mV {bhm.

B) em§Vm eoiHo$ ¶m§À¶m J«§W{‘ÌmMm Ame¶ ñnîQ> H$am.

à.à.à.à.à.2) VrZ n¡H$s XmoZ àíZm§Mr CÎmao àË¶oH$s 150 eãXm§n¶ªV {bhm. [20]

A) JwJb ’$m°‘©Mo ’$m¶Xo ñnï> H$am.

~) b{bV JÚmMo KQ>H$ {bhm.

H$) b{bVJÚmMo àH$ma ñnï> H$am.

[Total No. of Pages : 2

SEAT No. :

P.T.O.
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à.à.à.à.à.3) VrZ n¡H$s XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§n¶ªV {bhm. [20]

A) "H$moaS>r {^jm' ‘Yrb boIH$mMr ~mbnUrMr AmR>dU H$er {M{ÌV Pmbr Amho, Vo {bhm.

~) "Am{U ~wÓm§Mm OÝ‘ hmoVmo' ¶m boImMm Ame¶ CbJSy>Z XmIdm.

H$) "VwÂ¶m ZmXmZ§ nm{hbr, VwPrM ao n§T>ar' ¶m boImMm Ame¶ ñnï> H$am.

à.à.à.à.à.4) XmoZ n¡H$s EH$ àíZmMo CÎma 300 eãXm§n¶ªV {bhm. [15]

A) "hçm Ýh¡¶À¶m n¡bVS>r' ¶m boImVrb {ZgJ©dU©Z g{dñVa ñnï> H$am.

~) "gm{hË¶a§J' ‘Yrb b{bVboIm§Mm Ame¶ {deX H$am.





Total No. of Questions : 4]

[5808]-508
S.Y. B.A.

MARATHI (‘amR>r)
CC - 2D : ì`mdhm[aH$ d Cn`mo{OV _amR>r - ^mJ 4 (CC-1D (3))

n`m©̀ r Aä`mgH«$_
 (2019 Pattern) (Semester - IV) (24024)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

P4199 [Total No. of Pages : 1

SEAT No. :

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr Mma àíZm§Mr CÎmao 50 eãXmV {bhm. [20]
A) ẁ{ZH$moS> åhUOo H$m` Vo gm§JyZ Ë`mMo _hÎd gm§Jm.
~) nm°da nm°BªQ> åhUOo H$m` Vo gm§JyZ Ë`mMo _hÎd gm§Jm.
H$) BZ pñH«$ßQ> H$m` Amho?
S>) \$moZo{Q>H$Mm dmna H$gm Ho$bm OmVmo?
B) "H$moe' `m eãXmMr {Z{_©Vr H$er Pmbr?
\$) ñdV§Ì _hmamï´>mÀ`m {Z{_©VrZ§Va H$moe dmL²>_`mÀ`m {Z{_©Vrbm H$er MmbZm {_imbr?

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 100 eãXmV {bhm. [20]
A) Zm|X boIZmMo àH$ma gm§Jm.
~) _amR>r Q>§H$boIZmMm Cn`moJ ñnï> H$am.
H$) EH$m g§ñWoZo _hm{dÚmb` gwê$ H$aÊ`mÀ`m MmMnUrgmR>r Zo_boë`m g{_VrZo V`ma Ho$boë`m

AhdmbmË_H$ B{Vd¥ÎmmMm Z_wZm V`ma H$am.

à.à.à.à.à.3) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 100 eãXmV {bhm. [20]
A) H$m`m©b`rZ {Q>ßnUr boIZmMo n«H$ma gm§Jm.
~) B{Vd¥ÎmmMr ì`m»`m d ñdê$n ñnï> H$am.
H$) _amR>r {dídH$moemÀ`m Zm|Xr AX``mdV H$aÊ`mgmR>r H$moUË`m kmZ_§S>im§Mr {Z{_©Vr Pmbr?

à.à.à.à.à.4) Imbrbn¡H$s EH$m àíZmMo CÎma 100 eãXmV {bhm. [10]
A) _hmamï´> emgZmMo ẁ{ZH$moS> dmnam{df`rMo YmoaU ñnï> H$am.
~) H$moe dmL²>_`mÀ`m {bImZmMr nÕV d ñdê$n ñnï> H$am.


P.T.O.



Total No. of Questions : 3]

[5808]-509
S.Y.B.A.

MARATHI (‘amR>r)
SEC - 2 B(2) : Cn¶mo{OV boIZH$m¡eë¶o

(2019 Credit Pattern) (Semester - IV) (24025)

(‘amR>r ê$nm§Va)

doi : 2  Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4200

à.à.à.à.à.1) Om{hamVtMo {d{dY ‘mÜ¶‘mVrb ñWmZ ñnï> H$am. [10]

qH$dm

‘wbmIVrMr nyd©V¶mar H$aVm§Zm H$moUVr nÏ¶o nmimdrV Vo gm§Jm?

à.à.à.à.à.2) Zm|XboIZ ‘mÜ¶‘ JUrH$ H$go H$amdo Vo ñnï> H$am. [10]

qH$dm

{dídH$moemMo àH$ma ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr EH$ Q>rn {bhm. [5]

A) Z^modmUrdarb Om{hamVtMr ^mfm

~) H$moeboIZmMr Cn¶wº$Vm



[Total No. of Pages : 1

SEAT No. :



1[5808]-510

Total No. of Questions : 4]

[5808]-510
S.Y.B.A.

FRENCH
CC-1D : French General

(2019 Pattern) (Semester-IV) (24033)

Time : 2½ Hours] [Max. Marks : 70

P6382 [Total No. of Pages : 3

SEAT No. :

P.T.O.



2[5808]-510



3[5808]-510

ooo



1[5808] - 511

Total No. of Questions : 5]

[5808] - 511
Second Year B.A.

CC-1D-GG 4 : GERMAN GENERAL-IV
(2019 Pattern) (Semester -IV) (24043)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

All questions are compulsory.

P6780 [Total No. of Pages :3
SEAT No. :

P.T.O.



2[5808] - 511



3[5808] - 511





[5808]-512
S.Y.B.A.
URDU

DSE-1B : History of Urdu Literature (Poetry)
(2019 Pattern) (Semester - IV) (24071)

Time : 2½ Hours] [Max. Marks : 70

 


[15]  


 1900

[15]  




[15]  




P.T.O.

P4201

Total No. of Questions : 5

[Total No. of Pages : 2

SEAT No. :



[15]    





[10]   

  

 

 

 

[5808]-512 2



[5808]-513
S.Y.B.A.(Semester - IV)

URDU 
DSE-2B : SPECIAL STUDY OF POETS

  (CBCS-2019 Pattern) (24072)

P-4202

Total No. of Questions : 5

[Time : 2½  HoursTotal Marks : 70]

P.T.O.

-  (1 
-   (2

 :1 


 
 2 




  3 




 4 
 (2  (1

[15]

SEAT No.

Total No. of Pages : 2

[10]

[15]

[10]



    5 
     (1     

 (2           

 (3           

   (4           

  (5           




 (6           

 (7           

 5 
 (1

 (2

 (3   

 (4

 (5


 (6

 (7            



[10]

- 2 - [5808]-513
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[5808]-514
S.Y.B.A. 

URDU
CC-1D : Modern Prose & Poetry Text
(2019 Pattern) (Semester - IV)  (24073)

Time : 2½ Hours] [Max. Marks : 70

 


[12]  




[12]  




[12]  




P.T.O.

P4203

Total No. of Questions : 5

[Total No. of Pages : 2

SEAT No. :



[10]    

 

 

[10]  

 

 

[14]   

  

  

  
  
  
  
  
  
  
  
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[5808]-515
S.Y.B.A.(Semester - IV)

URDU 
SEC-2B : COMMUNICATION SKILL

  (CBCS-2019 Pattern) (24074)

P-4204

Total No. of Questions : 2

[Time : 2 HoursTotal Marks : 25]

  (1 
  (2

 :1 



 2 


 



[15]

SEAT No.

Total No. of Pages : 1

[10]



Total No. of Questions : 4]

[5808]-516
S.Y. B.A.

HINDI (qhXr)
DSE - 1B (S-1) : gm{hË¶ Ho$ ^oX

 (CBCS 2019 Pattern) (Semester - IV) (24091)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZmE± …- 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa àíZ Ho$ A§H$ h¢&

P4205 [Total No. of Pages : 2
SEAT No. :

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE& [21]
A) I§S>H$mì¶ H$m n[aM¶ Xr{OE&
~) ‘wº$H$ H$mì¶ Ho$ ôXm| H$m g§jon ‘| n[aM¶ Xr{OE&
H$) JÚH$mì¶ H$m ñdê$n {b{IE&
S>) ‘hmH$mì¶ Am¡a I§S>H$mì¶ ‘| A§Va ñnï> H$s{OE&
B) Jr{V H$mì¶ H$m gm‘mÝ¶ n[aM¶ Xr{OE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE& [21]
A) CnÝ¶mg H$s n[a^mfm XoH$a CgH$m ñdê$n ñnï> H$s{OE&
~) H$hmZr Ho$ VËd g§jon ‘| {b{IE&
H$) CnÝ¶mg Ho$ VËdm§o H$m gm‘mÝ¶ n[aM¶ Xr{OE&
S>) {Z~§Y Ho$ VËd g§jon ‘| {b{IE&
B) H$hmZr Ho$ ñdê$n na àH$me S>m{bE&

à.à.à.à.à.3) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE& [21]
A) ZmQ>H$ Am¡a EH$m§H$s ‘| ³¶m A§Va h¡?
~) ZmQ>H$ Ho$ VËd g§jon ‘| {b{IE&
H$) XÿaXe©Z ZmQ>H$ H$m n[aM¶ Xr{OE&
S>) a§J‘§Mr¶ ZmQ>H$ H$m gm‘mÝ¶ n[aM¶ {b{IE&
B) ao{S>¶mo ZmQ>H$ Ho$ ñdê$n na àH$me S>m{bE&

P.T.O.
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à.à.à.à.à.4) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| H$m ghr {dH$ën MwZH$a {b{IE& [7]

i) ‘hmH$mì¶ H$m Zm¶H$ H¡$gm hmoZm Mm{hE?

A) gw§Xa ~) AmkmH$mar

H$) ZV©H$ S>) YramoXmÎm

ii) ‘hmH$mì¶ H$s H$WmdñVw {H$g na AmYm[aV hmoVr h¡?

A) Ym{‘©H$ ~) Eo{Vhm{gH$

H$) ì¶§J S>) gmYmaU

iii) {ZåZ{b{IV ‘| go Jr{VH$mì¶ H$m VËd H$m¡Z-gm h¡?

A) ½¶o¶Vm ~) g§JrV

H$) ewÕVm S>) Üd{Z

iv) CnÝ¶mg ¶h eãX {H$g ^mfm H$m h¡?

A) qhXr ~) ‘amR>r

H$) g§ñH¥$V S>) ~m§½bm

v) CnÝ¶mg H$m ôX H$m¡Z-gm h¡?

A) ‘Zmoa§OH$ CnÝ¶mg ~) Am±M{bH$

H$) Ym{‘©H$ S>) AZy{XV

vi) lì¶ ZmQ>H$ H$m àH$ma H$m¡Z-gm h¡?

A) ao{S>¶mo ZmQ>H$ ~) XÿaXe©Z ZmQ>H$

H$) ‘§Mr¶ ZmQ>H$ S>) EH$m§H$s

vii) {Z~§Y eãX go ³¶m VmËn¶© h¡?

A) Omo‹S>Zm ~) ~m§YZm

H$) {bIZm S>) n‹T>Zm





Total No. of Questions : 5]

[5808]-517
S.Y. B.A.

HINDI (qhXr)
DSE - 2B : ‘Ü¶¶wJrZ H$mì¶ VWm ZmQ>H$ gm{hË¶ (S - 2)

 (2019 Credit Pattern) (Semester - IV) (24092)
nmR²>¶nwñVHo$ … 1) ‘Ü¶¶wJrZ H$mì¶-g§.àmo.S>m°. gXmZ§X ^mogbo

2) ‘hm^moO-boIH$-‘Þw ̂ §S>mar

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZmE± …- 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bI| A§H$ àíZm| Ho$ nyUmªH$ h¡&

P4206 [Total No. of Pages : 3
SEAT No. :

à.à.à.à.à.1) {ZåZ{b{IV àíZm| _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]
A) ahr‘ H$s ^{º$ - ^mdZm ñnï> H$s{OE&

Am) ahr‘ Ho$ H$mì¶ ‘| g‘Ýd¶ H$s ^mdZm {XImB© XoVr h¡, ñnîQ> H$s{OE&

B$) ahr‘ Ho$ Zr{VH$mì¶ na àH$me S>m{bE&

B©>) ahr‘ Ho$ H¥${VËd H$m n[aM¶ Xr{OE&

à.à.à.à.à.2) {ZåZ{b{IV àíZm| _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]
A) {~hmar H$m gm{hpË¶H$ n[aM¶ Xr{OE&

Am) {~hmar Ho$ H$mì¶ H$m ^mdnj ñnï> H$s{OE&

B$) {~hmar Ho$ H$mì¶ H$s àmg§{JH$Vm aoIm§{H$V H$s{OE&

B©) {~hmar Ho$ H$mì¶ ‘| Zm¶H$ - Zm{¶H$m Ho$ gm¢X¶© H$m {MÌU {‘bVm ñnï> H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV àíZm| _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]
A) qhXr ZmQ>H$ Ho$ VËdm| H$mo ñnï> H$s{OE&

Am) ‘hm^moO ZmQ>H$ ‘| {M{ÌV g‘ñ¶mAm| H$mo ñnï>> H$s{OE&

B$) ZmQ>H$ VËdm| Ho$ AmYma na "‘hm^moO' H$s g‘rjm H$s{OE&

B©>) "‘hm^moO' ZmQ>H$ Ho$ erf©H$ H$s gmW©H$Vm {b{IE&

P.T.O.
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à.à.à.à.à.4) gg§X ©̂ ì¶m»¶m&

A) {ZåZ{b{IV ‘| go {H$gr EH$ H$mì¶ n§{³V$ H$s gg§X ©̂ ì¶m»¶m {b{IE& [7]

i) g‘¶ Xem Hw$b Xo{I H¡$, g~¡ H$aV gZ‘mZ&

a{h‘Z, XrZ AZmW H$mo, Vw‘ {~Z H$mo ^JdmZ&&

ii) a{h‘Z CObr àH¥$V H$mo, Zht ZrM H$mo g§J&

H$[a¶m ~mgZ H$a Jho, H$m{bI bmJV A§J&&

Am) {ZåZ{b{IV _| go {H$gr EH$ H$mì¶ n§[º$ H$s ghg§X ©̂ ì¶m»¶m {b{IE& [7]

i) H$hV, ZQ>V, arPV, {IOV, {‘bV, {IbV, b{O¶mV&

^ao ^m¡Z ‘| H$aV h¢, Z¡Z{Z ‘| g~ ~mV&&

ii) {MaOrdm¡ Omoar, Owa¡ ³¶m| Z gZoh J§̂ ra&

H$mo K{Q>, ¶o d¥f^mZOm, do hbYa Ho$ dra&&

B) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s ghg§X ©̂ ì¶m»¶m {b{IE& [7]

i) h¡S> bmBZ hmoJr-gamohm ‘| AmO g~oao-g~oao nw{b¶m na EH$ AmX‘r H$s bme nm¶r J¶r&

ii) Omo qOXJr H$s BÎmm ß¶ma H$aVm hmo, AnZr hr Zht, ha {H$gr H$s {O§XJr H$s-dmo AmË‘hË¶m
H$aoJm? Zht gmh~ Zht, Cgo ‘mam J¶m h¡&

à.à.à.à.à.5) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| Ho$ CÎma {b{IE& [7]

i) ahr‘ {H$g H$mb Ho$ H${d h¡&

A) Am{XH$mb Am) ^{º$H$mb

B$) ar{VH$mb B©>) AmYw{ZH$ H$mb

ii) ahr‘ Ho$ ‘VmZwgma gƒm {‘Ì H$m¡Z h¡?

A) gwI ‘| gh¶moJr Am) g§H$Q> ‘| gh¶moJr

B) Hw$H$‘© ‘| gh¶moJr B©>) Ah§H$mar
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iii) "{~hmar gVgB©' {H$g H${d H$s aMZm h¡?

A) {~hmar Am) H$~ra

B$) ahr‘ B©>) gyaXmg

iv) "~Vag bmbM bmb H$s ‘wabr Yar bwH$mBª' ¶h {H$gH$s H$mì¶n§{º$ h¢?

A) H$~raXmg Am) gyaXmg

B) {~hmar B©>) ‘ram~mB©

v) ZmQ>H$ ‘| H$m¡Z-go VËd H$m g§JR>Z AË¶§V ‘hËdnyU© hmoVm h¡?

A) ^mfme¡br Am) H$WmdñVw

B$) nm‘-¶moOZm B©>) g§dmX

vi) "‘hm^moO' ZmQ>H$ {H$VZo Ñí¶m| ‘| {d^m{OV h¡&

A) 15 Am) 11

B) 9 B©>) 8

vii) {~gy Ho$ {nVm H$m Zm‘ ³¶m h¡?

A) ‘mohZ qgh Am) g³goZm

B) H$mer B©>) hram


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Total No. of Questions : 5]

[5808]-518
S.Y. B.A.

HINDI (qhXr)
CC-1D : AmYw{ZH$ qhXr ì¶§½¶ gm{hË¶ VWm ì¶mdhm[aH$ qhXr (G2)

(CBCS-2019 Pattern) (Semester - IV) (24093)
nmR²>¶nwñVH$ - qhXr gm{hË¶ Am¡a ^mfm

   g§nmXH$ -àmo. S>m°. gXmZ§X ^mogbo

g‘¶ : 2½ KÊQ>o ] [ nyUmªH$ : 70

gyMZm …- 1) g^r àíZ A{Zdm¶© h¡&
2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡&

P4207

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [16]

i) H${d ZmJmO©yZ Or Zo ~mny Ho$ VrZm| ~§Xam| Ho$ ‘mÜ¶‘ go dV©‘mZ pñW{V na H¡$gm ì¶§½¶ {H$¶m h¡?

ii) "~mV-~V§JS>' H${dVm Ho$ ‘mÜ¶‘ go "~mV' Ho$ {d{dY àH$mam| H$mo ñnîQ> H$s{OE?

iii) H${d CX¶ àH$me Or Zo {dX²dmZ bmoJm| H$s H$m¡Z-gr {deofVm ~Vm¶r h¡?

iv) e¡b MVwd}Xr Zo ZoVm Ho$ gdm}n{a ‘hËd H$mo H¡$go ~Vm¶m h¡?

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [16]

i) "ào‘ H$s {~amXar' Bg H$hmZr ‘| h[ae§H$a nagmB© Or Zo ào‘ Ho$ {d{^ÝZ ê$nm| H$mo H¡$go {M{ÌV {H$¶m h¡?

ii) "A’$ga' Bg ì¶§½¶ H$hmZr ‘mÜ¶‘ go A’$gam| H$s {deofVmAm| H$mo {M{ÌV H$s{OE?

iii) "‘w»¶‘§Ìr H$m S>§S>m' Bg H$hmZr Ho$ ‘mÜ¶‘ go gaH$mar V§Ì àUmbr na H$hmZrH$ma Zo {H$g àH$ma
ì¶§½¶ {H$¶m h¡?

iv) "Pmobo' Bg ì¶§½¶ H$hmZr ‘| {M{ÌV Am‘ BÝgmZ H$s nr‹S>m H$mo H$hmZrH$ma Zo {H$g àH$ma ì¶³V {H$¶m h¡?

à.à.à.à.à.3) A) {ZåZ{b{IV ‘| go {H$Ýht EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE& [7]

i) ""ì¶W© ~mV ‘V H$s{OE, hmo dmUr H$m èhmg

~H$-~H$ Á¶mXm hmo¶ Vmo ~Z OmE ~H$dmg&

~Z OmE ~H$dmg, Z PyR>r ~mV ~ZmAmo,

{MH$Zr-Mwn‹S>r ~mVm| go M‘Mo H$hbmAmo&''

[Total No. of Pages : 3

SEAT No. :
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ii) ""~hþV gmYmaU-gr ~mVm| na O~

gmoMVo h¡ {dX²dmZ bmoJ

Vmo CZHo$ gmoMVo hr

do ~mV| OwJZwAm| ‘| ~XbH$a

‘y‹T>Vm Ho$ Bg KZmÝYH$ma ‘|

M‘H$Zo bJVr h¡&''

Am) {ZåZ{b{IV ‘| go {H$Ýht EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE& [7]

i) ""gwZm h¡, b‹S>H$s ~‹S>r VH$br’$ ‘| h¡& dh Cgo nrQVm> h¡&

CÝhm|Zo H$moB© Odm~ Zht {X¶m& Odm~ XoVo ^r Vmo ³¶m XoVo,

{gdm BgHo$ {H$-BVZm Vmo gÝVmof h¡ {H$ Om{Vdmbo go {nQ> ahr h¡&''

ii) ""Amn nrN>o ‘V h{Q>E ......... ¶o Vmo B©‘mZXmar H$s bS>mB© h¡ Am¡a

B©‘mZXma Ho$ ‘gbo H$mo boH$a nrN>o hQ>Zm R>tH$ Zht h¡&''

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

i) E‘ nr Eg gr narjm ‘| CËVrU© lr. JUoe {ÌnmR>r - Or go hþE gmjmËH$ma H$m AmH$f©H$ Z‘yZm V¡¶ma
H$s{OE&

ii) ‘mo~mBb E°n H$s {deofVmE± ~VmBE&

iii) "n[adV©Z hr OrdZ h¡' Bg {df¶ na nëbdZ {b{IE&

à.à.à.à.à.5) {ZåZ{b{IV ~hþ{dH$ënr¶ Xg àíZm| Ho$ CÎma {b{IE& [10]

i) ~mV ~ZmZo dmbo H$mo ³¶m H$hVo h¢?

A) ~oH$ma Am) ~mVyZr

B) hmoZhma B©) ~mobZo dmbm

ii) {dX²dmZ bmoJm| H$mo Á¶mXmVa H¡$go XoIm J¶m h¡?

A) Mwn Am) ~‹S>~‹S>mVo

B) h±gVo B©) amoVo
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iii) "{H$VZr amoQ>r' H${dVm ‘| noQ> Ho$ {bE {H$VZr amoQ>r H$m gdmb h¡?

A) Xmo Am) Mma

B) EH$ B©) nm±M

iv) Xoe Ho$ {bE H$m¡Z ‘hËdnyU© h¡?

A) ZoVm Am) amOm

B) Zm¶H$ B©) BZ‘| go Zht

v) "ào‘ H$s {~amXar' H$hmZr Ho$ H$hmZrH$ma H$m¡Z h¡?

A) eaX Omoer Am) bVr’$ Km|Kr

B) h[ae§H$a nagmB© B©) gw^mf H$m~am

vi) A’$ga h‘oem Amn Ho$ {bE H$m¡Z hmoVm h¡?

A) A’$ga Am) Zm¡H$a

B) ‘mbH$ B©) MmbH$

vii) nhbm B©‘mZXma AmX‘r Xÿgao B©‘mZXma AmX‘r H$mo ³¶m ‘mZVm h¡?

A) B©‘mZXma Am) ~oB©‘mZ

B) dµ’$mXma B©) ñdm{^‘mZr

viii) gmjmËH$ma H$m à‘wI VËd ³¶m h¡?

A) ^mfm Am) g‘¶

B) g§dmX B©) {df¶

ix) ‘mo~mBb E°n {H$gH$m N>moQ> dO©Z h¡?

A) ¶§Ì Am) XÿaXe©Z

B) ao{S>Amo B©) H$åß¶yQ>a

x) nëbdZ H$aVo g‘¶ CgH$m à‘wI A§J ³¶m h¡?

A) {df¶-M¶Z Am) {df¶ qMVZ

B) {df¶ ‘ZZ B©) {df¶ e¡br





Total No. of Questions : 4]

[5808]-519
S.Y. B.A.

HINDI (qhXr)
qhXr d¡H$pënH$ àíZnÌ - 2

CC - 1D : OZg§Mma _mÜ`_ Am¡a qhXr
 (Credit 2019 Pattern) (Semester - IV) (24094)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70

gyMZmE± …- 1) g^r àíZ A{Zdm¶© h¢&
2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¢&

P4208 [Total No. of Pages : 2

SEAT No. :

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE& [21]

A) OZg§Mma _mÜ`_ n[a^mfm Am¡a ñdê$n H$mo ñnï> H$s{OE&

~) Ñí`-lì` _mÜ`_ H$s g§H$ënZm ñnï> H$s{OE&

H$) B§Q>aZoQ> H$m _hÎd {deX H$s{OE&

S>) g_mMma nÌ n{ÌH$mAm| H$m gm_m{OH$ `moJXmZ {b{IE&

B) OZg§Mma Ho$ _mÜ`_ ~VmVo hþE, CZH$s Cn`mo{JVm na àH$me S>m{bE&

à.à.à.à.à.2) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE& [21]

A) g¥OZmË_H$ boIZ H$s n[a^mfm XoH$a CZHo$ ñdê$n H$mo ñnï> H$s{OE&

~) g¥OZmË_H$ boIZ H$m {d{dY {dYmAm| _| _hÎd à{Vnm{XV H$s{OE&

H$) boIm-AmboIZ Ho$ àH$mam| H$mo g_PmBE&

S>) ZmQ>H$ H$s n[a^mfm XoH$a CgHo$ ñdê$n nX àH$me S>m{bE&

B) H$hmZr H$s n[a^mfm XoVo hþE CgHo$ boIZ-à{H«$`m H$mo g_PmBE&

P.T.O.
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à.à.à.à.à.3) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE& [21]

A) _mÜ`_ boIZ H$mo n[a^m{fV H$aVo hþE CgHo$ àH$mam| H$mo ñnï> H$s{OE&
~) \$sMa boIZ Ho$ àH$mam| na àH$me S>m{bE&
H$) nQ>H$Wm boIZ H$m _hÎd {deX H$s{OE&
S>) S>m°Š ỳS´>m_m H$s g§H$ënZm ñnï> H$s{OE&
B) g§dmX boIZ H$m AW© ~VmVo hþE CgHo$ ñdê$n H$mo AYmoao{IV H$s{OE&

à.à.à.à.à.4) {ZåZ{b{IV àíZm| Ho$ ghr {dH$ën MwZH$a {b{IE& [7]

i) \$sMa H$mo {H$gH$s AmYw{ZH$ {dYm _mZm OmVm h¡&
A) nÌH$m[aVm ~) dmVm© boIZ
H$) g§dmX boIZ S>) H${dVm boIZ

ii) AmH$medmUr Ho$ {bE n`m©̀ reãX H$m¡Z-gm h¡?
A) Q>obr{dOZ ~) _mo~mB©b
H$) ao{S>`mo S>) {gZo_m

iii) \$sMa H$s CËn{Îm H$m¡Z-gr ^mfm go hþB© h¡?
A) b¡{Q>Z ~) \«|$M
H$) A§J«oOr S>) g§ñH¥$V

iv) H${dVm-go VmËn`© h¡ .............?
A) nXçmË_H$ aMZm ~) ZmQ>ç aMZm
H$) JXç aMZm S>) H$hmZr aMZm

v) ZmQ>H$ H$m¡Z-gr {dYm h¡&
A) Ñí` ~) lì`
H$) _w{ÐV S>) Ñí`-lì`

vi) ao{S>`mo H$m¡Z-gm _mÜ`_ h¡?
A) lì` ~) Ñí`
H$) _w{ÐV S>) Ñí`-lì`

vii) {ZåZ _| go _w{ÐV _mÜ`_ ............ h¡&
A) \$sMa ~) S>m°Š ỳS´>m_m
H$) g_mMma nÌ S>) ZmQ>H$





Total No. of Questions : 3]

[5808]-521
S.Y. B.A.

HINDI (qhXr)
SEC - 2B : Madhyam Lekhan (_mÜ`_ boIZ)

 (CBCS 2019 Pattern) (Semester - IV) (24096)

g‘¶ : 2 K§Q>o] [ nyUmªH$ : 25

gyMZmE± …- 1) g^r àíZ A{Zdm¶© h¢&
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¢&

P4209 [Total No. of Pages : 1

SEAT No. :

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]

A) OZg§Mma _mÜ`_ H$m _hËd {deX H$s{OE&

~) lì` _mÜ`_m| na àH$me S>m{bE&

H$) H$Q>|Q> boIZ H$m _hËd {deX H$s{OE&

S>) ãbm°J Ho$ \$m`Xo g_PmBE&

à.à.à.à.à.2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]

A) \$sMa boIZ H$s gm_J«r g§H$bZ ómoVm| H$mo g§jon _| {b{IE&

~) AmboI Am¡a \$sMa Ho$ ôX H$mo {deX H$s{OE&

H$) ao{S>`mo \$sMa H$m n[aM` Xr{OE&

S>) \$sMa Ho$ à_wI àH$mam| H$m {díbofU H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV _| go {H$gr EH$ {df` na \$sMa boIZ H$s{OE& [5]

A) bVm _§JoeH$a na \$sMa boIZ H$s{OE&

~) "^maVr` H¥${f H$s MwZm¡Vr' {df` na \$sMa {b{IE&



P.T.O.
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S.Y.B.A. 

PERSIAN 
CC-ID : Prose & Modern Prose Terms

 (2019 Credit Pattern) (Semester IV) (24103)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
 1) Attempt all questions.

2) Figures to the right side indicate full marks.

Q1) Gulistan's stories are the highest guiding principles for human life, 

discuss. [12]

OR

Write an appreciation of the style of Nasrullah Munshi.

Q2) Ethical elements are found in Jami's writings. Explain with arguments.

[12]

OR

Narrate the religious teachings in Baharistan.

Q3) Write a critical note on the style of Wa'iz Kashifi. [12]

OR

Provide a critical overview of "Aadab-i-Sukhan Guftan".

Q4) a) Reproduce in your own Persian any one of the following. [10]

 
  







P.T.O.

P4210

Total No. of Questions : 5] 

[Total No. of Pages : 2
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b) Write the Central idea of one of the following in English or Urdu 

or Marathi. [10]

 

 

 

Q5) Write short notes on any two of the following. [14]

 

 

 
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Total No. of Questions : 4]

[5808]-523

S.Y. B.A.

SANSKRIT (g§ñH¥$V)
DSE - 1B : H$mì`emó_² VWm H$m¡{Q>br`mW©emó_²

(2019 Pattern) (Semester - IV) (CBCS) (24111)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

gyMZm … 1) All questions are compulsory.

gd© àíZ A{Zdm ©̀ AmhoV.
2) Figures to right indicate full marks.

COdrH$S>rb A§H$ JwU Xe©{dVmV.

P4211

Q1) A) Write reference to context. (any one) [5]

ggÝX^© ñnï>rH$aU H$am. (H$moUVohr EH$)

i) g§Ho$Vmo J¥øVo OmVm¡ JwUÐì`{H«$`mgw M&

ii) {d{eï>~b§ ^L²>ŠËdm g§qY `mMoV& g_~boZ `m{MV… g§XYrV&

B) Define any one Ab§H$ma with an example. [5]

H$moUVmhr EH$ Ab§H$ma bjU XoD$Z, gmoXmhaU ñnï> H$am.

i) ê$nH$_²&

ii) H$mWpëL²>J_²&

C) Define any one d¥Îm with an example. [5]

H$moUVohr EH$d¥Îm bjU XoD$Z, gmoXmhaU ñnï> H$am.

i) {eI[aUr&

ii) CnOm{V…&

[Total No. of Pages : 3

SEAT No. :

P.T.O.
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Q2) A) Answer in the sanskrit language. (any five) [10]

g§ñH¥$V^mfoVyZ CÎmao {bhm. (H$moUVohr nmM)

i) MVwWm}@W©… Zm_ H$mo@W©s?

ii) AJ«hñVmXÿ AÌ H$m bjUm?

iii) eyÝ`nmb… H$… dV©Vo?

iv) Hy$Q>çwX²Y§ H$Xm H$ma òV²?

v) Am ẁ[aX§_² AÌ H$m bjUm?

vi) ñH$ÝYdma… Zm_ {H$_²?

B) C{MVm{Z ẁ½_m{Z {d{MZwV (H$Ý`{n n#m) [5]

i) àñVmd… A) Amgma…

ii) fS²>{dYm Am) ^mÅ>_r_m§gH$m…

iii) {_Ì~b_² B) bjUm

iv) A{^{hVmÝd`dm{XZ… B©) àH$aU_²&

v) JL²>Jm`m§ Kmof… C) ÜdZo{d©H$ma…

vi) H$mHw$… D$) bjUbjUm&

Q3) A) Explain bjUm along with its types and examples. [12]

bjUm ñnï> H$ê$Z {VMo àH$ma gmoXmhaU ñnï> H$am.

OR/qH$dm

Write an essay on AmWuì`‚mZm.

Am{W©ì §̀OZoda {Z~§Y {bhm.



3[5808]-523

B) Write a short note (any one) [8]

Q>rnm {bhm. (H$moUVrhr EH$)

i) AWm©Zm§ ì`‚mH$Ëd_²&

ii) VmËn`{W©…&

Q4) A) gm§J«m{_Ho$ ẁX²Y ŷ_`… nÎ`œaWhpñVH$_m©{U& [12]

OR/qH$dm

gm§J«m{_Ho$ d{U©Vm… {^Þm… ì ỳhàH$mam…&

B) Write a short note (any one) [8]

Q>rnm {bhm. (H$moUVrhr EH$)

i) ñd~bmÝ`~bì`m`moJ…&

ii) ñH$ÝYdmaà`mU_²&





Total No. of Questions : 4]

[5808]-524

S.Y. B.A.

SANSKRIT (g§ñH¥$V)
DSE - 2B : Atharvaved and Upanishad

(2019 Credit Pattern) (Semester - IV) (24112)

Time : 2½ Hours] [Max. Marks : 70

P4212

Q1) A) Translate in to English or Marathi (2 out of 3) [10]

A) B§J«Or qH$dm _amR>rV AZwdmX H$am. (VrZ n¡H$s XmoZ)

i) òZ Xodm Z {d`pÝV Zmo M {d{ÛfVo {_W…&

VV² H¥$Ê_mo ~«h_ dmo J¥ho g§kmZ§ nwê$foä`…&&

ii) d¥fm _o admo Z^gm Z VÝ`VwéJ«oU Vo dMgm ~mY AmXþ Vo&

Ah§ V_ñ` Z¥{^aJ«̂ § ag§ V_g Bd Á`mo{Vê$XoVw gỳ ©…&&

iii) nwZao{h dmMñnVo XodoZ _Zgm gh&

dgmoînVo {Z a_` _æ òdmñVw _{` lwV_²&&

B) Reference to the context. (1 out of 2) [5]

~) gg§X^© ñnï>rH$aU H$am. (XmoZ n¡H$s EH$)

i) AÞ§ Z {ZÝX²̀ mV²&

ii) g Ëd_{½Z§ ñdJ©_Ü ò{f _¥Ë`mo à~«y{h Ëd§ lÕYmZm` _h²̀ _²&

Q2) Answer in detail. (1 out of 2) [15]

g{dñVa CÎma {bhm. (XmoZ n¡H$s EH$)

i) Explain the Shalanirmanasukta (Atharvaveda - 3.12)

embm{Z_m©UgyŠV (AWd©doX - 3.12) ñnï> H$am.

ii) Explain the Sammanasyasukta (Atharvaveda- 3.30)

gm§_Zñ`gyŠV (AWd©doX - 3.30) ñnï> H$am.

[Total No. of Pages : 3

SEAT No. :
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Q3) A) Answer in detail. (1 out of 2) [15]

A) g{dñVa CÎma {bhm. (XmoZ n¡H$s EH$)

i) Briefly explain the sermon of Varuna to Bhrugu.

dê$UmMm ¥̂Jw§Vm CnXoe WmoS>Š`mV g_Odm.$

ii) Explain the sermon of Aruni to Shvetaketu.

Amê${UMm ídoVHo$Vybm CnXoe g_Odm.

B) Write a short note. (1 out of 2) [5]

~) Q>rn {bhm. (XmoZ n¡H$s EH$)

i) Yama in Kathopanishad

H$R>mon{ZfXmVrb `_

ii) Bhrugu in Taittiriyopanishad

V¡{Îmar`mon{ZfXmVrb ¥̂Jw

Q4) A) Write answers in Sanskrit. (5 out of 6) [10]

A) g§ñH¥$VmV CÎmao {bhm. (ghm n¡H$s nmM)

i) B©emdmñ`mon{Zf{X _ÝÌgL²>»`m H${V?

ii) gn©{dfZmeZgyŠVo AmJVm{Z gn©Zm_m{Z {bIVw&

iii) gm§_Zñ`gyŠVñ` XodVm H$m?

iv) embm{Z_m©UgyŠVñ` nR>Z§ Ho$fw àgL²>Jofw H${WV_²?

v) "AÝY§ V_… à{depÝV' B{V dMZ§ Hw$Ì ApñV?

vi) AWd©doXo àYmZV`m H$m{Z H$_m©{U Ñí`ÝVo?
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B) Match the pairs. (5 out of 6) [10]

~) OmoS>çm Owidm. (ghm n¡H$s nmM)

i) nm¡{ï>H$H$_m©{U A) H¥$îU`Owd}X…

ii) CnZ`Zg§ñH$mao Am) ¥̂Jwd„r

iii) _mZñ` npËZ eaUm... B) VjH$…

iv) gn©{dfZme ZgyŠV_² B©) embm{Z_m©UgyŠV_²

v) Aßgw Á`mo{V… à{V{ð>V_² C) _oYmOZZgyŠV_²

vi) H$R>mon{ZfX² D$) AWd©doX…





Total No. of Questions : 4]

[5808]-525

S.Y. B.A.

SANSKRIT

g§ñH¥$VmU©d… Sanskratarnavah

SEC - 1B : Gadya Vibhag and Padya Vibhag

JÚ {d^mJ d nÚ {d^mJ
(2019 Pattern) (Semester - IV) (24113)

Time : 2½ Hours] [Max. Marks : 70

P4213

Q1) Translate any one each for section ‘A’ and section ‘B’ into Marathi or English.
[10]

"A' d "~' {d^mJmVrb àË òH$s EH$mMo _amR>r qH$dm B§J«OrV ^mfm§Va H$am.

Section - ‘A’ / {d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'

i) AW AnObImZo - VV² qH$ {ed Ef Ed§ JwUJU {d{eï>mo@pñV? Ed§ dm dradamo@pñV? B{V
gd{H$V§ g^ §̀ gVHª$ gamo_moX²J_§ M H$W`{V, {H$p½MV² {dMm }̀d Zr{VH$m¡ebnwamga§ Jm¡a…
nwZadmXrV² -

ii) P{Q>{V Zah[a… ZoÌn{Å>H$m_² Angm[aV dmZ²& Ñï>dmZ² M VXm Vw VoZ ̀ m Ñï>m gm Vw {dÆ>bú` Ed§
à{V_m AmgrV²& gm pñ_VgwÝXa_y{V©… Zah[a_² A^mfV ""ho {ed^º$ Ah§ ñd §̀ {ed…& Ah_od
{dÆ>b… A{n& ""EH$mo@ho {d{dY¡… ê$n¡… Ñí ò'' B{V&

Section - ‘B’ / {d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'

i) A`__¥V{ZYmZ§ Zm`H$mo@ß`mofYrZm§ eV{^fJZẁ mV… eå ŵ_yYm©dV§g…& {dah`{V Z M¡Z§ amÁ``ú_m
eemL²>H$ hV{d{Y n[anmH$… Ho$Z dm b”Zr`…&

ii) `ko Vn{_ XmZo M pñW{V… g{X{V MmoÀ`Vo& H$_© M¡d VXWu §̀ g{XË ò dm{^Yr`Vo&&

[Total No. of Pages : 3
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C) n[aÀN>moX§ n{R>Ëdm g§ñH¥$VoZ CÎmam{U {bIV (H$mµÝ`{n n#m) [5]
VVñVmZa“mo@H$W`V - H$mo Zm_@na… {eddramV²?
g Ed§ amOZrVm¡ {ZîUmV…& g Ed g¡ÝYdmamoh -
{dÚm{gÝYw… g Ed MÝÐhmgMmbZo MVwa…,
g Ed _„{dÚm__©k… g Ed ~mU{dÚmdm[a{Y…
g Ed npÊS>V _ÊS>b _ÊS>Z…, g Ed Y¡̀ ©YpñY[a`…,
g Ed dradada - g Ed nwê$f nm¡ê$f narjH$… - &
C{MV§ ẁ½__² AÝdof`V& (Ho$Om_{n n#mmZm_²)
i) {ZîUmV… a) CX{Y…
ii) {gÝYw… b) ea{dÚm
iii) MÝÐhmg… c) namH«$_…
iv) ~mU{dÚm d) Aíd…
v) nm¡ê$f… e) {ZnwU…
vi) g¡ÝYd… f) IL²>J…

Q2) Explain with reference to the context any one from each section ‘A’ and ‘B’
[10]

"A' Am{U "~' {d^mJmVyZ àË òH$s EH$mMo gg§X ©̂ ñnï>rH$aU H$am.

Section - ‘A’ / {d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'

i) {ZíM òZ Efm {edñ` Ed _y{V©…&

ii) Amo{_Ë òVXja_wX²JrW_wnmgrV&

Section - ‘B’ / {d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'

i) ñdñWmpñVð>V X¡d_od {h _¥Um§ d¥Õm¡ j ò MmHw$b_²&

ii) AgËH¥$V_dkmV§ VÎmm_g_wXmöV_²&

C) [aº$ñWmZm{Z nya`V& (H$mÝ`{n n#m) [5]

i) `ñ`mpñV nyd©gwH¥$V§ {dnwb§ ........... &
ii) H$mbo .......... nwéfñ` `W¡d d¥jm…&
iii) Hw$b{eI[aU… ............ Z¡Vo Z dm Obamím`…&
iv) Vofm§ ........... Vw H$m H¥$îU gÎd_mhmo aOñV_…&
v) O` OJXre .............. &
vi) ........... gXmMmagånÞ…& AmË_Z… ì`dgm ò {ZnwU… AmgrV²&
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Q3) A) Explain "àUdmonmgZm' [12]

àUdmonmgZm ñnï> H$am.

OR/qH$dm

Explain "aËZnarjm'

"aËZnarjm' ñnï> H$am.

B) Write notes (any one) [8]

Q>rnm {bhm. (H$moUVohr EH$)

i) Upanisad

Cn{ZfX²

ii) Svarajgunavarnam

{edamOJwUdU©Z_²

Q4) A) Explain "lÕmÌ`{d^mJ`moJ…' [12]

"lÕmÌ`{d^mJ`moJ…' ñnï> H$am

OR/qH$dm

Explain XemdVmañVmoÌ

XemdVma-ñVmoÌ ñnï> H$am

B) Write notes (any one) [8]

Q>rnm {bhm. (H$moUVohr EH$)

i) Campukavya

MånyH$mì`

ii) Daivapaddhatih

X¡dnÕ{V…





Total No. of Questions : 2]

[5808]-526

S.Y. B.A.

SANSKRIT (g§ñH¥$V)
SEC - 2B : Introduction to Scriptology (Palaeography)

(CBCS 2019 Pattern) (Semester - IV) (24114)

Time : 2 Hours] [Max. Marks : 25

Instructions to the candidates:

1) All questions are compulsory.

gd© àíZ A{Zdm ©̀ AmhoV.
2) Figures to right indicate marks.

COdrH$S>rb A§H$ JwU Xe©{dVmV.

P4214

Q1) Write an essay on evolution of scripts in India. [15]
^maVmVrb {bntMm {dH$mg `mda {Z~§Y {bhm.

OR/qH$dm
Write an essay on emaXm script.
emaXm{bnr da {Z~§Y {bhm.

Q2) A) Transliterate following passage in ~«mh²_r or J«§W script. [5]
nwT>rb CVmè`mMo ~«mh²_r AWdm J§«W {bnrV {bß §̀Va H$am.
_hmamï´> ho ^maVmVrb g_¥Õ amÁ`m§n¡H$s EH$ amÁ` Amho. _w§~B© hr _hmamï´>mMr amOYmZr Amho. hr
ZJar ̂ maVmVrb ~hþg§»` bmoH$m§Mm AmH$f©U q~Xÿ Amho. hr ZJar Zoh_r OmJr AgVo, Ago åhUVmV.

B) C{MVm{Z ẁ½_m{Z {d{MZwV (H$mÊ`{n n#m) [5]
i) {b{n… a) O¡ZmJ_ofw
ii) nîUdnX§ b) ~«mh²_r
iii) Iamoð>r{bß`m… ^{JZr c) `dZmZr
iv) g§ñH¥$V^mfm`m… ^mfmHw$b_² d) g§ñH¥$V^mfm`m§ {b{IV… àmMrZV_… {ebmboI…
v) `dZmZm§ {b{n… e) Mjwfm Xe©Zr`m
vi) YZamk… A`moÜ`m{ebmboI… f) ^mamo- ẁamonr` B{V


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S.Y.B.A.
ARABIC

CC-1D : Grammar and Translation
 (2019 Pattern) (Semester - IV)  (24141)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
 1) Attempt all questions.

2) Figures to the right side indicate full marks.

Q1) Define and illustrate any three of the following. [30]

 
-  

 
 

Q2) Translate the following Passage into English Only: [20]





 





P.T.O.

P4215

Total No. of Questions : 3] 

[Total No. of Pages : 2
SEAT No. :



Q3) Translate the following passage into Arabic Only: [20]

I read many English magazines last month. These nurses are working in

those hospitals. The students go to different libraries in the evening.

The schools and Colleges are closed during holidays. These American

engineers are very hardworking. The President called the Iranian

diplomats for an important meeting.
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[5808]-528
S.Y.B.A. (Semester-IV)

PERSIAN
 CC-2D:Prose & Modern Prose Terms (OldG -2)

(CBCS) (2019 Pattern)(24142)

P-6772

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

 Instructions to candidates :
1)  Attempt all questions.
2) Figures to the right side indicate full marks.

Q.1) Describe Sadi Shirazi as a great prose writer of his age.          [12]

OR        

Write an appreciation of the style of Nasrullah Munshi.

Q.2) Ethical elements are found in jami's writings.Explain with 

arguments.                                                            [12]

OR                                           

           Write a note on jami's contributions to Persian literature.

Q.3) Write the literary works of Wa'iz Kashifi. [12]

OR                                              

         Provide a critical overview of "Wazifa-i-Shagird Nisbat be Ustaad".         

Q.4)(a) Reproduce in your own Persian any one of the following.   [10]





(3   (2  (1

               

SEAT No.

Total No. of Pages : 2



Q.4) (b) Write the Central idea of one of the following in English or

     Urdu or Marathi.            [10]

 (1      

         (2               

  (3               

Q.5) Write short notes on any two of the following.                        [14]

  (1        

   (2    

 (3               

               

  

     


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Total No. of Questions :4]

[5808]-529
S.Y.B.A.

ECONOMICS
DSE-1B : MICRO ECONOMICS - II

(2019  CBCS Pattern) (Semester -IV) (24151)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2 Figures to the right indicate full marks.
3) Draw neat digrams wherever necessary.

P4216 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following question in 20 words each. (any eight) [16]

a) What is fixed cost?

b) What is Marginal Revenue?

c) What is Market?

d) State two characteristics of Monopoly competition.

e) What is Homogeneous Goods?

f) What is wages?

g) What is Interest?

h) What is Innovation?

i) Write a definition of welfare economics

j) Write prof. Pigovian definition of wefare economics.

Q2) Answer the following question in 50 words each. (any four) [16]

a) Explain the concept of variable costs.

b) Explain the classification of market by location.

c) Characteristics of oligopoly market.

d) What is Quasi Rent.

e) Explain the Risk Profit Theory.

f) Explain Amartya sen’s Theory of social selection.

P.T.O.
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Q3) Answer the following question in 100 words each. (any Three) [18]

a) Explain the short-run cost curves basis on Digram.

b) What is a perfect competition? Explain the characteristics of Perfect
competition.

c) Explain the Ricardian Theory of Rent.

d) Explain the Pigovian welfare economics.

Q4) Answer the following question in 200 words each (any two) [20]

a) Explain the Revenue concepts.

b) What is a monopolistic competition? Explain the characteristics of
Monopolistic competition.

c) Explain  the keynesian Liquidity Perference Theory of Interest.


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Total No. of Questions : 4]

[5808]-529
S.Y. B.A.

ECONOMICS
DSE-1B : MICRO ECONOMICS - II

(2019 CBCS Pattern) (Semester -IV) (24151)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P4216

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) pñWa IM© åhUOo H$m¶?

~) gr‘m§V àmár åhUOo H$m¶?

H$) ~mOma åhUOo H$m¶?

S>) ‘ºo$Xmar ñnY}Mr XmoZ d¡{eîQ>ço gm§Jm.

B) EH${OÝer dñVy åhUOo H$m¶?

’$) doVZ åhUOo H$m¶?

¶) ì¶mO åhUOo H$m¶?

a) ZdàdV©Z åhUOo H$m¶?

b) H$ë¶mUH$mar AW©emñÌmMr ì¶m»¶m {bhm.

d) àm. {nJy ¶m§Mr Am{W©H$ H$ë¶mUmMr ì¶m»¶m {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]
A) ~XbVm IM© g§H$ënZm ñnï> H$am.

~) ñWmZmZwgma ~mOmamMo d{J©H$aU ñnï> H$am.

H$) Aën{dH«o$Vm{YH$ma ~mOmamMr d¡{eîQ>ço gm§Jm.

S>) Am^mgr I§S> åhUOo H$m¶?

B) Zâ¶mMm OmoIr‘ {gX²Ym§V ñnï> H$am.

’$) A‘Ë¶© goZ ¶m§Mm gm‘m{OH$ {ZdS>rMm {gX²Ym§V ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm (H$moUVohr VrZ) [18]

A) AënH$mbrZ IM©dH«$ AmH¥$VrÀ¶m ghmæ¶mZo ñnï> H$am.

~) nwU© ñnYm© åhUOo H$m¶? nwU© ñnY}Mr d¡{eîQ>ço gm§Jm.

H$) [aH$mS>m}Mm I§S> {gX²Ym§V ñnï> H$am.

S>) {nJyMo H$ë¶mU{df¶H$ AW©emñÌ ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 200 eãXm§V CÎmao {bhm (H$moUVohr XmoZ) [20]

A) àmárÀ¶m g§H$ënZm ñnï> H$am.

~) ‘³ÎmoXmar¶wº$ ñnYm© åhUOo H$m¶? ‘ºo$Xmar¶wº$ ñnY}Mr d¡{eîQ>ço ñnï> H$am.

H$) Ho$ÝgMm ì¶mOmMm amoIVm ng§Vr {gX²Ym§V ñnï> H$am.





Total No. of Questions : 4]

[5808]-530
S.Y. B.A.

ECONOMICS
 DSE-2B: Macro Economics - II

(2019 Credit Pattern) (Semester - IV) (24152)

Time : 2½ Hours] [Max. Marks : 70

P4217 [Total No. of Pages : 4

SEAT No. :

Instructions to the candidates:

1) All questions are compulsory

2) Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) Answer the following questions in one or two sentences. (Any eight) [16]

 a) State the two instruments of Monetary policy for control Business cycle.

b) What is mean by money?

c) State the phases of business cycle.

d) What is Economic stability?

e)  State the instruments of monetary policy.

f) What is creeping inflation?

g) What is Reserve money?

h) State the Fisher’s Transaction Equation.

i) What is mean by fiscal policy?

j) What is mean by prosperity phase?

Q2) Answer the following questions in briefly (Any four) [16]

a) Explain the classification of business cycle.

b) State the types of Inflation.

c) Explain the concept of stag flation.

d) State the Types of value of money.

e) State the characteristics of fiscal policy.

f) State the advantages of Monetary policy.

P.T.O.
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Q3) Answer the following questions in 100 words. (Any Three) [18]

a) Explain the cash balance approach.

b) Explain the phases of Business cycle.

c) Explain the demand pull Inflation.

d) State the instruments of fiscal policy to control business cycle.

Q4) Answer the following questions in 200 words. (Any two) [20]

a) What is the monetary policy? State the instruments of monetary policy?

b) Explain the various functions of money.

c) What is Inflation? State the causes and effects of Inflation.


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Total No. of Questions : 4]

[5808]-530
S.Y. B.A.

ECONOMICS
 DSE-2B: Macro Economics - II

(2019 Credit Pattern) (Semester - IV) (24152)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4217

à.à.à.à.à.1) Imbrb àíZm§Mr EH$ qH$dm XmoZ dm³¶mV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) ì¶mnmaMH«$ {Z¶§ÌUmMr XmoZ MbZ {df¶H$ gmYZo gm§Jm.
~) n¡gm åhUOo H$m¶?

H$) ì¶mnmaMH«$mÀ¶m AdñWm gm§Jm.

S>) Am{W©H$ ñW¡¶© åhUOo H$m¶?

B) MbZ {df¶H$ YmoaUmMr gmYZo gm§Jm.

\$) am§JVr ^mddmT> åhUOo H$m¶?
`) amIrd n¡gm åhUOo H$m¶?
a) {’$ea ¶m§Mo {d{Z‘¶ g‘rH$aU gm§Jm.
b) amOH$mofr¶ YmoaU åhUOo H$m¶?
d) VoOrMr AdñWm åhUOo H$m¶?

à.à.à.à.à.2) WmoS>³¶mV CÎmao {bhm (H$moUVohr Mma) [16]

A) ì¶mnma MH«$mMo dJuH$aU ñnï> H$am.
~) MbZ {dñVmamMo àH$ma gm§Jm.

H$) ‘§Xr¶wº$ MbZdmT> g§H$ënZm ñnï> H$am.

S>) n¡emÀ¶m ‘wë¶mMo àH$ma gm§Jm.

B) amOH$mofr¶ YmoaUmMr d¡{eîQ>ço gm§Jm.

\$) MbZ {df¶H$ YmoaUmMr ’$m¶Xo gm§Jm.
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à.à.à.à.à.3) Imbrb àíZm§Mr 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) amoI {e„H$ ÑîQ>rH$moZ ñnï> H$am.
~) ì¶mnmaMH«$mÀ¶m AdñWm ñnï> H$am.
H$) ‘mJUr VmU{Z{‘©V MbZ {dñVma ñnï> H$am.
S>) ì¶mnmaMH«$ {Z¶§ÌUmMr amOH$mofr¶ gmYZo gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm (H$moUVohr XmoZ) [20]

A) MbZ {df¶H$ YmoaU åhUOo H$m¶? MbZ {df¶H$ YmoaUmMr gmYZo gm§Jm.
~) n¡emMr {d{dY H$m¶} ñnï> H$am.
H$) MbZ{dñVma åhUOo H$m¶? MbZ {dñVmamMr H$maUo d n[aUm‘ gm§Jm.





Total No. of Questions : 4]

[5808]-531
S.Y. B.A.

ECONOMICS - G2
 CC-1D: Financial System - II

(2019 Pattern) (Semester - IV) (24153)

Time : 2½ Hours] [Max. Marks : 70

P4218 [Total No. of Pages : 4

SEAT No. :

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw beautiful figures where necessary.

Q1) Write the answers of the following questions in 20 words each. (Any eight)[16]

 a) When was the RBI nationalized?

b) Describe two developmental functions of RBI.

c) Name of the two qualitative tools of monetary policy.

d) Where is the head office of SEBI?

e)  Write the full form of ‘IRDA’.

f) When was the International monetary Fund established?

g) What are the two objectives of ASEAN Development Bank?

h) When was the world Bank established?

i) Explain the two Functions of BRICS.

j) Give the Full form of ‘UPI’?

P.T.O.
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Q2) Write the answers of the following questions in 50 words each. (Any Four)[16]

a) Explain the origin of Reserve Bank of India?

b) Explain the numerical tools of monetary policy?

c)  Explain the concept of ‘Insurance Regulatory and Development Authority
of India’?

d) Explain the organization of the International Monetary Fund?

e) Explain the objectives of the world Bank?

f) Explain the concept of ‘bankruptcy’?

Q3) Write the answer of the following questions in 100 words each. (Any Three)[18]

a) Explain the traditional Function of RBI?

b) Explain the qualitative tools of Monetary policy?

c) Explain the Function of securities and Exchange Board of India?

d) Explain the objectives of Financial reform?

Q4) Write the answers to the following question in 200 words each. (Any two)[20]

a) What is monetary policy? Explain the qualitative tools of monetary policy?

b) Critically examine the functions of the world Bank?

c) Explain the Function of Insurance Regulation and Development Authority?


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Total No. of Questions : 4]

[5808]-531
S.Y. B.A.

ECONOMICS - G2
 CC-1D: Financial System - II

(2019 Pattern) (Semester - IV) (24153)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P4218

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXmV {bhm. (H$moUVohr AmR>) [16]

A) ^maVr¶ [aPìh© ~±Ho$Mo amï´>r¶H$aU H|$ìhm Pmbo?
~) ^maVr¶ {aPìh© ~±Ho$Mr XmoZ {dH$mgmË‘H$ H$m¶© gm§Jm.
H$) MbZ{df¶H$ YmoaUmMr XmoZ JwUmË‘H$ gmYZo gm§Jm.
S>) go~rMo ‘w»¶ H$m¶m©b¶ H$moR>o Amho?
B) Am¶. Ama. S>r. E. Mo nyU© ê$n {bhm.
\$) Am§Vaamï´>r¶ ZmUo{ZYrMr ñWmnZm H|$ìhm Pmbr?
`) Am{e¶Z {dH$mg ~±Ho$Mo XmoZ C{Ôï>o gm§Jm?
a) OmJ{VH$ ~±Ho$Mr ñWmnZm H|$ìhm Pmbr?
b) {~«³g ¶m g§KQ>ZoMr XmoZ H$m¶} gm§Jm.
d) ¶y. nr. Am¶. Mo nyU© ê$n Úm.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXmV {bhm. (H$moUVohr Mma) [16]

A) ^maVr¶ [aPìh© ~±H$ Am°’$ B§{S>¶mMr CËH«$m§Vr ñnï> H$am?
~) MbZ{df¶H$ YmoaUmMr g§»¶mË‘H$ gmYZo ñnï> H$am?
H$) "^maVr¶ {d‘m {Z¶‘Z d {dH$mg àm{YH$aU' g§H$ënZm ñnï> H$am.
S>) Am§Vaamï´>r¶ ZmUo{ZYrMo g§KQ>Z ñnï> H$am.
B) OmJ{VH$ ~±Ho$Mr C{Ôï>o ñnï> H$am?
\$) "{XdmiImoar' g§H$ënZm ñnï> H$am?
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [18]

A) ^maVr¶ [aPìh© ~±Ho$Mr na§namJV H$m¶© ñnï> H$am?

~) MbZ{df¶H$ YmoaUmMr JwUmË‘H$ gmYZo ñnï> H$am?

H$) ^maVr¶ à{V ŷVr d {d{Z‘¶ ‘§S>imMr H$m¶© ñnï> H$am?

S>) {dÎmr¶ gwYmaUm§Mr C{ÔîQ>o ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) MbZ{df¶H$ YmoaU åhUOo H$m¶? MbZ{df¶H$ YmoaUm§Mr JwUmË‘H$ gmYZo ñnï> H$am.

~) OmJ{VH$ ~±Ho$À¶m H$m¶m©Mo {Q>H$mË‘H$ n[ajU H$am.

H$) {d‘m {Z¶‘Z d {dH$mg àm{YH$aUmMr H$m¶© ñnï> H$am?





Total No. of Questions : 3]

[5808]-532
S.Y. B.A.

ECONOMICS
SEC - 2B :  Basic Concept of Research Methodology - II

(2019 Credit Pattern) (Semester - IV) (24154)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) Attempt all questions.
2) Figures to the right indicate full marks.

P4219 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any one question: [10]

a) Explain the objectives and characteristics of Tabulation.

b) Explain the objective of Research Report Writing.

Q2) Attempt any one question: [10]

a) Explain the concepts of Mean, Median and Mode.

b) Explain the concepts of Hypothesis Testing and Bibiliography.

Q3) Write short notes (Any one) [5]

a) Percentage.

b) Data Analysis.



P.T.O.



2[5808]-532

Total No. of Questions : 3]

[5808]-532
S. Y. B.A.

ECONOMICS
SEC - 2B :  Basic Concept of Research Methodology - II

(2019 Credit Pattern) (Semester - IV) (24154)

 (‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4219

à.à.à.à.à.1) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) gmaUrH$aUmMo CX²Xoe Am{U d¡{eï>ço ñnï> H$am.

~) g§emoYZ AhdmbmMo C{Ôï>ço {bhm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) ‘Ü¶, ‘Ü¶Jm d ~hþbH$ ¶m g§H$ënZm g{dñVa ñnï> H$am.

~) J¥{hVH$ narjU d g§X ©̂gyMr ¶m g§H$ënZm g{dñVa ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) Q>¸o$dmar

~) VÏ¶ {díbofU





Total No. of Questions : 4]

[5808]-533

S.Y. B.A.
POLITICAL SCIENCE

DSE-1B(3) : Western Political Thought
(2019 Pattern) (Semester - IV) (CBCS) (24161)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P4220 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions (20 words) [16]

a) Which is the most famous book of Rousseau.

b) Give the Hegel’s views on Civil Society.

c) State the two types of freedom suggested by J.S. Mill.

d) Name any two writings of Karl Marx.

e) Give the two demerits of social countract theory of Rousseau.

f) Define class-struggle in Marxism.

g) State the two eligibility of voter as suggested by J.S Mill.

h) What is meant by Surplus Value?

i) State the Hegel’s thought on war.

j) Give the two demerits of General Will of Rousseau.

Q2) Attempt any four questions (50 words) [16]

a) Rousseau’s views on Human Nature.

b) Hegel’s views on Idealism.

c) Marxian concept of class struggle.

d) J.S. Mills views on freedom of Action.

e) Rousseau’s views on Universalism.

f) Write the functions of  the state as told by J.S. Mill.

P.T.O.
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Q3) Attempt any three questions (100 words) [18]

a) Explain Rousseau’s concept of Genral Will.

b) Discuss the Hegel’s dialecticism.

c) Explain Marxian views on Revolution.

d) Explain J.S. Mills. views on representative Government.

Q4) Attempt any two questions (200 words) [20]

a) Explain Rousseau’s idea of social contract theory.

b) Explain Heguel’s views on theory of state.

c) Critically examine the Marxian thoery of Historical Materialism.


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Total No. of Questions : 4]

[5808]-533

S.Y. B.A.
POLITICAL SCIENCE

DSE-1B(3) : Western Political Thought
(2019 Pattern) (Semester - IV) (CBCS) (24161)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4220

à.à.à.à.à.1) 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) ê$gmoMm gwà{gÕ J§«W H$moUVm.

~) hoJobMo ZmJar g_mO {df`H$ {dMma gm§Jm.

H$) Oo. Eg. {_bZo gyM{dbobo ñdmV§Í`mMo XmoZ àH$ma gm§Jm.

S>) _mŠg©À`m XmoZ J«§WmMr Zmdo gm§Jm.

B) ê$gmoÀ`m gm_m{OH$ H$ama {gÕm§VmMo XmoZ Xmof gm§Jm.

\$) _mŠg©dmXmVrb dJ©H$bhmMr ì`m»`m H$am.

`) Oo. Eg. {_bZo gwM{dbobo _VXmam§À`m nmÌVoMo XmoZ {ZH$f gm§Jm.

a) A{V[aº$ _yë` åhUOo H$m`?

b) hoJobMo ẁÕ{df`H$ _V gm§Jm.

d) ê$gmoÀ`m gm_y{hH$ B©hoMo XmoZ Xmof gm§Jm.

à.à.à.à.à.2) 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma>) [16]

A) ê$gmoMo _mZdr ñd^md {df`H$ {dMma.

~) hoJobMo AmXe©dmX{df`H$ {dMma.

H$) _mŠg©Mr dJ© g§Kf© g§H$ënZm.

S>) Oo. Eg. {_bMo H¥$Vr ñdmV§Í` {df`H$ {dMma.

B) ê$gmoMo gmd©̂ m¡_Ëd {df`H$ {dMma.

\$) Oo. Eg. {_bZo gm§{JVbobr amÁ`mMr H$m ©̀
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à.à.à.à.à.3) 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ>) [18]

A) ê$gmoMr gm_mÝ` B©hm g§H$ënZm ñnï> H$am.

~) hoJobÀ`m Û§ÛdmXmMr MMm© H$am.

H$) _mŠg©Mo H«$m§Vr{df`H$ {dMma ñnï> H$am.

S>) Oo. Eg. {_bMo àm{V{ZYrH$ emgZmg§~§Yr {dMma ñnï> H$am.

à.à.à.à.à.4) 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) ê$gmoMm gm_m{OH$ H$ama {gÕm§V ñnï> H$am.

~) hoJobMm amÁ`{df`H$ {dMma ñnï> H$am.

H$) _mŠg©À`m Eo{Vhm{gH$ ^m¡{VH$dmXmMo {Q>H$mË_H$ narjU H$am.





Q1) Answer any eight of the following questions (in 20 words) [16]

a) Name of the two national political parties.

b) Explain the pillars of the political process.

c) Explain the meaning of political media.

d) Name any two types of media.

e) Through which political leadership reaches the masses.

f) Explain what public opinion is.

g) Name two factors that affect public opinion.

h) What is paid news?

i) Explain the two types of paid news.

j) What is electronic media?

Q2) Write any four of the following short notes (in 50 words) [16]

a) Briefly describe the code of conduct of a political journalist.

b) Explain the concept of print media.

Total No. of Questions : 4]
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c) Explain the concept of social media.

d) Write a note on public opinion.

e) Explain the methods of forming public opinion.

f) Explain the concept of paid news.

Q3) Answer any three of following questions (in 100 words) [18]

a) State the code of conduct for political Journalists.

b) Explain the Type of media.

c) Explain the factors that affect public opinion.

d) Explain the limitations on the media.

Q4) Answer any two of the following questions (in 200 words) [20]

a) Explain the role of social media in the political process.

b) Explain the role of media in politics.

c) What is paid news & Explain types of paid news.


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[5808]-534
S.Y. B.A.

POLITICAL SCIENCE
DSE - 2B : Political Journalism

(2019 Pattern) (Semester - IV) (CBCS) (24162)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo Amdí`H$.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4221

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) XmoZ amï´>r` amOH$s` njm§Mr Zm§do gm§Jm.

~) amOH$s` àH«$s òMo AmYmañV§̂  gm§Jm.

H$) amOH$s` _mÜ`_mMr ì`m»`m gm§Jm.

S>) _mÜ`_mMo H$moUVohr XmoZ àH$ma gm§Jm.

B) amOH$s` ZoV¥Ëd H$moUË`m _mÜ`_mVyZ OZVon ©̀V nmoh`Vo.

\$) gmd©O{ZH$ _V åhUOo H$m` Vo gm§Jm.

`) gmd©O{ZH$ _Vm§da XmoZ n[aUm_ H$aUmao KQ>H$ gm§Jm.

a) noS> Ý ỳO åhUOo H$m`?

b) noS> Ý ỳOMo XmoZ àH$ma gm§Jm.

~) BboŠQ´>m°{ZH$ _mÜ`_ åhUOo H$m`?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr Mma {Q>nm {bhm. (50 eãXmV) [16]

A) amOH$s` nÌH$mamMr AmMmag§{hVm WmoS>Š`mV gm§Jm.

~) qàQ> _mÜ`_ hr g§H$ënZm gm§Jm.

H$) gmoeb {_S>r`m hr g§H$ënZm gm§Jm.

S>) gmd©O{ZH$ _V `mdaVr {Q>n {bhm.

B) gmd©O{ZH$ _V V`ma H$aÊ`mÀ`m nÕVr gm§Jm.

\$) noS> Ý ẁO hr g§H$ënZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) amOH$s` nÌH$mam§Mr AmMmag§{hVm gm§Jm.

~) _mÜ`_m§Mo àH$ma ñnï> H$am.

H$>) gmd©O{ZH$ _Vm§da n[aUm_ H$aUmao KQ>H$ ñnï> H$am.

S>) _mÜ`_m§daVr _`m©Xm H$em Amë`m Vo gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) amOH$s` à{H«$ òV gmoeb {_{S>`mMr ŷ{_H$m {dfX H$am.

~) amOH$maUmV _mÜ`_m§Mr ŷ{_H$m {dfX H$am.

H$) noS> Ý ẁO åhUOo H$m` Vo gm§JyZ noS> Ý ẁOMo àH$ma ñnï> H$am.


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Q1) Attempt any eight questions(in 20 words each). [16]

a) Objectives of OPEC.

b) Objectives of United Nations.

c) Principles of SAARC.

d) Meaning of Fascism.

e) Defination of Nationalism.

f) Who wrote ‘Essay on Liberty’?

g) Who wrote ‘A Theory of Justice’?

h) Kinds of Equality.

i) Nature of Justice

j) Significance of SAARC.

Q2) Attempt any four short notes( in 50 words each). [16]

a) Objectives of MNCS.

b) Explain the demerits of Socialism.

c) Explain the traditional Nationalism.

d) Kinds of Justice.

e) Significance of Equality.

f) Explain the nature of right.

P.T.O.
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Q3) Attempt any three questions(in 100 words each) [18]

a) Write the origins of Fascism

b) Write the nature of Liberty.

c) Write the nature of Nationalism.

d) Write the functions of Europion Union.

Q4) Attempt any two questions( in 200 words each) [20]

a) Write the features of equality.

b) Write the features of Socialism.

c) Explain the Elements of Nationalism.


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Total No. of Questions : 4]

[5808]- 535
S.Y. B.A.

POLITICAL SCIENCE
24163-CC-1D : An Introduction to Political Science

(2019 Credit Pattern)(Semester-IV)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P4222

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) AmonoH$Mr CÔrï>o
~) g§¶wº$ amï´>g§KmMr CÔrï>o
H$) gmH©$Mr VËdo
S>) ’¡${gP‘Mm AW©
B) amï´>dmXmMr ì¶m»¶m
’$) ‘Eñgo Am°Z {b~Q>u’ H$moUr {b{hbm?
¶) ‘AWoAar Am°’$ OñQ>rg’ H$moUr {b{hbm?
a) g‘VoMo àH$ma
b) Ý¶m¶mMo ñdê$n
d) gmH©$Mo ‘hÎd

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma {Q>nm {bhm. (50 eãXmV) [16]

A) ~hÿamï´>r¶ H§$nÊ¶m§Mr CÔrï>ço
~) g‘mOdmXmMo Xmof ñnï> H$am
H$) nma§nmarH$ amï´>dmX ñnï> H$am
S>) Ý¶m¶mMo àH$ma
B) g‘VoMo ‘hÎd
’$) h¸$m§Mo ñdê$n ñnï> H$am
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. [18]

A) ’¡${gP‘Mm CJ‘ {bhm.

~) ñdmV§Í¶mMo ñdê$n {bhm.

H$) amï´>dmXmMo ñdê$n {bhm.

S>) ¶wamonr¶Z g§KmMo H$m¶© {bhm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm (200 eãXmV) [20]

A) g‘VoMr d¡{eï>ço {bhm.

~) g‘mOdmXmMr d¡{eï>ço {bhm.

H$) amï´>dmXmMo KQ>H$ ñnï> H$am.


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Q1) Attempt any eight questions. (20 words) [16]

a) What is meant by Marxism?

b) What is meant by Neo-Marxism?

c) Name the two books of Mahatma Phule.

d) Name the two books of Dr. Ambedkar.

e) Which democratic system supported by Dr. Ambedkar?

f) What is meant by Satya according to Gandhiji.

g) What is meant by Satyagrah?

h) What are the techniques of satyagrah?

i) What is meant by Feminism?

j) What is meant by patriarchy?

Q2) Attempt any Four questions. (50 words) [16]

a) Explain the characteristics of Historical materialism.

b) Explain Mahatma phule’s views on equality.

c) State Dr. Babasaheb Ambedkar’s view on social democracy.

d) What is meant by Ahinsa?

e) Mention the types of Non-violence?

f) Explain the relationship between caste and patriarchy?

P.T.O.
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Q3) Attempt any three questions. (100 words) [18]

a) Explain Karl Marx’s views on state.

b) Write Mahatma phule’s views on caste.

c) State the features of Gram-Swaraj.

d) Explain the features of Feminism.

Q4) Attempt any two questions. (200 words) [20]

a) Explain Dr. Ambedkar’s views on caste and Religion.

b) What is meant by Satyagrah? Explain the techniques of Satyagrah
according to Mahatma Gandhi.

c) What is meant by Feminism? Describe the nature of Feminism.


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Total No. of Questions : 4]

[5808]-536
S.Y. B.A.

POLITICAL SCIENCE
 CC - 2D : An Introduction to Political Ideologies

(2019 CBCS Pattern) (Semester - IV) (24164)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhooV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4223

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) ‘m³g©dmX åhUOo H$m¶?

~) Zd‘m³g©dmX åhUOo H$m¶?

H$) ‘hmË‘m ’w$boÀ¶m H$moUË¶mhr XmoZ nwñVH$m§Mr Zmdo {bhm.

S>) S>m°. Am§~oS>H$am§À¶m H$moUË¶mhr XmoZ nwñVH$m§Mr Zmdo {bhm.

B) S>m°. ~m~mgmho~ Am§~oS>H$a H$moUË¶m bmoH$emhr nÕVrMm nwañH$ma H$aVmV?

’$) ‘hmË‘m Jm§YrOtÀ¶m ‘VmZwgma gË¶ åhUOo H$m¶?

¶) gË¶mJ«h åhUOo H$m¶?

a) gË¶mJ«hmMr gmYZo H$moUVr?

b) ñÌr-dmX åhUOo H$m¶?

d) {nV¥gÎmm åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]

A) Eo{Vhm{gH$ ^m¡{VH$dmXmMr d¡{eï>ço ñnï> H$am.

~) ‘hmË‘m ’w$b|Mo g‘Vm{df¶H$ {dMma ñnï> H$am.

H$) S>m°. ~m~mgmho~ Am§~oS>H$am§Mo bmoH$emhr g‘mOdmX {df¶H$ {dMma ñnï> H$am.

S>) Aqhgm åhUOo H$m¶?

B) AqhgoMo àH$ma gm§Jm.

’$) OmV Am{U {nV¥gÎmm ¶m§Vrb nañnag§~§Y ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) H$mb© ‘m³g©Mo amÁ¶{df¶H$ {dMma ñnï> H$am.

~) ‘hmË‘m ’w$b|Mo OmV{df¶H$ {dMma ñnï> H$am.

H$) J«m‘ñdamÁ¶mMr d¡{eï>ço {bhm.

S>) ñÌrdmXmMr d¡{eï>ço {bhm.

à.à.à.à.à.4) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) S>m°. ~m~mgmho~ Am§~oS>H$am§Mo OmV d Y‘©{df¶H$ {dMma ñnï> H$am.

~) gË¶mJ«h åhUOo H$m¶? ‘hmË‘m Jm§YrOtÀ¶m ‘Vo gË¶mJ«hmMo {d{dY ‘mJ© ñnï> H$am.

H$) ñÌrdmX åhUOo H$m¶? ñÌrdmXmMo ñdê$n ñnï> H$am.


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Q1) Write answers of the following questions in 200 words (Any one) [10]

a) Explain the Directive principles of foreign policy.

b) Explain the fundamental duties.

Q2) Write answers of the following questions in 200 words (Any one) [10]

a) Explain the demerits of fundamental duties.

b) Explain the social Directive principles of state policy.

Q3) Write notes (Any one) [5]

a) Importance of fundamental duties.

b) Importance of Directive principles of state policy.



P.T.O.
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Total No. of Questions : 3]

[5808]-537
S.Y. B.A.

POLITICAL SCIENCE
SEC 2B (2) : Basics of Indian Constitution

(2019 Pattern) (Semester - IV) (24165)

 (‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4224

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) amÁ¶mÀ¶m YmoaUm§Mr naamï´> g§~§Y {df¶H$ ‘mJ©Xe©H$ VËdo {bhm.

~) ‘yb^yV H$V©ì¶o ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm (’$º$ EH$) [10]

A) ‘yb ŷV H$V©ì¶m§Mo Xmof ñnï> H$am.

~) amÁ¶mÀ¶m YmoaUm§Mr gm‘m{OH$ ‘mJ©Xe©H$ VËdo ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) ‘yb ŷV H$V©ì¶m§Mo ‘hËd.

~) amÁ¶mÀ¶m ‘mJ©Xe©H$ VËdm§Mr Cn¶wº$Vm.


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SEAT No. :

Q1) Answer the following question in 300 words(Any one) [15]
a) Describe the various reforms of Sher Shah Suri.

OR

b) Explain in detail regarding the Deccan Policy of Jahangir and Shahajahan.

Q2) Answer the following question in 300 words(Any one) [15]

a) Discuss about the revenue system in Mughal Period.

OR

b) Explain the nature of society during Mughal period.

Q3) Answer the following questions in 200 words(Any two) [20]
a) Describe the sources of in foreign language and account of foreign

travellers at the time of Mughal period.
b) Discuss the policy adopted by Aurangzeb about the Rajput and Sikh.
c) Give an account on provincial administrative system during Mughal

period.
d) Write information on Bhakti and Sufi sect.

Q4) Short notes(Any four). [20]
a) Akbarnama

b) Battle of chausa.

c) Second battle of Panipat.

d) Judicial system.

e) Agricultural system.

f) Industries.


P.T.O.
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Total No. of Questions : 4]

[5808]-538
S.Y. B.A.

HISTORY
DSE-1B(3) S 1 : Medieval India : Mughal Period

(2019 Pattern) (Semester - IV) (24171)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

P4225

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXm§V CÎma Úm. (H$moUVohr EH$) [15]
A) eoaehm gyaÀ¶m {d{dY gwYmaUm§Mo dU©Z H$am.

qH$dm
~) Ohm§{Ja Am{U ehmOhmZ ¶m§Mo X»IZ YmoaU g{dñVanUo ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXm§V CÎma Úm. (H$moUVohr EH$) [15]
A) ‘wKb H$mimVrb ‘hgwb ¶§ÌUm {deX H$am.

qH$dm
~) ‘wKbH$mbrZ g‘mOmMo ñdê$n ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXm§V CÎmao Úm. (H$moUVohr XmoZ) [20]
A) ‘wKbH$mbrZ naH$s¶ ^mfoVrb Am{U naH$s¶ àdmem§À¶m d¥Îmm§VmMo dU©Z H$am.
~) Am¡a§JOo~mMo amOnyV Am{U erI{df¶H$ YmoaUm§Mr MMm© H$am.
H$) ‘wKbH$mbrZ àm§{VH$ àemgZì¶dñWoMr ‘m{hVr {bhm.
S>) ^º$s Am{U gy’$s Midis{df¶r ‘m{hVr Úm.

à.à.à.à.à.4) Q>rn {bhm. (H$moUVohr Mma) [20]
A) AH$~aZm‘m
~) Mm¡gmMr bT>>mB©
H$) nm{ZnVMr Xþgar bT>mB©
S>) Ý¶m¶ì¶dñWm
B) eoVrì¶dñWm
’$) CÚmoJY§Xo





Q1) Answer the following questions in 300 words (any one) : [15]

a) What was the role played by Dr. Sun Yat sen in the history of China?

OR

b) Elaborate upon the role of Mustafa Kemal Pasha in the modernization of
Turkey.

Q2) Answer the following questions in 300 words (any one) : [15]

a) What were the causes and consequences of the second World War?

OR

b) Write a note on the Quit India Movement.

Q3) Answer the following questions in 200 words (any two) : [20]

a) Which were the two Blocs of the Cold War?

b) Write a note on Fascism in Italy

c) Non-cooperation movement

d) Militarism in Japan

Total No. of Questions : 4]

[Total No. of Pages : 4
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Time : 2½ Hours] [Max. Marks : 70
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1) All questions are compulsory.
2) Figures to the right indicate full marks.
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SEAT No. :

P.T.O.
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Q4) Short Notes (any four) : [20]

a) Nazism in Germany

b) Dr. Nelson Mandela

c) Third World

d) Disintegration of USSR

e) UNO

f) Gandhian Philosophy of Satyagraha and Ahimsa





Total No. of Questions : 4]

[5808]-539
S.Y. B.A.

HISTORY
DSE-2B : Glimpses of the Modern World - Part - 2

(AmYw{ZH$ OJmÀ`m B{VhmgmMo AmoPaVo Xe©Z - ^mJ - (AmYw{ZH$ OJmÀ`m B{VhmgmMo AmoPaVo Xe©Z - ^mJ - (AmYw{ZH$ OJmÀ`m B{VhmgmMo AmoPaVo Xe©Z - ^mJ - (AmYw{ZH$ OJmÀ`m B{VhmgmMo AmoPaVo Xe©Z - ^mJ - (AmYw{ZH$ OJmÀ`m B{VhmgmMo AmoPaVo Xe©Z - ^mJ - 2)
(2019 Pattern)  (Semester - IV) (24172)

(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm ©̀.
2) COdrH$S>rb AmH$S>o JwU Xe©{dVmV.

àíZ  1) Imbrbn¡H$s H$moUË`mhr EH$ àíZmMo 300 eãXmV CÎmao {bhm. [15]

A) S>m°. gZ-`V-goZ `m§Mo MrZÀ`m B{VhmgmVrb `moJXmZ ñnï> H$am.

qH$dm

~) VwH©$ñWmZÀ`m AmYw{ZH$s H$aUmVrb _wñV\$m Ho$ _mb nmemMr ŷ{_H$m ñnï> H$am.

àíZ  2) Imbrbn¡H$s H$moUË`mhr EH$ àíZmMo 300 eãXmV CÎmao {bhm. [15]

A) Xþgè`m _hm ẁÕmMr H$maUo Am{U n[aUm_ {bhm.

qH$dm

~) ""Mbo Omd'' Midirda g{dñVa Q>rn {bhm.

àíZ  3) Imbrbn¡H$s H$moUË¶mhr Mma àíZmMr 200 eãXmV CÎmao {bhm. [20]

A) erV ẁÕH$mbrZ XmoZ JQ>m§Mr _m{hVr {bhm.

~) BQ>brVrb \°${gÊQ>dmXm {Q>n {bhm.

H$) AghH$ma Midi.

S>) OmnmZ_Yrb bîH$admX.

P4226

3 P.T.O.
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àíZ  4) {Q>nm {bhm. (H$moUË`mhr Mma) [20]

A) O_©ZrVrb ZmPrdmX

~) S>m°. ZobgZ _§S>obm

H$) {Vgao O§J

S>) a{e`mMo {dKQ>Z

B) ẁZmo (UNO)

’$) Jm§YrOrMo gË`mJ«h d Aqhgm VËdkmZ





Total No. of Questions : 4]

[5808]-540
S.Y. B.A.

HISTORY
DSE-2B : History of  West Asia

(2019 Pattern) (Semester -IV) (24173) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4227 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 300 words. (any one) [15]
a) Write the information about Mustafa Kemal Pasha.

b) Give an account of Zionist movement.

Q2) Answer the following question in 300 words (Any one) [15]
a) Write an essay about the Arab nationalism.

b) Examine the Iraq-Iran conflict.

Q3) Answer the following questions in 200 words (Any two) [20]
a) State the information about Wahabi Movement.

b) Discuss about Suez Crisis.

c) Explain the Balfour declaration.

d) Discuss the important events in history of Iran from 1925 to 1979.

Q4) Write a short notes (Any Four) [20]
a) Lawsen treaty.

b) July Revolution.

c) Palestinian Liberation Organization.

d) Rise of Isreal.

e) Nasser

f) Ibn Saud


P.T.O.
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Total No. of Questions : 4]

[5808]-540
S.Y. B.A.

HISTORY
DSE-2B : History of  West Asia

(2019 Pattern) (Semester -IV) (24173) (CBCS)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ A{Zdm ©̀ AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

P4227

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXmV CÎma Xçm. (H$moUVohr EH$) [15]

A) _wñV\$m Ho$_mb nmem {df`r _m{hVr {bhm.
~) {PAm°{ZñQ> MidirMm AmT>mdm ¿`m.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXmV CÎma Xçm. (H$moUVohr EH$) [15]

A) Aa~ amï´>dmXm~Õb g§{já ñdê$nmV {Z~§Y {bhm.
~) BamH$-BamU g§Kfm©Mo n[ajU H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXmV CÎma Xçm. (H$moUVohr XmoZ) [20]

A) dhm~r Midir{df`r _m{hVr gm§Jm.
~) gwEP H$mbdm g§H$Q>m{df`r MMm© H$am.
H$) ~më\$a KmofUmnÌ ñnï> H$am.
S>) BamUÀ`m B{VhmgmVrb 1925 Vo 1979 `m H$mimVrb _hËdmÀ`m KQ>Zm§{df`r MMm© H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË`mhr Mma) [20]

A) bm°goZ H$ama
~) Owb¡ H«$m§Vr
H$) n°boñQ>r{ZAZ {b~aoeZ Am°J©Zm`PoeZ
S>) Bòm`bMm CX`
B)  Zmgoa
\$) BãZ gm¡X





Total No. of Questions : 4]

[5808]-541
S.Y. B.A.

HISTORY
CC - 2D - G - 2 : History of Marathas (1707 - 1818)

(2019 Pattern) (Semester - IV) (24174) (Core Course - I)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4228 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 300 words (any one) [15]
a) Review the Achievement of the Peshwa Bajirao First.

OR
b) Explain the relation between Peshwa Nanasaheb and Nizam.

Q2) Answer the following question in 300 words. (any one) [15]
a) Explain the contribution of Mahadji Shinde to the expansion of Marathi

power.
OR

b) Discuss in detail the womens life of the Peshwa period.

Q3) Answer the following question in 200 words. (any two) [20]
a) Explain the importance of Balaji Vishwanath’s invasion of Delhi.
b) State the causes for the failure of the Marathas in the Third Panipat War.
c) Explain the achievements of Nana Phadnvis.
d) Explain the revenue system of Peshwa Period.

Q4) Short notes (any four) [20]
a) Maratha council.
b) Barbhai council.
c) Battle of Khed.
d) Battle of Udgir.
e) Maharani Tarabai.
f) Tready of Sevgaon.


P.T.O.
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Total No. of Questions : 4]

[5808]-541
S.Y. B.A.

HISTORY
CC - 2D - G - 2 : History of Marathas (1707 - 1818)

(2019 Pattern) (Semester - IV) (24174) (Core Course - I)

 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4228

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVmhr EH$) [15]
A) noedm n{hë¶m ~mOramdm§À¶m H$m‘{JarMm AmT>mdm ¿¶m.

qH$dm
~) noedm ZmZmgmho~ d {ZOm‘ ¶m§À¶mVrb g§~§Y ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVmhr EH$) [15]
A) ‘amR>r gÎmoÀ¶m {dñVmamV ‘hmXOr qeXoMo ¶moJXmZ ñnï> H$am.

qH$dm
~) noedoH$mbrZ ñÌrOrdZmMo g{dñVa dU©Z H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXmV CÎmao Úm. (H$moUVohr XmoZ) [20]
A) ~mimOr {dídZmWm§Mo {X„r ñdmarMo ‘hÎd WmoS>³¶mV ñnï> H$am.
~) Vrgè¶m nm{ZnV ¶wÕmVrb ‘amR>çm§À¶m An¶emMr H$maUo gm§Jm.
H$) ZmZm ’$S>Udrgm§Mr H$m‘{Jar ñnï> H$am.
S>) noedoH$mbrZ ‘hgyb ì¶dñWm ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]
A) ‘amR>m ‘§S>i
~) ~ma^mB© H$ma^ma
H$) IoS>Mo ¶wÕ
S>) CXJraMr bT>mB©
B) ‘hmamUr Vmam~mB©
’$) godJmdMm Vh





Q1) Write answers to the following questions in 200 words (1 only) : [10]
a) Explain the history and importance of Modi Script.

OR
Write information about the types of Modi Script documents.

Q2) Write an essay in Modi Script in 200 words on any one of the following
topics. [10]
a) My Maharashtra b) Gram Swarajya
c) Fort conservation the need of the time

Q3) Translate the following Modi Script passage in Marathi (DevNagari Language).
(any 1) [5]
Passage - 1

OR

Total No. of Questions : 3]

[Total No. of Pages : 4

[5808]-542
S.Y. B.A.

HISTORY
SEC - 2B : Modi Script

(Skill Enhancament Course (SEC))
(2019 Pattern) (Credit - 2) (Semester - IV) (24175)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4229

SEAT No. :

P.T.O.
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Passage - 2





Total No. of Questions: 3]

[5808]-542
Eg.dm`. ~r.E.

B{Vhmg
SEC - 2B : _moS>r {bnr

(pñH$b EÝhmg_|Q> H$mog© (SEC))
(2019 n°Q>Z©) (lò m§H$- 2) (go_rñQ>a - IV) (24175)

(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4229

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$ŠV 1) [10]
A) _moS>r {bnrMm B{Vhmg d _hËd gm§Jm.

qH$dm
_moS>r {bnrÀ`m H$mJXnÌm§À`m àH$mam§Mr _m{hVr {bhm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$m {df`mda 200 eãXmV _moS>r {bnr_Ü ò {Z~§Y {bhm. [10]
A) _mPm _hmamï´> ~) J«m_ñdamÁ`
H$) XþJ©g§dY©Z-H$mimMr JaO

àíZ àíZ àíZ àíZ àíZ 3) Imbrb _moS>r {bnrVrb CVmam _amR>r (XodZmJar) ^mfoV {bß`m§Va H$am. (H$moUVmhr 1) [5]
CVmam -1

qH$dm

3 P.T.O.
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CVmam - 2





Total No. of Questions : 3]

[5808]-543
S.Y. B.A.

SEC - 2B :  Medieval Indian Arts and Architecture (1206 to 1857)
(2019 Pattern) (Semester - IV) (24176) (2 Credits)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4230 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 200 words (Any one) [10]

a) Describe in detail the Vijaynagar Architecture.

OR

b) Elaborate architectural structures of the Delhi sultanate.

Q2) Answer the following questions in 200 words (Any one) [10]

a) Elaborate upon Bahamani Architecture.

OR

b) Write a note on the Agra fort and the Fatehpur sikri built during the reign
of Akbar.

Q3) Write a short notes in 100 words (Any one) [5]

a) Mughal paintings.

OR

b) Regional Architecture.



P.T.O.
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Total No. of Questions : 3]

[5808]-543
S.Y. B.A.

SEC - 2B :  Medieval Indian Arts and Architecture (1206 to 1857)
(2019 Pattern) (Semester - IV) (24176) (2 Credits)

 (‘amR>r ê$nm§Va)

doi : 2  Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4230

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (H$moUVohr EH$) [10]

A) {dO¶ZJaÀ¶m ñWmnË¶ H$boMm AmT>mdm ¿¶m.

qH$dm

~) {X„r gwëVmZemhr H$mimVrb ñWmnË¶ H$boMo V§ÌkmZ ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (H$moUVohr EH$) [10]

A) ~hm‘Zr H$mimVrb ñWmnË¶ H$boda {ddoMZ H$am.

qH$dm

~) AH$~amÀ¶m H$mimVrb AmJ«m {H$„m d ’$Vohnya {gH«$s ¶m ehamMo dU©Z H$am.

à.à.à.à.à.3) {Q>nm {bhm 100 eãXmV. (H$moUVohr EH$) [5]

A) ‘wKbH$mbrZ {MÌH$bm

qH$dm

~) àm§Vr¶ ñWmnË¶ H$bm





Q1) Answer the following questions in 200 words (Any one) : [10]
a) Explain the difference between Popular culture and High culture.

OR

b) State the salient features of Indian Folk songs.

Q2) Answer the following questions in 200 words (Any one) [10]
a) Describe the impact of Indian National struggle for Independence on

Indian cinema.

OR

b) Write information on various religious festivals in India.

Q3) Short notes (Any one). [5]
a) Indian Dance

b) Television and Indian Culture.



Total No. of Questions : 3]

[Total No. of Pages : 2

[5808]-544
S.Y. B.A.

HISTORY
Skill Enhancement Course

SEC 2B : Popular Indian Culture
(2019 Pattern) (2 Credits) (Semester - IV) (24177)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4231
SEAT No. :

P.T.O.
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Total No. of Questions : 3]

[5808]-544
S.Y. B.A.

HISTORY
Skill Enhancement Course

SEC 2B : Popular Indian Culture
(2019 Pattern) (2 Credits) (Semester - IV) (24177)

(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>rb A§mH$S>o nyU© JwU Xe©{dVmV.

P4231

àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ 1) [10]

A) bmoH${à¶ g§ñH¥$Vr Am{U Cƒ g§ñH¥$Vr ¶m‘Yrb ’$aH$ ñnï> H$am.

qH$dm

~) ^maVr¶ bmoH$JrVm§Mr d¡{eï>¶o gm§Jm.

àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ 1) [10]

A) ^maVr¶ ñdmV§Í¶Am§XmobZmMo ^maVr¶ {gZo‘mda Pmbobo n[aUm‘ {deX H$am.

qH$dm

~) ^maVmVrb {d{dY Ym{‘©H$ gUm§Mr ‘m{hVr {bhm.

àíZ 3) {Q>n {bhm. (H$moUVohr 1) [5]

A) ^maVr¶ Z¥Ë¶H$bm

~) XÿaXe©Z Am{U ^maVr¶ g§ñH¥$Vr





Total No. of Questions : 3]

[5808]-545
S.Y. B.A.

HISTORY
SEC-2B : Travel Agency & Tour Business

(2019 CBCS Pattern) (Semester - IV) (24178)

Time : 1 Hour] [Max. Marks : 25

Instructions to the candidates:

1) All questions are compulsory.

2) Figure to the right indicate full marks.

P4232 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 200 words (any one) [10]

a) What is travel agency? Explain the history of travel agency in details.

OR

b) Explain the responsibilities of the travel agency.

Q2) Answer the following questions in 200 words (any one) [10]

a) Explain the main function of travel agency.

OR

b) What is a travel agent? Explain the type of travel agent’s.

Q3) Write a short notes (any one) [5]

a) Type of Accommodation.

OR

b) Retailer agent’s.



P.T.O.
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Total No. of Questions : 3]

[5808]-545
S.Y. B.A.

HISTORY
SEC-2B : Travel Agency & Tour Business

(2019 CBCS Pattern) (Semester - IV) (24178)

(‘amR>r ê$nm§Va)

doi : 1 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4232

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$º$ EH$) [10]

A) Q´>°ìhb EOÝgr (àdmgr g§ñWm / H§$nZr) åhUOo H$m` Vo gm§JyZ Q´>ìhb EOÝgrMm B{Vhmg g{dñVa
ñnï> H$am.

qH$dm

~) Q´>°ìhb EO§Q> (àdmgr àdV©H$) À`m O~m~Xmè`m g{dñVa ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$º$ EH$) [10]

A) Q´>°ìhb EOÝgr (àdmgr g§ñWm / H§$nZr) Mo _w»` H$m ©̀ {dfX H$am.

qH$dm

~) Q´>°ìhb EO§Q> (àdmgr àdV©H$) åhUOo H$m` Vo gm§JyZ Q´>°ìhb EO§Q>Mo àH$ma {dfX H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVrhr EH$) [5]

A) n ©̀Q>Z {ZdmgmMo àH$ma

qH$dm

~) {H$aH$moi EO§Q>





Total No. of Questions : 4]

[5808]-546
S.Y. B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
 CC - 2D : Socio-Economic Institutions of Ancient India

(2019 New Pattern) (Semester - IV) (24183) (General Paper - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4233 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 300 words (any one) [15]
a) Discuss the varna system in Ancient India.

OR
b) Write in detail about sixteen sacroments in Ancient India.

Q2) Answer the following questions in 300 words(any one) [15]
a) Take a review of important Universities in Ancient India and state the

nature of education system in those universities.
OR

b) Discuss about the Ancient Indian economic organisations.

Q3) Answer the following questions in 200 words(any two). [20]
a) Discuss about various types of marriages in Ancient India.
b) Take a review of the Gurukula and Ashrama systems of education in

Ancient India.
c) State the importance of Agriculture as source of income of Ancient Indian

state and society.
d) Take a review of India’s foreign trade during Ancient Times.

Q4) short notes (any four). [20]
a) Marriage Institution in Ancient India.
b) Agrahara.
c) Ancient Industries.
d) Internal trade of Ancient India.
e) punchmarked Coins.
f) Ancient Weights.


P.T.O.
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Total No. of Questions : 4]

[5808]-546
S.Y. B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
 CC - 2D : Socio-Economic Institutions of Ancient India

(2019 New Pattern) (Semester - IV) (24183) (General Paper - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhooV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4233

à.à.à.à.à.1) Imbrb àíZmMo CÎma 300 eãXmV Úm. (H$moUVmhr EH$) [15]
A) àmMrZ ^maVr¶ dU©ì¶dñWo{df¶r MMm© H$am.

qH$dm
~) àmMrZ ^maVr¶ gmoim g§ñH$mam§{df¶r g{dñVa {bhm.

à.à.à.à.à.2) Imbrb àíZmMo CÎma 300 eãXmV Úm. (H$moUVmhr EH$) [15]
A) àmMrZ ^maVmVrb ‘hËdmÀ¶m {dÚmnrR>m§Mm AmT>mdm KoD$Z {dÚmnrR>r¶ {ejUnÕVrMo ñdê$n

gm§Jm.
qH$dm

~) àmMrZ ^maVmVrb Am{W©H$ g§KQ>Zm§{df¶r MMm© H$am.

à.à.à.à.à.3) Imbrb àíZmMo CÎma 200 eãXmV Úm. (H$moUVohr XmoZ) [20]
A) àmMrZ ^maVr¶ {ddmhm§À¶m {d{dY àH$mam§Mr MMm© H$am.
~) àmMrZ ^maVmVrb Jwê$Hw$b d Aml‘-nÕVrÀ¶m {ejUnÕVrMm AmT>mdm ¿¶m.
H$) àmMrZ ^maVmVrb amÁ¶ d g‘mO ¶m§À¶m CËnÞmMo gmYZ åhUyZ eoVrMo ‘hËd gm§Jm.
S>) àmMrZ H$mimVrb ^maVmÀ¶m naamï´> ì¶mnmamMm AmT>mdm ¿¶m.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUVohr Mma) [20]
A) àmMrZ ^maVr¶ {ddmh g§ñWm
~) AJ«hma
H$) àmMrZ CÚmoJ
S>) àmMrZ ^maVmMm A§VJ©V ì¶mnma
B) AmhV ZmUr
’$) àmMrZ dOZo





Q1) Write short notes on any three of the following : [15]
a) Participation of tribals in freedom movement.
b) Integrated tribal Development Project.
c) Scheduled Area.
d) Concept of Nomalic Tribe.
e) Integration Approach.

Q2) Answer any three of the following question in 50 words each : [15]
a) Explain the concept of nomadic tribes.
b) Explain the contribution of tribal Development corporation in tribal

Development.
c) Explain the isolation concept.
d) Explain the concept of Tribal development.
e) Describe the Integrated Tribal Development Project.

Q3) Answer any two of the following questions in 200 words each : [20]
a) Explain the contribution of cooperative societies in tribal Development.
b) Elaborate the De notified tribes.
c) Write the tribal movement in pre independance period.
d) Describe the constitutional provisions for tribal communities.

Q4) Answer any one of the following question in 300 words : [20]
a) Describe the constitutional approach in post Independance period for

tribal development.
b) Write the Tribal development programmes in details.


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[5808]-547
S.Y. B.A.

ANTHROPOLOGY
G - 2 (CC - 1 D) : Tribal Development

(2019 Pattern) (CBCS) (Semester - IV) (24193)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4234

àíZ àíZ àíZ àíZ àíZ 1) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) ñdmV§Í` MidirVrb Am{XdmgtMo ̀ moJXmZ.

~) EH$mË_rH$ Am{Xdmgr {dH$mg àH$ën.

H$) AZwgy{MV joÌ.

S>) ^Q>Š`m {d_wº$ O_mVrMr g§H$ënZm.

B) EH$sH$aU Ñï>rH$moU.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]

A) ^Q>Š`m O_mVrMr g§H$ënZm ñnï> H$am.

~) Am{XdmgtÀ`m {dH$mgmV Am{Xdmgr {dH$mg _§S>imMo `moJXmZ ñnï> H$am.

H$) AbJVm g§H$ënZm ñnï> H$am.

S>) Am{Xdmgr {dH$mgmMr g§H$ënZm ñnï> H$am.

B) EH$mË_rH$ Am{Xdmgr {dH$mgmMo àH$ënmMo dU©Z H$am.

2
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) Am{Xdmgr {dH$mg ghH$mar nVg§ñWmMo AgUmao `moJXmZ ñnï> H$am.

~) ^Q>Š`m {d_wº$ O_mVrMo dU©Z H$am.

H$) ñdm§VÍ`nyd© H$mimVrb Am{Xdmgr Midi ñnï> H$am.

S>) Am{Xdmgr g_wXm`mgmR>r AgUmè`m KQ>ZmË_H$ VaVwXrMo dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm. (H$moUVohr EH$) [20]

A) Am{Xdmgr {dH$mgmg§X^m©V ñdmV§Í`moÎma H$mimVrb KQ>ZmË_H$ Ñ{ï>H$moU dU©Z H$am.

~) Am{Xdmgr {dH$mg H$m ©̀H«$_ g{dñVa {bhm.


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[5808]-548
S.Y.B.A.

GEOGRAPHY
DSE - 1B : GG : 210(B) : Geography of Maharashtra-II

(CBCS 2019 Pattern) (Semester - IV) (24201)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of map stencils is allowed.
4) Draw a neat diagrams wherever necessary.

P4235 [Total No. of Pages : 4

SEAT No. :

Q1) Write answer of the questions about 20 words each(any Eight). [16]

a) Write any two economical problems of farmers in Maharashtra.

b) State the name of any two districts which are famous for ‘Pomegranate’
production.

c) Name any two leading Rice producing districts in the Maharashtra state.

d) What is population density?

e) What is Migration?

f) Enlist any four problems of Urban settlement?

g) Define the term ‘Rural Development’.

h) In which district of Maharashtra, Patoda and Hivre Bazar villages are
located?

i) Write the definition of ‘Tourist’.

j) Write the full form of M.T.D.C.

Q2) Write short notes in about 50 words(any three). [18]

a) Agro-Tourism.

b) Hivre Bazar water conservation.

c) “Literacy’ of Maharashtra.

d) Various schemes of Rural Development.

P.T.O.
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Q3) Write the answer of questions in 100 words each (any two). [16]

a) Explain the problems of agriculture in Maharashtra.

b) Explain in details the concept of Rural Development.

c) Explain in details the difference between Rural and Urban settlement.

Q4) Write the answer of the questions in 300 words each (any one). [20]
a) Explain the population distribution of Maharashtra.

b) Explain in detail the Importance of MTDC in tourism Development of
Maharashtra.


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Total No. of Questions : 4]

[5808]-548
S.Y.B.A.

GEOGRAPHY
DSE - 1B : GG : 210(B) : Geography of Maharashtra-II

(CBCS 2019 Pattern) (Semester - IV) (24201)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4235

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) ‘hmamï´>mVrb eoVH$è¶m§À¶m H$moUË¶mhr XmoZ Am{W©H$ g‘ñ¶m {bhm.

~) S>m{i~ CËnmXZmV à{gÕ AgUmè¶m H$moUË¶mhr XmoZ {Oëøm§Mr Zmdo {bhm.

H$) ‘hmamï´> amÁ¶mVrb Vm§Xÿi CËnmXZmV AmJ«oga Agboë¶m XmoZ {Oëøm§Mr Zmdo {bhm.

S>) bmoH$g§»¶oMr KZVm åhUOo H$m¶?

B) "ñWbm§Va' åhUOo H$m¶?

’$) ehar dgmhVrÀ¶m H$moUË¶mhr Mma g‘ñ¶m {bhm.

¶) "J«m{‘U' {dH$mg ì¶m»¶m {bhm.

a) nmQ>moXm d {hdao~mOma hr Jmdo ‘hmamï´>mVrb H$moUË¶m {OëhçmVrb AmhoV.

b) "n¶©Q>H$' ì¶m»¶m {bhm.

d) E‘. Q>r. S>r. gr. (M.T.D.C.) Mo nyU© ê$n {bhm.

à.à.à.à.à.2) àË¶oH$s 50 eãXm§V {Q>nm {bhm (H$moUVohr VrZ) [18]

A) H¥$fr n¶©Q>Z

~) {hdao~mOma Obg§YmaU

H$) ‘hmamï´>mMr "gmjaVm'

S>) J«m‘rU {dH$mgmÀ¶m {d{dY ¶moOZm
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ‘hmamï´>mVrb eoVrÀ¶m g‘ñ¶m ñnï> H$am.

~) J«m{‘U {dH$mgmMr g§H$ënZm g{dñVa ñnï> H$am.

H$) J«m‘rU d ehar dñË¶m§Z‘Yrb ’$aH$ g{dñVa ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]

A) ‘hmamï´>mMo bmoH$g§»¶m {dVaU ñnï> H$am.

~) ‘hmamï´> n¶©Q>Z {dH$mg ‘hm‘§S>imMo ‘hmamï´>mÀ¶m n¶©Q>Z {dH$mgmVrb ‘hËd {bhm.


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[5808]-549
S.Y.B.A.

GEOGRAPHY
Gg- 210(B) DSE-1 B : Population Geography-II
(2019 CBCS Pattern)  (Semester -IV) (24202)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2 Figures to the right indicate full marks.
3) Use of map stencils is allowed.
4) Draw neat diagrams wherever necessary.

P4236 [Total No. of Pages : 4
SEAT No. :

Q1) Write answer of the questions about 20 words each (any eight) [16]

a) Write definition of over population.

b) Who has proposed the population transition Theory.

c) Write any two measures of population control suggested by Malthus.

d) Write the names of any two developed countries in the world.

e) State any two advantages of Chinas population policy.

f) Which is the apex body for determining the health index in India.

g) What are the key factors in determining the Human development index.

h) Write the definition of urbanization.

i) Write the names of any two cities established by the Mughals.

j) Write the two names of 100 percent urbanized countries in world.

Q2) Write notes on the following questions 50 words each (any three) [18]

a) Optimum population

b) Reproductive - promoting policy

c) Types of Social capital

d) Criteria for Urbanization in India.

P.T.O.
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Q3) Write answers to the following questions in 100 words each (any two) [16]

a) Write the characteristics of a  optimum population.

b) Write the advantages and disadvantages of Chinas  population policy.

c) Describe in detail the health index of India.

Q4) Write the answer to the following question in 300 word (any one) [20]

a) Explain in detail the Malthus theory of population growth.

b) Explain the social and cultural problems of urbanization in India.


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Total No. of Questions : 4]

[5808]-549
S.Y. B.A.

GEOGRAPHY
GG-210(B) DSE - 1(B) : Population Geography - II

(2019 CBCS Pattern) (Semester -IV) (24202)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4236

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) A{V[aº$ bmoH$g§»¶oMr ì¶m»¶m {bhm.

~) bmoH$g§»¶m g§H«$‘UmMm {gÕm§V H$moUr ‘m§S>bm Amho?

H$) ‘mëWgZo gwM{dbobo bmoH$g§»¶m {Z¶§ÌUmMo H$moUVohr XmoZ Cnm¶ {bhm?

S>) OJmVrb H$moUË¶mhr XmoZ {dH$grV Xoem§Mr Zmdo {bhm?

B) MrZÀ¶m bmoH$g§»¶m YmoaUmMo H$moUVohr XmoZ ’$m¶Xo gm§Jm?

’$) ^maVm‘Ü¶o Amamo½¶ {ZX}em§H$ {ZpíMV H$aUmar {eIa g§ñWm H$moUVr Amho?

¶) ‘mZd {dH$mg {ZX}em§H$ R>a{dÊ¶mgmR>r AgUmao à‘wI KQ>H$ H$moUVo AmhoV?

a) ZmJarH$aUmMr ì¶m»¶m {bhm.

b) ‘wKbm§Zr ~g{dboë¶m H$moUË¶mhr XmoZ eham§Mr Zmdo {bhm?

d) OJmVrb e§̂ a Q>³Ho$ ZmJarH$aU Pmboë¶m H$moUË¶mhr XmoZ Xoem§Mr Zmdo {bhm?

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXmV {Q>nm {bhm (H$moUVohr VrZ) [18]
A) n¶m©á bmoH$g§»¶m.

~) OZZ-àmoËgmhrV YmoaUo.

H$) gm‘m{OH$ ^m§S>dbmMo àH$ma.

S>) ^maVmVrb ZmJarH$aUmMo {ZH$f.
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm (H$moUVohr XmoZ) [16]
A) n¶m©á bmoH$g§»¶oMr d¡{eîQ>ço {bhm.

~) MrZÀ¶m bmoH$g§»¶m YmoaUmMo ’$m¶Xo Am{U VmoQ>o {bhm.

H$) ^maVmVrb Amamo½¶ {ZX}em§H$ ¶m g§X^m©V g{dñVa {díbofU H$am.

à.à.à.à.à.4) Imbrb àíZmMo 300 eãXmV CÎma {bhm (H$moUVohr EH$) [20]
A) ‘mëWgMm bmoH$g§»¶m dmT>rMm {gÕm§V g{dñVa ñnï> H$am.

~) ^maVmVrb ZmJarH$aUmÀ¶m gm‘m{OH$ Am{U gm§ñH¥${VH$ g‘ñ¶m ñnï> H$am.


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[5808]-551
S.Y. B.A.

GEOGRAPHY
CC-1D - Gg 201(B) : Environmental Geography - II

(2019 Credit Pattern) (Semester - IV) (24204)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of Map stencils is allowed.
4) Draw neat diagrams wherever necessary.

P4237 [Total No. of Pages : 4

SEAT No. :

Q1) Write the answer of the questions about 20 words each (any eight) [16]

a) Give any two examples of natural disasters.

b) State any two reasons of the earth quakes.

c) In which country the first case of corona virus was found?

d) Write any two effects of Global warming.

e) Write any two effect of ozone depletion.

f) Write any two causes of acid rain.

g) Write the definition of environmental planning.

h) State any two objectives of the environmental impact assessment.

i) The united nations first water conference was held in which country in
1977.

j) State the objectives of the environment protection Act.

P.T.O.
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Q2) Write a short note in about 50 words each (any three) [18]

a) World distribution of earthquakes.

b) Ozone depletion.

c) Objectives of environmental management.

d) Carbon credits.

Q3) Write the answers to the following questions in 100 words (any two) [16]

a) Explain the causes and consequences of Flood.

b) Explain the nature and causes of ozone depletion on Antarctica.

c) Explain the environmental impact Assessment in detail.

Q4) Write the answer to the following questions in 300 words (any one) [20]

a) What is global warming? Explain the effects of global warming.

b) Explain the concept of environmental planning and management, explain
its need.


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Total No. of Questions : 4]

[5808]-551
S.Y. B.A.

GEOGRAPHY
CC-1D - Gg 201(B) : Environmental Geography - II

(2019 Credit Pattern) (Semester - IV) (24204)

 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Vr H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4237

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) Z¡g{J©H$ AmnÎmrMr H$moUVohr XmoZ CXmhaUo gm§Jm.

~) ŷH§$nmMr H$moUVohr XmoZ H$maUo gm§Jm.

H$) H$moamoZm ìhm¶agMm n{hbm ê$½U H$moUË¶m XoemV AmT>ibm?

S>) d¡pídH$ Vmn‘mZ dmT>rMo H$moUVohr XmoZ n[aUm‘ {bhm.

B>) AmoPmoZÀ¶m j¶mMo H$moUVohr XmoZ n[aUm‘ {bhm.

’$) Amåb nO©Ý¶mMr H$moUVohr XmoZ H$maUo {bhm.

¶) n¶m©daUr¶ {Z¶moOZmMr ì¶m»¶m {bhm.

a) n¶m©daUr¶ à^md narjUmMo H$moUVohr XmoZ CX²Xoe gm§Jm.

b) g§¶wº$ amï´>mMr n{hbr Ob n[afX 1977 ‘Ü¶o H$moUË¶m XoemV Am¶mo{OV H$aÊ¶mV Ambr hmoVr?

d) n¶m©daU g§ajU H$m¶ÚmMr C{X²Xï>ço gm§Jm.
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à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXmV {Q>nm {bhm (H$moUË¶mhr VrZ) [18]

A) ŷH§$nmMo OmJ{VH$ {dVaU.

~) AmoPmoZ dm¶yMm j¶.

H$) n¶m©daU ì¶dñWmnZmMr C{X²Xï>ço.

S>) H$m~©Z Ho«${S>Q>.

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) nwamMr H$maUo d n[aUm‘ gm§Jm.

~) A§Q>m{Q>©H$m ¶oWrb AmoPmoZ dm¶yÀ¶m j¶mMo ñdê$n d H$maUo gm§Jm.

H$) n¶m©daUr¶ à^md n[ajU g{dñVa ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]

A) OmJ{VH$ Vmn‘mZ dmT> åhUOo H$m¶? OmJ{VH$ Vmn‘mZ dmT>rMo n[aUm‘ ñnï> H$am.

~) n¶m©daUr¶ {Z¶moOZ d ì¶dñWmnZmÀ¶m g§H$ënZm {deX H$ê$Z {Z¶moOZ d ì¶dñWmnZmMr JaO
H$m Amho ñnï> H$am.


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[5808]- 552
S.Y.B.A.

GEOGRAPHY
CC - 2D : Gg - 210(B) : Economic Geography - II

(CBCS 2019 Pattern) (Semester-IV) (24205)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat labelled diagrams, figures, whenever necessary.
4) Use of map stencil is allowed.

P4238 [Total No. of Pages : 4

SEAT No. :

Q1) Write answers of the following questions in about 20 words each(any eight).[16]

a) Definition of transport.

b) Give two names of ports at eastern coast & two names of ports at
western coast of India.

c) What is imbalance of trade?

d) When & why GATT is formed?

e) Give four names of IT Hub cities of India.

f) When and where TISCO was started?

g) What is a region?

h) Which is the most developed & the most backward state, (economically),
in India.

i) Write any two objectives of rural development programme?

j) Which four cities connects by Golden Quadrilateral Highway in India?

Q2) Write short notes in about 50 words each(any three). [18]

a) International trade.

b) Chhota Nagpur Industrial Region.

c) Regional Planning.

d) IRDP programme.

P.T.O.
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Q3) Write the answers of questions in 100 words each(any two). [16]

a) Explain Iron & Steel industry in India with distribution.

b) Define the concept of regional planning & development with advantages.

c) What are the various schemes of a rural development in India.

Q4) Write the answers of questions in 300 words each(any one). [20]

a) Discuss the Weber’s theory of Industrial location with diagrams in detail.

b) Explain modes of transportation & their cost of effective significance.


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Total No. of Questions : 4]

[5808]- 552
S.Y.B.A.

GEOGRAPHY
CC - 2D : Gg - 210(B) : Economic Geography - II

(CBCS 2019 Pattern) (Semester-IV) (24205)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Vr H$mT>m.
4) ZH$mem ñQ>opÝgb> dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4238

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) dmhVwH$sMr ì¶m»¶m {bhm.

~) ^maVmÀ¶m nyd© d npíM‘ {H$ZmanÅ>rdarb àË¶oH$s XmoZ ~§Xam§Mr Zmdo gm§Jm.

H$) ì¶mnmamVrb Ag§VwbZ åhUOo H$m¶?

S>) J°Q> (GATT) H|$ìhm d H$m ñWmnZ Pmbo?

B) ^maVmVrb Mma ‘m{hVr V§ÌkmZ (IT) eham§Mr Zmdo {bhm.

’$) Q>mQ>m ñQ>rb H§$nZr (TISCO) H|$ìhm d H$moR>o ñWmnZ Pmbr?

¶) àXoe åhUOo H$m¶?

a) ^maVmVrb Am{W©H$X¥ï>çm gdm©V nwT>mabobo d ‘mJmgbobo amÁ¶ H$moUVo?

b) J«m‘rU {dH$mg H$m¶©H«$‘mMr XmoZ CÔrîQ>ço gm§Jm.

d) ^maVmVrb gwdU© MVwîH$moU ‘hm‘mJ© OmoS>Umè¶m Mma ‘hmZJam§Mr Zmdo {bhm.

à.à.à.à.à.2) àË¶oH$s 50 eãXm§V Q>rnm {bhm. (H$moUVohr VrZ) [18]

A) Am§Vaamï´>r¶ ì¶mnma.

~) N>moQ>m ZmJnya Am¡Úmo{JH$ àXoe

H$) àmXo{eH$ {Z¶moOZ

S>) EH$mpË‘H$ J«m‘rU {dH$mg H$m¶©H«$‘ (IRDP)
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ^maVmVrb bmoh nmobmX CXçmoJ {dVaUmgh {bhm.

~) àmXo{eH$ {Z¶moOZ d {dH$mg ’$m¶Xçmgh {bhm.

H$) ^maVmVrb J«m‘rU {dH$mgmÀ¶m {d{dY ¶moOZm§Mr ‘m{hVr gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]

A) CÚmoJmÀ¶m ñWm{ZH$sH$aUmMm do~aMm {gÕm§V AmH¥$Vrgh ñnï> H$am.

~) dmhVwH$sMo àH$ma gm§JyZ dmhVwH$ IMm©Mo ‘yë¶m§H$Z H$ê$Z ‘hËd gm§Jm.





Total No. of Questions : 3]

[5808]-553
S.Y. B.A.

GEOGRAPHY
SEC-2B : Introduction to Remote Sensing

(CBCS 2019 Pattern) (Semester - IV) (24206)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Use of map stencil is allowed.

P4239 [Total No. of Pages : 2

SEAT No. :

Q1) Answer in 20 words each (Any five) : [10]

a) What is remote sensing?

b) In which year the remote sensing system was started in India?

c) Mention the headquarter and regional centers of remote sensing.

d) Write the types of remote sensing.

e)  Which elements are essential for  visual image interpretation?

f) Write the purpose of image enhancement.

g) Write the name of websites for downloading images.

Q2) Write short notes in about 100 words (any two) [8]

a) Development of remote sensing in India.

b) Electromagnetic spectrum.

c) Unsupervised image classification.

Q3) Write the answer of questions in 150 words (Any one) [7]

a) Write defination of remote sensing and explain the applicability.

b) Explain the detailed process of layer stacking and image enhancement.



P.T.O.
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Total No. of Questions : 3]

[5808]-553
S.Y. B.A.

GEOGRAPHY
SEC-2B : Introduction to Remote Sensing

(CBCS 2019 Pattern) (Semester - IV) (24206)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4239

à.à.à.à.à.1) Imbrb àíZm§Mr àË òH$s 20 eãXmV CÎmao {bhm. (H$moUVohr nmM) [10]

A) gwXÿa g§doXZ åhUOo H$m`?
~) ^maVmV gwXÿa g§doXZ àUmbrMr gwédmV Ho$ìhm Pmbr?
H$) ^maVmV gwXÿa g§doXZmMo _w»`mb` d Ë`mMo àmXo{eH$ H|$Ðo H$moR>o Amho?
S>) gwXÿa g§doXZmMo àH$ma {bhm.
B) Ñî` à{V_m dmMZmgmR>r H$moUVo KQ>H$ Amdí`H$ AmhoV?
\$) à{V_m dY©ZmMm (Image Enhancement) hoVy {bhm.
`) CnJ«h à{V_m S>mD$ZbmoS> H$aÊ`mgmR>rÀ`m do~gmB©S>Mr Zmdo {bhm.

à.à.à.à.à.2) àË òH$s 100 eãXmV {Q>nm {bhm. (H$moUVohr XmoZ) [8]

A) gwXÿa g§doXZmMm ^maVmVrb {dH$mg
~) {dÚwVMw§~H$s` dU©nQ> (Electromagnetic spectrum)

H$) AnW©dojrV à{V_m d{J©H$aU (Unsupervised image classification)

à.à.à.à.à.3) Imbrb àíZm§Mr àË òH$s 150 eãXmV CÎmao {bhm. (H$moUVohr EH$) [7]

A) gwXÿa g§doXZmMr ì`m»`m {bhÿZ Ë`mMr Cn`mo{JVm {dfX H$am.
~) boAa ñQ>oH$s̈J (Layer stacking) d à{V_m dY©Z (Image Enhancement) à{H«$ òMo g{dñVa

dU©Z H$am.





Total No. of Questions : 3]

[5808]-554
S.Y. B.A.

GEOGRAPHY
SEC - 2B :  Applied Course of Travel & Tourism
(CBCS 2019 Pattern) (Semester - IV) (24207)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Use of map stencil is allowed.

P4240 [Total No. of Pages : 2

SEAT No. :

Q1) Answer in 20 words each (any five) [10]

a) Define the term ‘Tourism’.

b) What is mean by heritage tourism?

c) Write any two names of historical monuments in India.

d) Define ‘Foreign Tourist’.

e) Which types of transportation is useful in tourism?

f) State any two characteristics of ideal tourist guide.

g) Write two advantages of local tourism?

Q2) Write a short notes in 100 words (any two) [8]

a) Tourism as a basic need of manleind.

b) Introduction to your nearest local tourist place.

c) Importance of finance in tourism.

Q3) Answer in 150 words each (any one) [7]

a) How tourism activity encourages to transportation and communication?

b) Explain the types of tourism based on the number of tourists.


P.T.O.
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Total No. of Questions : 3]

[5808]-554
S.Y. B.A.

GEOGRAPHY
SEC - 2B :  Applied Course of Travel & Tourism
(CBCS 2019 Pattern) (Semester - IV) (24207)

 (‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Vr H$mT>m.
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P4240

à.à.à.à.à.1) àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr nmM) [10]

A) n¶©Q>ZmMr ì¶m»¶m {bhm.
~) dmagm ñWi n¶©Q>Z åhUOo H$m¶?
H$) ^maVmVrb H$moUË¶mhr XmoZ Eo{Vhm{gH$ ñWim§Mr Zmdo {bhm.
S>) "naXoer n¶©Q>H$' ì¶m»¶m {bhm.
B) dmhVwH$sMo H$moUVo àH$ma n¶©Q>Zm‘Ü¶o Cn¶wº$ R>aVmV?
’$) AmXe© n¶©Q>Z ‘mJ©Xe©H$mMo H$moUVohr XmoZ d¡{eï>ço {bhm.
¶) ñWm{ZH$ n¶©Q>ZmMo XmoZ ’$m¶Xo {bhm.

à.à.à.à.à.2) àË¶oH$s 100 eãXmV {Q>nm {bhm. (H$moUVohr XmoZ) [8]

A) n¶©Q>Z : ‘mZdmMr ‘yb ŷV JaO.
~) Vw‘À¶m eoOmarb ñWm{ZH$ n¶©Q>Z ñWimMr AmoiI.
H$) n¶©Q>ZmVrb ^m§S>dbmMo ‘hÎd.

à.à.à.à.à.3) àË¶oH$s 150 eãXmV CÎma {bhm. (H$moUVmhr EH$) [7]

A) n¶©Q>Z ì¶dgm¶m‘wio dmhVwH$ d XiUdiUmbm H$emàH$mao MmbZm {‘iVo?
~) n¶©Q>H$m§À¶m g§»¶odê$Z n¶©Q>ZmMo hmoUmao àH$ma ñnï> H$am.





Total No. of Questions : 6]

[5808]-558
S.Y. B.A.

V~bm
SEC - 2B (22320) Skill Development in Music

(`m g§MmVrb amJ g§JrV Jm`Z, V~bm, gVma `m VrZ n¡H$s Vw_À`m {df`mMr
H$moUVrhr EH$ àíZn{ÌH$m gmoS>dm)

  (2019 Credit Pattern) (Semester - IV) (24214)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) ghmn¡H$s H$moUVohr nmM àíZ gmoS>dm.
2) gd© àíZm§Zm àË òH$s 5 `mà_mUo g_mZ JwU.
3) COdrH$S>rb A§H$ JwU Xe©{dVmV.

P6781 [Total No. of Pages : 4

SEAT No. :

à.à.à.à.à.1) AmS>, Hw$AmS>, {~AmS> øm b`àH$mam§Mr gmoXmhaU _m{hVr {bhm. [5]

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr EH$m VmbmMm _m{hVrgh R>oH$m {bhm. [5]

A) Pw_am

~) n§Om~r

H$) Yw_mir

à.à.à.à.à.3) ì`m»`m {bhm. [5]

A) X_Xma {VhmB©

~) VwH$S>m

H$) b½Jr

S>) CR>mZ

B) MH«$Xma

P.T.O.
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à.à.à.à.à.4) I`mb Jm`Z àH$mamMr {dñV¥V _m{hVr {bhm. [5]

à.à.à.à.à.5) {Z~§Y {bhm. (H$moUVmhr EH$) [5]

A) [a`mOmMo _hËd

~) V~bm dmÚmMm g§{já B{Vhmg

H$) V~bm gmWrMr Amdí`H$Vm

à.à.à.à.à.6) OrdZM[aÌ {bhm. (H$moUVmhr EH$) [5]

A) C. Ah_XOmZ {WaH$dm±

~) n§. gm_Vm àgmX

H$) CñVmX A„ma ImZ


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Total No. of Questions : 6]

[5808]-558
S.Y. B.A.

amJ g§JrV Jm`Z
SEC - 2B (22320) Skill Development in Music

  (2019 Credit Pattern) (Semester - IV) (24214)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) n{hbm àíZ gmoS>{dUo A{Zdm ©̀ Amho.
2) Cd©[aV nmM àíZm§n¡H$s H$moUVohr Mma àíZ gmoS>dm.
3) gd© àíZm§g àË òH$s 5 JwU AmhoV.

P6781

à.à.à.à.à.1) nwT>rbn¡H$s H$moUË`mhr EH$m amJmVrb N>moQ>m »`mb ñda{bnr~Õ H$am. [5]

A) h_ra

~) Om¡Znwar

H$) {d^mg

à.à.à.à.à.2) nwT>rbn¡H$s H$moUË`mhr EH$m amJmMr g§nyU© emór` _m{hVr {bhm. [5]

A) qhS>mob

~) M§ÐH§$g

H$) {d^mg

à.à.à.à.à.3) nwT>rbn¡H$s H$moUË`mhr EH$m VmbmMr g§nyU© _m{hVr {bhÿZ Ë`m VmbmMm R>oH$m EH$nQ>rV {bhm. [5]

A) {ÌVmb

~) EH$Vmb

H$) Pw_am



4[5808]-558

à.à.à.à.à.4) ì`m»`m {bhm. (H$moUË`mhr nmM) [5]

A) Mbñda

~) AMbñda

H$) Vrd« ñda

S>) {_l amJ

B) _tS>

\$) dmXrñda

à.à.à.à.à.5) nwT>rbn¡H$s H$moUË`mhr EH$m g§JrVkmMo OrdZM[aÌ d gm§Jr{VH$ `moJXmZ {dñV¥V {bhm. [5]

A) A„m{X`m Im§

~) n§. ^r_goZ Omoer

H$) C. A_ra Im§

à.à.à.à.à.6) nwT>rbn¡H$s H$moUË`mhr EH$m {df`mda g{dñVa {bhm. [5]

A) g§JrV Am{U gm{hË`

~) Rw>_ar

H$) »`mb Jm`H$s





Total No. of Questions : 4]

[5808]-559

S.Y. B.A.
PSYCHOLOGY

DSE - 1B : Psychology of Abnormal Behaviour - II
(2019 CBCS Pattern) (Semester - IV) (24221)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P4241 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words. (Any four) [20]
a) Write the Diagnostic criteria of schizophrenia.
b) State the characteristics of personality disorder.
c) Explain the nature of Anti-social personality disorder.
d) Write the symptoms of insomnia disorder.
e) State the diagnostic criteria of hyperactivity.
f) What is learning disorder?

Q2) Answer the following questions in 200 words (Any two) [20]
a) explain the nature of schizophreniaform  disorder. Write the diagnostic

criteria of schizophreniaform  disorder.
b) Answer in brief the types of odd, eccentric personality disorder.
c) Explain the nature of internet & cell-phone addiction disorder.
d) Write the types of intellectual disability.

Q3) Answer the following questions in 400 words. (Any one) [20]
a) What is the schizophrenia? Describe the symptoms & causes of

schizophrenia disorder.
b) Explain in detail about Eating disorder.

Q4) Write short notes (Any Two) [10]
a) Histrionic personality disorder.
b) Dependent-personality disorder.
c) Autism disorder.
d) Communication disorder.


P.T.O.
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Total No. of Questions : 4]

[5808]-559

S.Y. B.A.
PSYCHOLOGY

DSE - 1B : Psychology of Abnormal Behaviour - II
(2019 CBCS Pattern) (Semester - IV) (24221)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4241

à.à.à.à.à.1) Imbrb àíZm§Mr àË òH$s 100 eãXmV CÎmao {bhm. (H$moUVohr Mma) [20]
A) {N>Þ_ZñH$VoMo {ZXmZmË_H$ {ZH$f {bhm.
~) ì`{º$_Ëd {dH¥$VrMo d¡{eîQ>ço gm§Jm.
H$) g_mO{dKmVH$ ì`{º$_Ëd {dH¥$VrMo ñdén ñnï> H$am.
S>) {ZÐmZmg {dH¥$VrMo bjUo {bhm.
B) A{V{H«$`m{ebVm {dH¥$VrMo {ZXmZmË_H$ {ZH$f gm§Jm.
\$) AÜ``Z {dH¥$Vr åhUOo H$m`?

à.à.à.à.à.2) Imbrb àíZm§Mo 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) {N>Þ_ZñH$VmdV _Zmo{d{jár {dH¥$VrMo ñdén ñnï> H$am. {ZXmZmË_H$ {ZH$f {bhm.
~) {dbjU {d{já ì`{º$_Ëd {dH¥$Vr JQ>mVrb ì`{º$_Ëd {dH¥$Vr àH$mam§Mo g§{já ñdénmV dU©Z

H$am.
H$) Am§VaOmi (B§Q>aZoQ>) Am{U «̂_UÜdZr AmgH$Vr {dH¥$VrMo ñdén {deX H$am.
S>) ~m¡{ÕH$ Aj_Vm {dH¥$VrMo àH$ma {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mo 400 eãXmV CÎmao {bhm. (H$moUVmhr EH$) [20]
A) {N>Þ_ZñH$Vm {dH¥$Vr åhUOo H$m`? {N>Þ_ZñH$Vm {dH¥$VrMo bjUo d H$maUo g{dñVa dU©Z H$am.
~) ImÊ`mer g§~§YrV {dH¥$VrMo g{dñVa dU©Z H$am.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUË`mhr XmoZ) [10]
A) CÝ_mXr ({hñQ´>m{ZH$) ì`{º$_Ëd {dH¥$Vr
~) Adb§~r ì`{º$_Ëd {dH¥$Vr
H$) ñd_½ZVm {dH¥$Vr
S>) g§àofU {dH¥$Vr





Total No. of Questions : 4]

[5808]-560
S.Y. B.A.

PSYCHOLOGY
DSE-2 B Theories of Personality

(2019 Pattern) (Semester - IV) (24222) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4242 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words each (Any four) [20]
a) Explain the misconception of personality.
b) Explain classification of personality given by Carl Jung.
c) Explain PEN model.
d) Explain any two ego defence mechanisms.
e) Explain OCEAN model.
f) Define personality.

Q2) Answer the following questions in 200 words each (any two) [20]
a) Explain the determinants of personality.
b) Discuss the concept of individual psychology given by Adler.
c)  Explain Bandura’s social congnitive theory.
d) Discuss person-centered theory of Carl Rogers.

Q3) Answer  the following questions in 400 wards each (any one) [20]
a) Explain in detail classical psychodynamic theory of Freud.
b) Define conditioning. Explain in detail classical conditioning.

Q4) Write short notes (any two) [10]
a) Ideographic Approach to personality.
b) Collective unconsciousness.
c) Types of conflict.
d) Types of needs.



P.T.O.



2[5808]-560

Total No. of Questions : 4]

[5808]-560
S.Y. B.A.

PSYCHOLOGY
DSE-2B Theories of Personality

(2019 Pattern) (Semester - IV) (24222) (CBCS)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4242

à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]
A) ì`{º$_Ëdm~m~V AgUmao J¡ag_O ñnï> H$am.
~) H$mb© ẁJ§ `m§Mo ì`{º$_Ëd dJuH$aU ñnï> H$am.
H$) ì`{º$_ËdmMo PEN àmê$n ñnï> H$am.
S>) H$moUË`mhr XmoZ Ah°_ g§ajU §̀ÌUm ñnï> H$am.
B) OCEAN AmoeZ àmê$n ñnï> H$am.
\$) ì`{º$_Ëd åhUOo H$m` Vo ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ì`{º$_ËdmMr {ZYm©aHo$ / {Z`m_Ho$ ñnï> H$am.
~) A°S>ba `m§À`m ì`{º$JV _mZgemó `m g§H$ënZoMr MMm© H$am.
H$) ~m§Sw>am `m§Mm gm_m{OH$ ~moY{ZH$ {gÕm§V ñnï> H$am.
S>) H$mb© am°Og© `m§À`m ì`{º$Ho$ÐtV {gÕm§VmMr MMm© H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 400 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]
A) S>m°. \«$m°B©S> `m§Mm A{^OmV _ZmoJ{VH$s {gÕm§V g{dñVa ñnï> H$am.
~) A{^g§YmZmMr ì`m»`m Xçm. A{^OmV A{^g§YmZ g{dñVa ñnï> H$am.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUË`mhr XmoZ) [10]
A) ì`{º$_ËdmMm ì`{º$gmnoj Ñï>rH$moZ
~) gm_wXm{`H$ A~moYmdñWm
H$) g§Kfm©Mo àH$ma
S>) àoaUm/JaOm§Mo àH$ma





Total No. of Questions : 4]

[5808]-561
S.Y. B.A.

PSYCHOLOGY
SEC - 1B : Positive Psychology

(2019 Credit Pattern) (Semester - IV) (24223)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4243 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 100 words each (any 4) [20]
a) What is traditional psychology?
b) What is the role of gender in happiness?
c) What is savouring?
d) Describe human virtues.
e) Explain disease model.
f) What is Psychological well being?

Q2) Answer the following questions in 200 words each. (any 2) [20]
a) Explain materialism and its discontents.
b) Explain Fredrickson’s Broaden & Build Theory of positive emotions.
c) Explain in detail about Nun Study.
d) What is happiness? Explain its two traditions.

Q3) Answer the following questions in 400 words each. (any 1) [20]
a) Elaborate various fields of positive psychology.
b) Explain the role of personality, emotions and Biology in positive traits.

Q4) Write short notes (any 2) [10]
a) Mindfullness.
b) Positive reapprisal.
c) Life above zero.
d) Marriage and happiness.



P.T.O.
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Total No. of Questions : 4]

[5808]-561
S.Y. B.A.

PSYCHOLOGY
SEC - 1B : Positive Psychology

(2019 Pattern) (Semester - IV) (24223)

 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZà{ÌH$m nhmdr.

P4243

à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]
A) nma§nm[aH$ ‘mZgemñÌ åhUOo H$m¶?
~) AmZ§Xr d¥Îmr‘Yrb qbJ- ŷ{‘H$m ñnï> H$am.
H$) AmZ§XmMm AmñdmX åhUOo H$m¶?
S>) ‘mZdr gX²JwU {deX H$am.
B) {dH$ma àmê$n {ddmX H$am.
’$) ‘mZ{gH$ Iwembr åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm (H$moUVohr XmoZ) [20]
A) ^m¡{VH$dmX Am{U Ë¶mVrb Ag§Vwï>Vm ñnï> H$am.
~) ’«o$S>[aH²$gZ ¶m§Mr {dñVma Am{U ~m§YUr gH$mamË‘H$ ^mdZm CnnÎmr ñnï> H$am.
H$) Zg© Aä¶mg g{dñVa ñnï> H$am.
S>) AmZ§Xr d¥Îmr åhUOo H$m¶ Vo gm§JyZ Ë¶mÀ¶m XmoZ na§nam ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]
A) gH$mamË‘H$ ‘mZgemñÌmMr {d{dY joÌo g{dñVa ñnï> H$am.
~) gH$mamË‘H$ JwU{deofm‘Yrb ì¶{º$‘Ëd, ^mdZm Am{U {OdemómMo ‘hÎd {deX H$am.

à.à.à.à.à.3) Q>rnm {bhm. (H$moUVohr XmoZ) [10]
A) ^mZmdñWm/‘ZgOJVm
~) gH$mamË‘H$ nyZ©‘yë¶m§H$Z
H$) eyÝ¶mn{bH$S>Mo OrdZ
S>) {ddmh Am{U AmZ§Xr d¥Îmr





Q1) Write the answer of the following questions. (any 01) [10]

a) What is counselling? Explain the nature and scope of counselling.

b) Explain helping process in relation to R-U-C model.

Q2) Write the answer of the following questions. (any 01) [10]

a) Illustrate that, who are counsellor? And who are helper?

b) Discuss on communication skills and action skills in counselling.

Q3) Short Notes. (any 01) [5]

a) Dimensions of helping relationship.

b) Getting support.


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Total No. of Questions: 3]

[5808]-562
S.Y. B.A.

PSYCHOLOGY
SKILL ENHANCEMENT COURSE

SEC-2B : Basic Counselling Skills
(2019 Pattern) (Semester - IV) (24224) (CBCS)

(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm:

1) gd© àíZ Amdí`H$ AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

P4244

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr 01) [10]

A) g_wnXoeZ åhUOo H$m`? g_wnXoeZmMo ñnê$n d ì`már ñnï> H$am.

~) R-U-C àmê$nmÀ`m ghmæ`mZo _XV à{H«$`m g{dñVa ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr 01) [10]

A) g_wnXoeH$ H$moUmg åhUmdo? Am{U _XVZrg H$moUmg åhUmdoo? gmoXmhaU ñnï> H$am.

~) g_wnXoeZmVrb "g§dmX H$m¡eë`' Am{U "H¥$Vr H$m¡eë`' `mda MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm. (H$moUVrhr 01) [5]

A) _XV H$aUmè`m ZmVog§~§Ym§À`m n[a{_Vr.

~) g_W©Z {_iUo.


2



Total No. of Questions : 4]

[5808]-563
S.Y. B.A.
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4245 [Total No. of Pages : 2

SEAT No. :

Q1) Write Answer in 50 words (Any Three): [15]
a) Explain Gandhiji’s thought on science.
b) Briefly explain Gandhiji’s idea of Ecological balance.
c) Briefly explain Gandhiji’s concept of Swadeshi.
d) Explain Gandhiji’s concept of self-control.
e) Explain Gandhiji’s idea of prohibition of liquor.

Q2) Write Answer any three of the following question in 50 words each: [15]
a) Explain Gandhiji’s idea of religious harmony.
b) Discuss any five sickness of modern human society.
c) Explain the importance of Adult-Education stated by Gandhiji.
d) Discuss Gandhiji’s opinion on social discrimination against women.
e) According to Gandhiji problem of unemployment.

Q3) Write short notes on any two of the following in 200 words each: [20]
a) Swadeshi.
b) Varn - dharm.
c) Gandhiji’s critique on social descrimination.
d) Trusteeship.

Q4) Answer any of the following questions in 400 words each : [20]
a) Explain in detail Gandhiji’s views on poverty and population explosion.
b) Explain in detail Gandhiji’s views on the prevention of untouchability.


P.T.O.
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Total No. of Questions : 4]

[5808]-563
S.Y. B.A.

GANDHIAN THOUGHT
CC - 2D : Gandhian Thought and Contemporary Problems

 (CBCS - 2019 Pattern) (Semester - IV) (General Paper - II) (24233)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4245

à.à.à.à.à.1) 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ). [15]
A) Jm§YrOtMo {dkmZ {df¶rMo {dMma ñnï> H$am.
~) n¶m©daUr¶ g‘Vmob {df¶H$ Jm§YrOtMo {dMma WmoS>³¶mV ñnï> H$am.
H$) Jm§YrOtMr "ñdXoer' g§H$ënZm WmoS>³¶mV ñnîQ> H$am.
S>) Jm§YrOtMr "AmË‘-{Z¶§ÌU' g§H$ënZm ñßmï> H$am.
B) Jm§YrOtMo Xmê$~§Xr {df¶H$ {dMma ñnï> H$am.

à.à.à.à.à.2) 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ). [15]
A) J§mYrOtMm Ym{‘©H$-gwg§dmXm {df¶r {dMma {deX H$am.
~) AmYw{ZH$ ‘mZd Am{U g‘mOmÀ¶m AmOmanUm {df¶r Jm§Yr¶Z {ZXmZmMo {ddoMZ H$am.
H$) Jm§YrOtÀ¶m àm¡T> {ejU {df¶H$ {dMmam§Mo ‘hËd ñnï> H$am.
S>) Jm§YrOtMo ñÌr¶m§À¶m gm‘m{OH$ ôX^md {df¶H$ {dMmam§Mo {ddoMZ H$am.
B) Jm§YrOtZm AZwgê$Z ~oamoOJma {df¶H$ g‘ñ¶oMr MMm© H$am.

à.à.à.à.à.3) WmoS>³¶mV {Q>nm {bhm àË¶oH$s 200 eãXmV (H$moUVohr XmoZ). [20]
A) "ñdoXer' g§H$ënZm
~) dU©-Y‘© g§H$ënZo {df¶r Jm§YrMo ‘V
H$) Jm§YrOtMr AmYw{ZH$ g‘mO {M{H$Ëgm
S>) {dídñV g§H$ënZm

à.à.à.à.à.4) 400 eãXmV CÎma {bhm. (H$moUVohr EH$). [20]
A) AmYw{ZH$ g‘mOmVrb Xm[aÐ¶, Am{U bmoH$g§»¶m {dñ’$moQ> ¶m {df¶rMo Jm§YtMo {ddoMZ g{dñVa

{deX H$am.
~) Añn¥í¶Vm {ZH$aU {df¶H$ Jm§YrOtMo {dMma g{dñVanUo ñnï> H$am.





Q1) Answer any five of the following questions in one sentence. [5]

a) What is another name for Ashtangyog?

b) What is Kapalbhati?

c) State the names of Ashtkumbhaka?

d) State the names of Panchklesha?

e) State the definition of health?

f) What is Yoga?

g) What is the standard text in yoga?

Q2) Write the short note (Any two) : [10]

a) Pachhimottanasana

b) Kapalabhati

c) Pranayama

Total No. of Questions : 4]

[Total No. of Pages : 4

[5808]-564
S.Y. B.A.  (Semester - IV)
CC-1.D : YOG VIDYA - IV
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Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) All questions carry equal marks.
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Q3) Answer any two of the following questions in 150 words. [20]

a) Explain the importance and uses of yoga?

b) Explain the types and importance of Shuddhikriya?

c) Explain the types and importance of Asana?

Q4) Answer any one of the following questions in detail. [15]

a) Explain the role of yoga in the educational process.

b) Summarize the book Yogasangram?





Total No. of Questions : 4]

[5808]-564
S.Y. B.A.  (Semester - IV)
CC-1.D : YOG VIDYA - IV
(2019 Pattern) (24243)

(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 50

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$.
2) COdrH$S>rb A§H$ àíZmMo nwU© JwU Xe©{dVmV.

3) gX§̂ m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ  1) Imbrbn¡H$s H$moUË`mhr nmM àým§Mr EH$ dmŠ`mV CÎmao Úm. [5]

A) Að>m§J`moJmMo Xÿgao Zmd H$m`?

~) H$nmb^mVr H$m` Amho.

g) Að> Hw$å^H$m§Mr Zmdo gm§Jm.

X) n§M Šbofm§Mr Zmdo gm§Jm.

B) Aamo½`mMr ì`m»`m gm§Jm.

\$) `moJ åhUOo H$m`?

`) `moJmdarb à_mU ŵV J«§W H$moUVm?

àíZ  2) {Q>nm Úm. (H$moUË`mhr XmoZ) : [10]

A) npíM_moÎmmZmgZ

~) H$nmb^mVr

g) àmUm`m_

P4246

3 P.T.O.
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àíZ  3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr 150 eãXm§V CÎmao Úm. [20]

A) `moJemómMo _hËd d Cn`moJ gm§Jm.

~) ew{ÕH«$s`m§Mo àH$ma d _hËd gm§Jm.

H$) AmgZmMo àH$ma d _hËd gm§Jm.

àíZ  4) Imbrbn¡H$s H$moUË¶mhr EH$m àým§Mo g{dñVa CÎma Úm. [15]

A) e¡j{UH$ à{H«$ òV `moJmMm hmoUmam Cn`moJ ñnï> H$am.

~) `moJg§J«m_ `m J«§WmMm gmam§e gm§Jm.





Total No. of Questions : 4]

[5808]-565

S.Y. B.A.
HISTORY

G2:- History of Civilization
CC - 1D : Cultural History of Maharashtra and Heritage (Maratha Period)
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4247 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 300 words (any one) [15]
a) Write the reason for the rise of the Maratha power.

OR
b) Explain the history of Marathi language in details.

Q2) Answer the following questions in 300 words (any one) [15]
a) Explain the festival and celebration in Maratha period.

OR
b) Explain the Alutedari and Balutedari system.

Q3) Answer the following questions in 200 words (any two) [20]
a) Discuss about women life in the Maratha Empire.
b) Explain the social life of Peshwa period.
c) Explain the economic life in Maratha period.
d) Explain the painting and sculpture in Maharashtra.

Q4) Short notes (any four) [20]
a) Maharashtra Dharma (concept)
b) Swarajya.
c) Temple in Maharashtra.
d) Powada and Lavni.
e) Chauthai (Quarter)
f) Fortes Architecture in Maharashtra.



P.T.O.
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Total No. of Questions : 4]

[5808]-565

S.Y. B.A.
HISTORY

G2:- History of Civilization
CC - 1D : Cultural History of Maharashtra and Heritage (Maratha Period)

(CBCS) (2019 Pattern) (Semester - IV) (24253)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ A{Zdm ©̀ AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

P4247

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVohr EH$) [15]
A) _amR>r gÎmoÀ`m CX²̀ mMr H$maUo {bhm.

qH$dm
~) _amR>r ^mfoMm B{Vhmg g{dñVa ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVohr EH$) [15]
A) _amR>m H$mbrZ gU d CËgd `mMr _m{hVr {bhm.

qH$dm
~) AmbwVoXmar d ~bwVoXmar nÕV ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXmV CÎma Úm. (H$moUVohr XmoZ) [20]
A) _amR>m H$mbrZ ór-OrdZ ñnï> H$am.
~) noedoH$mbrZ g_mO OrdZmMm AmT>mdm ¿`m.
H$) _amR>m H$mbrZ AW© OrdZ ñnï> H$am.
S>) _hmamï´>mVrb _yVuH$bm d {MÌH$bm ñnï> H$am.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUVohr Mma) [20]
A) _hmamï´> Y_©
~) ñdamÁ`
H$) _hmamï´>mVrb _§{Xao
S>) nmodmS>m d bmdUr
B) Mm¡WmB©
\$) _hmamï´>mVrb {H$„o ñWmnË`





Total No. of Questions : 4]

[5808]-566
S.Y. B.A.

HOME ECONOMICS
CC - 1D G  - 2 : Indian Family Welfare
(2019 Pattern) (Semester - IV) (24263)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figures to the right incicate full marks.

P6803 [Total No. of Pages : 4

SEAT No. :

Q1) Write the answers to the following questions in 20 words each. (Any eight)[16]

a) Explain Marriage.

b) Explain the classification of Marriage.

c) Describe the type of marriage that depends on the number of spouses.

d) Marriage is one of the sixteen rites in Hinduism.

e) What is Family Organization.

f) State two consequences of family break up.

g) What is the final stage of family break up?

h) What is Family Welfare?

i) According to which section free and compulsory, education is given to
children below 14 years?

j) When was the Hindu Marriage Act enacted?

Q2) Write the answer to the following questions in 50 words each. (Any four)[16]

a) Explain the concept of Marriage institution in India.

b) Explain the types of Marriage based on relationships.

c) Explain the nature of Family organization.

d) Explain the concept of ‘Family organization’.

e) Explain the constitutional provisions regarding Child Welfare.

f) Explain the concept of ‘Family Welfare’.

P.T.O.
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Q3) Write the answers to the following questions in 150 words each. (Any three)[18]

a) Explain the nature of Marriage institution in Indian Society.

b) Explain the reasons for Family break up?

c) Explain the importance of Family Welfare.

d) Explain the various problems of Women in India.

Q4) Write the answer to the following questions in 300 words each. (Any two)[20]

a) What is Marriage? Explain the different types of Marriage.

b) What is Social stratification? Explain the features of social stratification.

c) What is Child Welfare? Explain in detail the services provided by the
Government for Child Welfare.


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Total No. of Questions : 4]

[5808]-566
S.Y. B.A.

HOME ECONOMICS
CC - 1D G  - 2 : Indian Family Welfare
(2019 Pattern) (Semester - IV) (24263)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P6803

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]

A) {ddmhmMr ì¶m»¶m Xçm.

~) {ddmhmMo  dJuH$aU gm§Jm.

H$) OmoS>rXmamÀ¶m g§»¶odê$Z nS>Umao {ddmhmMo àH$ma gm§Jm.

S) {ddmh hm qhXÿ Y‘m©Vrb gmoim g§ñH$mam§n¡H$s {H$Vdm g§ñH$ma Amho?

B) Hw$Qy>§~ g§KQ>Z åhUOo H$m¶?

’$) Hw$Qy>§~ {dKQ>ZmMo XmoZ n[aUm‘ gm§Jm.

¶) Hw$Qy>§~ {dKQ>ZmMr A§{V‘ AdñWm H$moUVr Amho?

a) Hw$Qy>§~ H$ë¶mU åhUOo H$m¶?

b) H$moUË¶m H$b‘mZwgma 14 dfm©Imbrb ~mbH$m§Zm ‘mo’$V d gº$sMo {ejU {Xbo OmVo?

d) qhXÿ {ddmh H$m¶Xm Ho$ìhm H$aÊ¶mV Ambm?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma>) [16]

A) ^maVmVrb {ddmh g§ñWoMr g§H$ënZm ñnï> H$am.

~) ZmVog§~§YmÀ¶m AmYmao AgUmao {ddmhmMo àH$ma ñnï> H$am.

H$) Hw$Qy>§~ g§KQ>ZmMo ñdê$n ñnï> H$am.

S) "Hw$Qy>§~ g§KQ>Z' g§H$ënZm ñnï> H$am.

B) ~mb H$ë¶mU g§X^m©V Ho$boë¶m KQ>ZmË‘H$ VaVwXr ñnï> H$am.

’$) "Hw$Qy>§~ H$ë¶mU' g§H$ënZm ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 150 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) ^maVr¶ g‘mOmVrb {ddmh g§ñWoMo ñdê$n ñnï> H$am.

~) Hw$Qy>§~ {dKQ>ZmMr H$maUo ñnï> H$am.

H$) Hw$Qy>§~ H$ë¶mUmMo ‘hËd ñnï> H$am.

S) ^maVmVrb {ñÌ¶m§À¶m {d{dY g‘ñ¶m ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) {ddmh åhUOo H$m¶? {ddmhmMo {d{dY àH$ma ñnï> H$am.

~) gm‘m{OH$ ñVarH$aU åhUOo H$m¶? gm‘m{OH$ ñVarH$aUmMr d¡{eï>ço ñnï> H$am.

H$) ~mb H$ë¶mU åhUOo H$m¶? ~mb H$ë¶mUmgmR>r gaH$maH$Sy>Z nwa{dë¶m OmUmè¶m godm g{dñVa
{deX H$am.





Q1) Answer the following questions in 100 words each (any three) : [15]
a) What are the Special right of Jammu and Kashmir under Article 370.
b) Explain the Meaning and Concept of Naxalism.
c) What is Terrorism?
d) What is Counter-Terrorism.
e) Explain the Meaning and Concept of Cyber Crime.

Q2) Answer the following questions 200 words (any one) : [15]
a) Explain in detail Jammu and Kashmir Problem.
b) Describe the Causes of Naxalism.

Q3) Answer the following questions in 200 words each (any two) : [20]
a) Describe in detail the Strategic Importance of Jammu and Kashmir.
b) Explain the Origin and Development of Naxalism.
c) What are the Preventive Measures against Terrorism.
d) What are the Basic instruments of Cyber Crime?

Q4) Write Short Notes (any four) : [20]
a) Article 35 A.
b) Changing Nature of Naxalist movements.
c) Counter Terrorism.
d) Types of Cyber Crime.
e) Effects of Naxalism on National Security
f) Types of Terrorism.



Total No. of Questions : 4]

[Total No. of Pages : 3
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Total No. of Questions: 4]

[5808]-567
S.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
D.S. - S-1 (DSE-1 B) : India's Internal Security - II

(New) (2019 Pattern) (CBCS) (Semester - IV) (24271)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4248

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [15]

A) H$b_ 370 A§VJ©V Oå_y H$mí_rabm H$moUVo {deof A{YH$ma AmhoV?

~) ZjbdmXmMm AW© Am{U g§H$ënZm ñnï> H$am.

H$) XheVdmX åhUOo H$m`?

S>) à{VXheVdmX åhUOo H$m`?

B) g§JUH$ qH$dm gm`~a JwÝhçm§Mm AW© Am{U g§H$ënZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXmV {bhm. (H$moUVmhr EH$) [15]

A) Oå_y Am{U H$mí_ra g_ñ`m g{dñVa ñnï> H$am.

~) ZjbdmXmMr H$maUo {deX H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) Oå_y Am{U H$mí_raMo gm_[aH$ _hËd g{dñVa {deX H$am.

~) ZjbdmXmMm CX` Am{U {dH$mg ñnï> H$am.

H$) XheVdmXm{dê$X²Y à{V~§YmË_H$ Cnm` H$moUVo?

S>) gm`~a qH$dm g§JUH$ JwÝhçm§Mr _wb ŷV gmYZo qH$dm CnH$aUo H$moUVr?

2
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àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr Mma) [20]

A) H$b_ 35 A>

~) ZjbdmXr MidirMo ñdê$n

H$) à{VXheVdmX

S>) gm`~a JwÝh`m§Mo àH$ma

B) ZjbdmXmMo amï´>r` gwajodarb n[aUm_

\$) XheVdmXmMo àH$ma





Total No. of Questions : 4]

[5808]-568
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
DSE - 2B - S - 2 : Military Geography

(CBCS) (2019 Pattern) (Semester -IV) (24272)

Time :2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks

P4249 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 100 words each (any three): [3×5=15]
a) Explain the meaning and concept of Geo-Strategy.

b) Write the uses of Military Geography.

c) What is Sea warfare?

d) Write the characteristics of Plain warfare.

e) Explain the significance of Military Geography.

Q2) Answer the following questions in 300 words each (any one) [1×15=15]
a) Explain in detail characteristics of Jungle warfare.

b) Explain in detail meaning and concept of Military-Geography.

Q3) Answer the following questions in 200 words each (any two) [2×10=20]
a) State the uses of Geo-strategy.

b) State the scope of Military geography.

c) What is Air warfare?

d) Explain logistic management in Desert warfare.

Q4) Write short notes (any four): [4×5=20]
a) Plain warfare.

b) Geography.

c) Terrain.

d) High Altitude areas warfare

e) Amphibious Warfare.

f) Defence.

 P.T.O.
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Total No. of Questions : 4]

[5808]-568
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
DSE - 2B - S - 2 : Military Geography

(CBCS) (2019 Pattern) (Semester -IV) (24272)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amde¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4249

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm (H$moUVohr VrZ) [3×5=15]

A) ŵ¶wÕ{ZVrMm AW© Am{U g§H$ënZm ñnï> H$am.
~) bîH$ar ŷJmobmMo Cn¶moJ {bhm.
H$) gmJar ¶wÕ åhUOo H$m¶?
S>) ‘¡XmZr àXoemVrb ¶wÕmMr d¡{eîQ>ço {bhm.
B) bîH$ar ŷJmobmMo ‘hËd ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm (H$moUVohr EH$) [1×15=15]

A) O§Jb¶wº$ àXoemVrb ¶wÕmMr d¡{eîQ>ço g{dñVa gm§Jm.
~) bîH$ar ŷJmobmMm AW© Am{U g§H$ënZm g{dñVa ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm (H$moUVohr XmoZ) [2×10=20]

A) ŵ¶wÕ{ZVrMo Cn¶moJ gm§Jm.
~) bîH$ar ŷJmobmMr ì¶már gm§Jm.
H$) hdmB© ¶wÕnÕVr åhUOo H$m¶?
S>) dmid§Q>r àXoemVrb ¶wÕmMo nwadR>m ì¶dñWmnZmMo ñnï>rH$aU Úm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) ‘¡XmZr àXoemVrb ¶wÕ
~) ^yJmob
H$) ^yàXoe
S>) nd©Vr¶ àXoemVrb ¶wÕnÕVr
B) Epå’$~rAmog ¶wÕnÕVr
’$) g§ajU





Total No. of Questions : 4]

[5808]-569
S.Y. B.A.

DEFENCE & STRATEGIC STUDIES
CC - 1D - G - 2: Chhatrapati Shivaji Maharaj Military System

(2019 Pattern) (Semester - IV) (24273)

Time : 2½ Hours] [Max. Marks : 70

P4250 [Total No. of Pages : 2

SEAT No. :

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer the following questions in 100 words each. (Any Three) [15]
a) State the strategy of Chhatrapati Shivaji Maharaj.
b) What are the features of the fort system of  Chhatrapati Shivaji Maharaj?
c) State the Chhatrapati Shivaji Maharaj’s policy regarding armor.
d) Explain the naval policy of Chhatrapati Shivaji Maharaj.
e) What is a fort?

Q2) Answer the following questions in 300 words each. (any one) [15]
a) Explain the principles of guerrilla warfare.
b) Explain the organization and structure of the Maratha army under the

leadership of Chhatrapati Shivaji Maharaj.

Q3) Answer the following questions in 200 words each. (any two) [20]
a) Explain the features of guerrilla warfare.
b) State the vision of Chhatrapati Shivaji Maharaj in naval development.
c) Explain the origin of Chhatrapati Shivaji Maharaj Indian Navy.
d) Explain the organization of forts under the leadership of Chhatrapati

Shivaji Maharaj.

Q4) Write Short notes (any four). [20]
a) Importance of sea forts in the time of Chhatrapati Shivaji Maharaj.
b) Cavalry
c) Types of forts
d) Characteristics of the military system of Chhatrapati Shivaji Maharaj
e) Guerrilla warfare
f) Strategic importance of forts


P.T.O.
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Total No. of Questions : 4]

[5808]-569
S.Y. B.A.

DEFENCE & STRATEGIC STUDIES
CC - 1D - G - 2: Chhatrapati Shivaji Maharaj Military System

(2019 Pattern) (Semester - IV) (24273)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

P4250

à.à.à.à.à.1) Imbrb àíZmMr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [15]
A) N>ÌnVr {edmOr ‘hmamOm§Mr ¶wÕZrVr gm§Jm.
~) N>ÌnVr {edmOr ‘hmamOm§À¶m {H$„m ì¶dñWoMr d¡{eï²>¶o H$moUVr?
H$) N>ÌnVr {edmOr ‘hmamOm§Mo Ama‘mam~m~VMo YmoaU gm§Jm.
S>) N>ÌnVr {edmOr ‘hmamOm§Mo Zm{dH$ YmoaU ñnï> H$am.
B) {H$ëbo åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZmMr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [15]
A) J{Z‘r H$mdm ¶wÕnÜXVrMo VËdo ñnï> H$am.
~) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb ‘amR>m g¡Ý¶mMo g§KQ>Z d g¡Ý¶mMr aMZm ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZmMr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) J{Z‘r H$mdm ¶wÕnÜXVrMo d¡{eï²>¶o ñnï> H$am.
~) Zm¡Xb {dH$mgmVrb N>ÌnVr {edmOr ‘hmamOm§Mr XÿaÑï>r gm§Jm.
H$) N>ÌnVr {edmOr ‘hmamO ^maVr¶ Zm¡XbmMo OZH$ ñnï> H$am.
S>) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb {H$ëë¶m§Mr g§KQ>Zm ñnï> H$am.

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr Mma) [20]
A) N>ÌnVr {edmOr ‘hmamOm§À¶m H$mimVrb gmJar {H$ë¶m§Mo ‘hËd
~) KmoS>Xb
H$) {H$ëë¶m§Mo àH$ma
S>) N>ÌnVr {edmOr ‘hmamOm§À¶m bîH$ar ì¶dñWoMr d¡{eï²>¶o
B) J{Z‘r ¶wÕV§Ì
’$) {H$ë¶m§Mo gm‘[aH$ ‘hËd





Total No. of Questions : 3]

[5808]-571

S.Y. B.A.
DEFENCE AND STRATEGIC STUDIES

Skill Enhancement Course (Value / Skill Based Course)
SEC - 2B : Introduction to Cyber Security/Information Security

(2019 Pattern) (Semester - IV) (24275) (CBCS)

Time : 2 Hours] [Max. Marks : 25

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P4251 [Total No. of Pages : 4

SEAT No. :

Q1) Select the correct option for and rewrite the statement. [5]

a) When was the internet introduced in India?

i) 1982 ii) 1984

iii) 1986 iv) 1988

b) It is not included in the traditional media.

i) News papers ii) Magazines

iii) Books iv) CDs

c) Who invented messer technology?

i) Theodore Harold Maiman

ii) Charles Hard Townes

iii) Charles Townes

iv) Theodore Maiman

d) Whose role in important in information technology?

i) Internet ii) Computer

iii) Facebook iv) Television

e) This is not the type of computer.

i) Desktop ii) Laptop

iii) Tablets iv) Radio

P.T.O.
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Q2) Write the Answer in 100 words (any three) [12]

a) Explain cyber security policy.

b) Explain the main features of communication.

c) What is an unsecured network connection?

d) Advantages and disadvantages of Password.

e) What are the elements of communication?

Q3) Write the answers in 200 words (any one) [8]

a) Explain the use of internet.

b) Explain the types of cyber crimes in detail.


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Total No. of Questions : 3]

[5808]-571

S.Y. B.A.
DEFENCE AND STRATEGIC STUDIES

Skill Enhancement Course (Value / Skill Based Course)
SEC - 2B : Introduction to Cyber Security/Information Security

(2019 Pattern) (Semester - IV) (24275) (CBCS)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4251

à.à.à.à.à.1) `mo½` n`m©̀  {ZdSy>Z {dYmZo naV {bhm. [5]

A) ^maVmV B§Q>aZoQ>Mr gwédmV H$Yr Pmbr?

i) 1982 ii) 1984

iii) 1986 iv) 1988

~) nma§n[aH$ àgma_mÜ`_mV `mMm g_mdoe hmoV Zmhr.

i) dV©_mZnÌo ii) {Z`VH$m{bHo$

iii) nwñVHo$ iv) {gS>r

H$) _oga V§ÌkmZmMm emoY H$moUr bmdbm.

i) {WAm°S>moa hoam°ëS> _°_Z ii) Mmëg© hmS>© Q>mD$Ýg

iii) Mmëg© Q>mD$Ýg iv) {WAm°S>moa _°_Z

S>) _m{hVr V§ÌkmZm_Ü ò H$moUmMr ŷ{_H$m _hÎdmMr AgVo?

i) B§Q>aZoQ> ii) g§JUH$

iii) \o$g~wH$ iv) Q>o{bpìhOZ

B) hm g§JUH$mMm àH$ma Zmhr.

i) S>oñH$Q>m°n ii) b°nQ>m°n

iii) Q>°ãboQ> iv) ao{S>Amo
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à.à.à.à.à.2) 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [12]

A) gm`~a gwajm YmoaU ñnï> H$am.

~) g§dmXmMr _w»` d¡{eï>o ñnï> H$am.

H$) Agwa{jV ZoQ>dH©$ H$ZoŠeZ åhUOo H$m`?

S>) nmgdS>©Mo \$m`Xo - VmoQ>o gm§Jm.

B) H$å ẁ{ZHo$eZMo KQ>H$ H$moUVo?

à.à.à.à.à.3) 200 eãXmV CÎmao {bhm. (H$moUVmhr EH$) [8]

A) B§Q>aZoQ>Mo Cn`moJ {dfX H$am.

~) gm`~a JwÝøm§Mo àH$ma g{dñVa ñnï> H$am.





Total No. of Questions 5]

[5808]-572
S.Y.B.A.

G-II : COMMERCE
CC-1D : Financial Accounting & Computerized Accounting

 (2019 Pattern) (Semester-IV) (24293)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P6769 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks by selecting proper words from brackets. [7]
a) Cash column of cash Book can never have _____Balance.

[Credit , Debit, zero, None of the above]

b) Debit balance of Trading Account means_____

[Gross loss, Net Profit, Net loss]

c) Sub - Division of journal in known as_____.

[Subsidiary Book, Purchase Book, Journal proper, sales book]

d) _____is excess of Assets over Liabilities.

[Goodwill, capital, Investments, Drawing]

e) Any entry recorded on both side of Cash Book is known as
_____Entry.

[Transfer, Rectifying, opening, contra]

f) ______is a statement which shows the Financial position of business
on a specific date.

[Trial balance, Balance sheet , Trading Alc, Profit & loss A/c]

g) ______is a written piece or evidance of business transaction.

[Bill, Voucher, Debit note, Pass book]

B) State True or False. [7]
a) Journal is  a book of secondary book.

b) Cash and credit purchase is known are entered in Purchased Book.

c) In every adjustment atleast there are 3 effects

P.T.O.
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d) Income Due but not received is a liability.
e) Credit Balance of Profit and loss account shows Net Profit.
f) Every item of Trial Balance has only one effect.
g) Goodwill is an intangible asset.

Q2) Answer the following questions in one or two sentence [14]
a) What is Trial Balance?
b) What is Debit note?
c) What is Balance sheet?
d) What is financial year?
e) Write 4 Types of subsidiary-Books?
f) What is cash book?
g) What do you mean by Subsidary-Books?

Q3) a) Enter the Following transaction in the simple Cash Book of M/s Bharat
Traders. [12]

2021 July 1. Started business with cash MMMMM 1,00,000
3. Deposited cash in to bank MMMMM 80,000
5. Purchased stationery for cash MMMMM 2,000
7. Cash purchase MMMMM 15,000
8. Sold goods for cash M M M M M 20,000 at 8% Trade Discount.
9. Paid Insurance Premium MMMMM 5,000
12. Paid cash to Dixit MMMMM 10,000
15. Received cash from Ahuja MMMMM 80,000
17. Received commission MMMMM 2,000
18. Drew For domestic use MMMMM 4,000
22. Sold old Furniture MMMMM 5,000
25. Paid Salary to Ram MMMMM 6,000
30. Received Interest MMMMM 4,000

OR
b) Explain Advantages and Disadvantages of Accounting software indetail.

[12]
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Q4) a) From the following Trial Balance of Rima Enterprises you are require to
prepare Trading Account, Profit and loss Account for the year eding on
31st March 2021 and Balance sheet as on that same date. [20]

Trial Balance as on 31st March 2021

Particulars DebitMMMMM CreditMMMMM

Opening stock 45,200

Capital 3,00,000

Drawings 20,000

Furniture 60,000

Prepaid Insurance 1,770

Debtors and Creditors 70,000 1,29,250

Purchases and sales 57,000 1,20,000

Plant and Machinery 50,000

Investment 68,000

Factory Insurance 26,000

Audit Fees 21,000

Carriage Inword 1,800

Land and Building 1,40,000

Rent 7,120

Reserve for Bad debts - 6,000

Carriage outword 8,360

Returns 2,000 9,000

Discount 1,000 7,000

Commission Received - 8,000

Total 5,79,250 5,79,250
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Adjustments:

1) Write of Bad debts M M M M M 2,000 and provide 2.5% reserve for baddebts on
debtors.

2) Closing stock valued at cost price M M M M M 46,000 and market price 40,000.

3) Provide Depreciation @ 5% on Building and 10% on machinery.

4) Rent prepaid M M M M M 3560.

5) Outstanding Carriage Inword is M M M M M 1,200.

OR

b) What do you meant by voucher? Explain How to create various type of
voucher in tally software. [20]

Q5) Write short notes (any two). [10]

a) Cash Book

b) Depreciation

c) Balance sheet

d) RDD





Q1) Write the answer of the following questions in 50 words each. (Any Three)[15]

a) What are the functions of State Council for Educational training and
Research (SCERT).

b) What are the principles of curriculum development.

c) Write the need of ICT.

d) Write the duties of District Education officer.

e) What are the aims of curriculum.

Q2) Write the answers of the following questions in 100 words each (any Two)[20]

a) Explain the structural approach of the curriculum.

b) Explain the functions of National Council for Educational Research and
Training.

c) Explain importance of ICT in teaching.

d) Explain the structure of state education administration.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5808]-573
S.Y. B.A.

EDUCATION
CC-ID : Practices in Education - II

(2019 Pattern) (Semester - IV) (24303)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.

P4252
SEAT No. :

P.T.O.
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Q3) Write the Answer of any one question in 300 words. [20]

a) Explain the importance of ICT in

i) Learning process

ii) Education research

iii) Education administration.

iv) Education evaluation

b) Explain the types of curriculum in details.

Q4) Write short notes in 50 words each (Any three) [15]

a) Concept of curriculum development.

b) Characteristics of Education management.

c) Duties of Block Education officer.

d) Concept of ICT

e) Skills of ICT teacher.


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Total No. of Questions : 4]

[5808]-573
S.Y. B.A.

EDUCATION
CC-1D : Practices in Education - II

(2019 Pattern) (Semester - IV) (24303)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4252

àíZ 1) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]

A) amÁ¶ e¡j{UH$ g§emoYZ d à{ejU n[afX (S.C.E.R.T.)  H$m¶©o H$moUVr?

~) Aä¶mgH«$‘ {dH$mgZmMr VËdo H$moUVr?

H$) ‘m{hVr g§àofU V§ÌkmZmMr JaO {bhm.

S>) {Oëhm {ejU A{YH$mè¶m§Mr H$m¶©o {bhm.

B) Aä¶mgH«$‘mMr Ü¶o¶ H$moUVr?

àíZ 2) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) Aä¶mgH«$‘mMm aMZmË‘H$ Ñ{ï>H$moZ ñnï> H$am.

~) amï´>r¶ e¡j{UH$ g§emoYZ d à{ejU n[afXoMr (NCERT) H$m¶©o ñnï> H$am.

H$) ‘m{hVr d g§àofU V§ÌkmZmMr AÜ¶mnZmVrb ‘hËd ñnîQ> H$am.

S>) amÁ¶ e¡j{UH$ àemgZmMm AmamIS>m ñnîQ> H$am.

P.T.O.
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àíZ 3) Imbrbn¡H$s EH$m àíZm§Mo CÎma 300 eãXm§V {bhm. [20]

A) ‘m{hVr d g§àofU V§ÌkmZmMr Imbrb joÌmVrb Cn¶wº$Vm ñnï> H$am.

i) AÜ¶¶Z à{H«$¶m

ii) e¡j{UH$ g§emoYZ

iii) e¡j{UH$ àemgZ

iv) e¡j{UH$ ‘yë¶‘mnZ

~) Aä¶mgH«$‘mMo àH$ma g{dñVa ñnï> H$am.

àíZ 4) àË¶oH$s 50 eãXm§V Q>rnm {bhm. (H$moUVohr XmoZ) [15]

A) Aä¶mgH«$‘ {dH$gZmMr g§H$ënZm

~) e¡j{UH$ ì¶dñWmnZmMr d¡{eï>ço

H$) JQ> {ejU A{YH$mè¶m§Mr H$m¶©o

S>) ‘m{hVr d g§àofU V§ÌkmZmMr (I.C.T) g§H$ënZm

B) I.C.T {ejH$m§Mr H$m¡eë¶o





Total No. of Questions : 4]

[5808]-574
S.Y. B.A.

MATHEMATICS
CC-1D : Financial Mathematics -IV (Optimization Techniques)

 (2019 Pattern) (Semester-IV)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of logarithmic table and calculator is allowed.
4) Graph paper will be supplied on demand.

P4262 [Total No. of Pages : 5
SEAT No. :

Q1) Attempt any five of the following. [10]

i) Define critical activity in a project. Write the necessary and sufficient
conditions for critical activity.

ii) Write any two differences between PERT and CPM.

iii) Write any two assumptions of sequencing problem.

iv) Explain the term Gradual failure.

v) Write the Hessian matrix for real valued function 1 2 3( , , )f x x x of three
variables.

vi) Explain pure strategy and mixed strategy for two person zero sum game.

vii) Find maximin and minimax of the following game.

Player B

1 2

   1 5 3

Player A

   2 4 2

P.T.O.
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Q2) Attempt any four of the following. [20]

i) Draw the network for the following information.

Activity: A B C D E F G H

Predecessor(s): - - A A B,C B,C D E

ii) Find the sequence that minimizes the total elapsed time required to
complete the following jobs. Also find idle time of each machine.

No. of Jobs : 1 2 3 4 5 6

Machine A:

(Time in hrs) 4 8 3 6 7 5

Machine B:

(Time in hrs) 6 3 7 2 8 4

iii) Reduce the following game by dominance principle and hence solve it.

Player-B

B1 B2 B3 B4

A1 8 10 9 14

Player-A A2 10 11 8 12

A3 13 12 14 13

iv) Calculate Earliest start time and Latest finish time of each node for the
following network using forward pass and backward pass method
respectively. Hence find critical path.
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v) The following table gives the running costs per year and resale price of a
certain equipment whose purchase price is Rs. 50,000. At what year is
the replacement due?

Year : 1 2 3 4 5 6

Running cost (Rs.) : 7,500 8,000 8,500 9,000 10,000 12,250

Resale value (Rs.) : 45,000 40,500 37,500 36,000 34,000 33,250

vi) Find the maximum or minimum of the function
2 2 2

1 2 3 1 2 3 1 1 2 3( , , ) 2 7 2 12f x x x x x x x x x x      

Q3) Attempt any Four of the following. [20]
i) A Project has following activities and characteristics with estimated

duration in days.

Find expected duration of each activity.

Activity Optimistic Most likely Pessimistic

to tm tp

12 2 5 8

13 4 10 16

14 1 7 13

25 8 8 11

35 2 8 14

46 6 9 12

56 4 7 10

ii) Solve the following game graphically.

Player B

Player A 

1 2 3
1 3 3 4
2 1 1 3

 
   
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iii) A firm is considering replacement of a machine, whose cost price is
Rs. 12,200; and the scrap value is Rs. 200. The running cost are found
from experience to be as follows:
Year : 1 2 3 4 5 6 7 8
Running cost (Rs.): 200 500 800 1200 1800 2500 3200 4000
When should the machine be replaced?

iv) Six jobs to be processed on the two machines A and B in the order AB.
Processing time in hours are given in the table below.
a) Determine a sequence for the six jobs that will minimize the elapsed

time T.
b) Find total elapsed time.
c) Find idle time for each machine.
Job 1 2 3 4 5 6
Machine A 30 120 50 20 90 110
Machine B 80 100 90 60 30 10

v) Obtain the best strategies for each player and value of the game for the
following pay-off matrix by Arithmetic  method.

Player B
Bl B2

A1 5 3
Player A A2 1 4

vi) Show that (0,3,1) and (2,1,1) are stationary points of function

1

2 2 2
1 2 3 2 3 1 3 2 3 1 2 3 1 2 3( , , ) 2 4 2 2 4 4f x x x x x x x x x x x x x x x x        

Q4) Attempt any two of the following. [20]
i) A small project consists of seven activities for which the relevant data

are given below.
Activity : A B C D E F G
Predecessor : - - - A,B A,B C,D,E C,D,E
Duration: 4 7 6 5 7 6 5
a) Draw the project network
b) Calculate total and free float of each activity.
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ii) Solve the following game by using the principle of dominance

Player-B

Player A  

I II III IV V VI

1 4 2 0 2 1 1
2 4 3 1 3 2 2
3 4 3 7 5 1 2
4 4 3 4 1 2 2
5 4 3 3 2 2 2

 
 
 
 
  
  

iii) Find the sequence that minimizes the total elapsed time required to
complete the following task, in the order ABC
Job: 1 2 3 4 5 6
Machine A: 12 6 5 11 5 7
Machine B: 7 8 9 4 7 8
Machine C: 3 4 1 5 2 3

iv) Obtain the solution of the following problem by using method of
Lagrangian multipliers.

Min Z = 2 2
1 1 2 1 12 5 4 18x x x x x   

Subject to 1 2 7x x 

and 1 2, 0x x 


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Q1) Attempt each of the following: [1 each]
A) In each of the following cases, choose the correct alternative:

 i) The ratio of birth to the total deaths in a year is called as
a) Vital Index b) Total Fertility rate
c) Population death rate d) Survival Rate

ii) If 1 24 3 5 80y x x    is the equation of regression plane of y on x1

and x2 then 
1 2.yx xb

a)
3
4

 b)
3
4

c)
4
3 d)

4
3



iii) Type II error is defined as
a) Rejecting H0 when it is true
b) Accepting H0 when it is true
c) Rejecting H0 when it is not true
d) Accepting H0 when it is not true

iv) Expected waiting time of customers in the queue in case of M/M/1
model is

a) 1 


 b)


 

c)
1

  d)  
1

  

P.T.O.
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v) The test statistic under H0 used to test 0 0:H    Vs 0 0:H    where
2  is known is given by

a) 0x

n



 b) 0

1
x

n







c) 0x

n



 d) 0

2
x

n





(B) In each of the following, state whether the given statement is true or
false. [1 each]
i) Test Statistic is independent of unknown parameter of parent

distribution.
ii) Critical region is the region of rejection of alternative hypothesis.
iii) When number of arrivals have Poisson distribution, then inter-arrival

service times follows exponential distribution.
iv) The coefficient of multiple determination measures the strength of

linear relationship between response variable and independent
variable.

v) The point of concurrence of three regression planes in a trivariate
data is  1 2 3, ,x x x .

Q2) Attempt any four of the following: [5 each]

a) With usual notations prove that 12.3 13.2 32.1
12

13.2 31.21
b b bb

b b





b) With usual notations, show that   2 2 2
1.23 12 13.21 R 1 1r r   

c) Two hundred people were attacked by a disease and 180 survived. Can
we say that 85% people survive if they are attacked by this disease.
 Use 0.05 

d) Find G.F.R and T.F.R. for the following data:
Age Group (Years) 15-25 25-35 35-45
No of females 2500 4000 3000
No of births 125 354 58
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e) Define the following terms:
i) Estimator
ii) Parameter
iii) Critical region
vi) Estimate
v) Level of significance

f) Describe the test procedure for testing 0 1 2:H    against 1 1 2:H  

based on two independent random samples drawn from  2
1,N    and

 2
2 ,N    populations. Also state  100 1  percent confidence interval

for  1 2. 

Q3) Attempt any Four of the following: [5 each]
a) In a tri-variate data the total correlation coefficients are

12 13 230.7, 0.8, 0.9.r r r    Are these values consistent?

b) Prove that the necessary and sufficient condition for the three regression
planes to coincide is 2 2 2

12 13 23 12 13 232 1r r r r r r     or 0R  .

c) Describe briefly the large sample test for testing 0 0:H   against

1 0:H   , where 0 is the population means from which samples are
chosen. It is assumed that the population variance is known.

d) Explain M/M/1 : FIFO model. State formula for the average number of
customers in the queue under this model.

e) i) Type - I error

ii) Type - II error

iii) Null hypothesis

iv) Standard error of a statistic

v) Alternative hypothesis

f) Out of 1000 residents in a certain area, 150 were found to be earthquake
affected. Can we accept the claim that there are less then 20% earthquake
affected residents? Use 1% level of significance.
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Q4) Attempt any two of the following: [10 each]

a) A sample on three variables 1 2,x x  and 3x  gave the following results:

1 1 12

2 2 13

2 3 23

60  75.28  0.25
54  16.30  0.45
50   7.24   0.52

x r
x r
x r





  
  

  

i) Obtain the equation of the least squre plane of 1x on 2x and 3x [7]
ii) Estimate 1x  when 2 55x   and 3 52x  [3]

b) i) Define gross reproduction rate (G.R.R) and net reproduction rate
(N.R.R.). Give their interpretations. [5]

ii) Workers come to tool store room to inquire about the special tools
for a particular job. Customers arrive at the store have Poisson
distribution with average rate of 30 customers per hours. The average
service time is minute and half per customer. Find [5]
A) Average queue length

B) Expected number of workers in the queue.

c) i) Show that 1.23x  is uncorrelated with 2x and 3x [5]

ii) A sample of 256 bricks has mean weight of 2.12kg. with standard
deviation of 560 gm. Test the hypothesis that the sample come
from a population with mean weight of 2 kg. [5]

d) i) Describe the procedure for testing 0 0:H p p  Vs 1 0: ,H p p

where 0p  is the population proportion. [4]

ii) Explain the following approaches of testing of hypothesis [6]

I) Critical region approach.

II) P-value approach

III) Confidence interval approach

 
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Q1) Answer any three questions of the following (03 out of 05) [15]

a) Discuss the basis for the plot of ‘The Fire and the Rain’

b) Discuss the fire sacrifice as a symbol of power in the play ‘The Fire and
the Rain’

c) What advice does Nittilai give to Arvasu? What effect it has upon him?

d) On which mythological story the drama ‘The Fire and the Rain’ is based
on?

e) Why does Yavakri breed contempt for Parvasu and Raibhya?

Q2) Answer any three questions of the following: (03 out of 05) [15]

a) Discuss the significance of the title ‘The Fire and the Rain’.

b) Discuss the character of Vishaka.

c) What is the role of Raibhya in ‘The Fire and the Rain’

d) Who does the king select for the fire sacrifice to end the long drought?
Why?

e) Who kills Nittilai? Why?

P.T.O.
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Q3) Answer any one question of the following (01 out of 02) [10]

a) Character sketch of the ‘chocolate cream soldier’ in ‘Arms and the Man’.
b) Do you think the realities of war make sergius educated? Explain in detail.

Q4) Answer any one question of the following (01 out of 02) [10]

a) How is the theme of love explored in the play ‘Arms and the Man’ by
G.B. Shaw.

b) Discuss ‘Arms and the Man’ as an anti-romantic comedy.

Q5) Answer any Four questions of the following (04 out of 06) [20]

a) Why does the king select Paravasu as the Chief Priest?

b) What is the reason of Vishakha’s suffering?

c) Why does Arvasu fail to attend the tribal council?

d) Who is Raibhya?

e) Who kills Raibhya?

f) Who creates Brahma Rakshasa in ‘The Fire and the Rain.?

 
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P.T.O.

Q1) Attempt any THREE of the following: [15]
a) Write a note on Dramatic monologue as a narrative technique with

reference to ‘My last Duchess’?
b) Comment on the symbolism in, ‘Sailing to Byzantium’.
c) Evaluate critically Owen’s thoughts on futillity of war.
d) Comment on the duke’s character in ‘My Last Duchess’.
e) How does Wilfred Owen express value of life in ‘Futility’?

Q2) Answer any THREE of the following. [15]
a) Evaluate critically Emily Dickinson’s ‘A Bird Came Down the walk’.
b) Which are the main themes of the poem, ‘Talking in their sleep’ by Edith

M. Thomas? Elaborate.
c) Which are the questions discussed by John Clare in the poem, ‘what is

Life? And what are the answers sought?
d) Explain the metaphor in title of the poem, ‘Talking in their sleep’ by

Edith M. Thomas.
e) Is death something to be feared according to John Clare? Why or why

not?

Q3) Answer any THREE of the following: [15]
a) Explain the hidden metaphorical meaning of the poem ‘Sympathy’ by

Paul Lawerence Dunbar.
b) The simplicity of the poem ‘The Awakening’ make it complex. Justify

the statement.
c) Comment on ‘The Wind’ as an imagistic poem? Support your answer

with examples from the poem.
d) Write a brief note on the autobiographical element in the poem,

‘Sympathy’ by Paul Lawrence Dunbar.
e) Define the multifaceted ‘Wind’ explored by Amy Lowell.
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Q4) Answer any THREE of the following: [15]

a) ‘Free verse’ does not cofirm to a formal poetic structure. Explain the
statement with reference to the poem, ‘Freedom’.

b) How do you think the poem, ‘Caged Bird’ still relevant to discuss various
forms of subjugation?

c) What is the central theme of the poem, ‘Space Between’? How does the
imagery and diction used by the poet to enhance this theme.

d) What kind of country does Rabindranath Tagore dream of in the poem,
‘Freedom’?

e) Compare and contrast the image of a ‘Free bird’ with that of a ‘Caged
Bird’ depicted in the poem ‘Caged Bird’.

Q5) Explain with reference to the context ANY TWO of the following: [10]

a) But a bird that stalks

down his narrow cage

can seldom see

through his bars of rage.....

b) And what is Life? - An hour-glass on the run,

A Mist retreating from the morning sun,

A busy, bustling, still repeated dream;

c) That’s my last Duchess painted on the wall,

Looking as if she were alive. I call

The piece a wonder now: Fra Pandolf’s hands

Worked busily a day, and there she stands.

d) Move him into the sun -

Gently its touch awoke him once,

At home, whispering of fields unsown.

Always it woke him, even in France,.....


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P.T.O.

Q1) Attempt any THREE of the following. [15]

a) What is a phrase? Explain the types of phrases.

b) What is syntax? Explain its significance in the study of linguistics.

c) Describe the types of clauses with suitable examples.

d) What is a prepositional phrase? Explain with suitable example.

e) Write a note on the structure of a clause.

Q2) Attempt any THREE of the following. [15]

a) Write a note on subject-verb concord.

b) Explain the structural classification of sentences with suitable example.

c) Differentiate between Wh-Questions and Yes-No Questions.

d) Differentiate beteween denotative and connotative meaning.

e) What is semantics? Explain in brief.

Q3) Attempt any FOUR of the following. [20]

a) State the difference between Homography and Homophony.

b) Differentiate between Homonymy and polysemy.

c) Write a note on Metonymy with suitable examples.

d) Explain the types of Antonyms with suitable examples.

e) What is Hyponymy? Explain with suitable example.

f) Differentiate between synonymy and antonymy.
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Q4) Attempt any FOUR of the following. [20]

a) Write a note on direct and indirect speech acts.

b) What is pragmatics? Explain in brief.

c) What is co-operative principle? Explain its maxims in brief.

d) Describe Austin’s typology of speech acts.

e) Explain the maxims of politeness principle.

f) Describe Searle’s typology of speech acts in brief.


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Q1) Attempt any ONE of the following. [10]

a) Your friend has just returned from a tour of Mumbai. Ask him/her
questions and write a dialogue on it.

b) Your friend wants to use your bike for two days. You do not permit him.
Write a dialogue on the given situation.

Q2) Attempt any ONE of the following. [10]

a) How will you improve you vocabulary in English language?

b) You could not attend your friend’s birthday party. Write a conversation
apologizing for your absence.

Q3) Attempt any ONE of the following. [5]

a) Mr. Nitin has booked a room in a hotel & he noticed that the A/c is not
working. He went to the manager & complained to him/her about A/c

b) You have to deliver a speech on “Importance of Yoga”. How will you
prepare for it. Write five points.


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Q1) Attempt any FIVE. [10]
a) Show that the set {(0, 0, 0), (1, 2, 3)} is linearly dependent.

b) What is the dimension of 2M ( ) / , , , ?
a b

a b c d
c d

  
= ∈  

  
 

c) Is x = 1, y = –1 a solution of the following system of equations.
x+2y = 2, x–y = 2.

d) If 2 2 , =sin .t etu e i j tk t θ= + +  Find 
du

dθ  when θ=0.

e) Evaluate 
1

3

0

7 ( 1) .t i j t k dt+ + +
f) Give parametric representations for the portion of cylinder

x2+y2=5 for –1≤ z ≤ 6.

Q2) Attempt any FOUR. [20]

a) Reduce the matrix 

3 4 2

A= 0 1 1

6 6 12

− − 
 
 
 − 

 to row echelon form.

b) Solve the following system of linear equations.
2x–3y+z = 9
x–2y+3z = 16
3x+2y+7z = 16

P.T.O.
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c) Show that the set{(1, 2, 6), (3, 4, 1), (4, 3, 1)} is a basis for 3 .

d) For F  determine if the vector field is conservative where

2 3F 6 (2 ) (6 ) .xi y y j z x k= + − + −

e) Evaluate integral G (x, y, z) = x2 over the cone 2 2 , 0 1z x y z= + ≤ ≤ .

f) Find the surface area of cone 2 2z x y= +  0 ≤ z ≤ 1.

Q3) Attempt any FOUR. [20]

a) Find basis and dimension of subspace

{ }3 3W ( , , ) / , 2 3 of .x y z z x y y x z= ∈ = − = + 

b) Determine whether the mapping 3 3T : →   given by T(x,y,z) = (x, x+y, z+3)
is a linear transformation. Justify.

c) Let 3 3T : →   be a linear transformation such that T (1,0,0) = (2,4,–1),
T (0,1,0) =(1,3,–2), T(0,0,1)=(0,–2,2) compute T (–2, 4,–1).

d) Use Green’s theorem formula to find the area of the ellipse

( ) ( cos ) ( sin ) ,0 2r t a t i b t j t π= + ≤ ≤ .

e) Find the k component of Curl (F)for the vector field F ( ) (2 )x y i xy j= + +
on the plane.

f) Find a potential function for the field and evaluate the integral

(1, ,2)
2

(0,2,1)

1 1
2cos 2 sin .y dx x y dy dz

y z

π

 + − + 
 



Q4) Attempt any TWO. [20]

a) Let 3 3T : →   be a linear transformation given by T(x,y,z) =(2x+y,
4x+3y–2z,–x–2y+2z). Determine

i) Which of the following vectors are in ker (T)?

(–1,2,3) , (2,–4,0)

ii) Which of the following vectors are in R(T)?

(0,6,–8) , (1,0,2)
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b) Let 

1 2 2 1

A 4 9 9 4

5 8 9 5

− 
 = − 
 − 

Find

i) Basis for rowspace of A.

ii) Basis for nullspace of A.

iii) Rank and nullity of A, hence verify dimension theorem.

c) Use Green’s theorem to find the counter clockwise circulation and outward

flux for the field. 2F ( ) ( )x y y i x y j= + + −  where C is as shown in
figure.

d) Find The point on the curve ( ) (5sin ) (5cos ) 12r t t i t j t k= + +

at a distance 26π units along the curve from the point (0,5,0) in the direction
of increasing are length. Also find unit tangent vector.





Q1) Attempt any Five : [10]

a) If a square with sides 2cms is reflected through y-axis, then what is the
area of transformed object?

b) Show that the 2 × 2 transformation matrix 

2

2 2

2

2 2

1 2
1 1

[T]
2 1

1 1

t t
t t

t t
t t

é ù-ê ú
ê ú+ +ê ú=
ê ú- -ê ú
ê ú+ +ë û

represents a pure rotation.

c) What is the point at infinity on x-axis in the negative direction?

d) Write a transformation matrix for rotation about y-axis through an
angle 75º.

e) Give 2 aspects of perspective views experience by human eyes.

f) What is the parametric equation of hyperbola?

g) Write four characteristics of Bézier curve.

Total No. of Questions : 4]

[Total No. of Pages : 3
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Q2) Attempt any Four : [20]

a) If a 2 × 2 transformation matrix 
a b

c d

é ù
ê ú
ê úë û

 transform the line segment AB

to segment A*B*. If a slope of line AB is ‘m’ then prove that slope of

transformed line A*B* is *
b dm

m
a cm
+

=
+

.

b) Write the transformation matrix to Rotate a point p[4 3] in a counter
clockwise direction through an angle 45º about origin.

c) Obtain concatenated transformation matrix for the following sequence
of transformations.

i) Translate x & z direction by 2 and 1 units respectively.

ii) Shearing in y-direction proportional to x and z coordinates with
½ and 3 units respectively.

iii) Reflection through xz plane.

d) Obtain isometric projection of the line segment between the points
A[1, –2, 1] and B[3, 1, –6].

e) Generate uniformly spaced 6 points on the circle x2 + y2 = 16.

f) Write an algorithm to generate ‘n’ points on circumference of the ellipse
with centre (0, 0) and length of semimajor, semiminor axes are a and b
respectively.

Q3) Attempt any Four : [20]

a) Obtain combined transformation matrix for the following sequence of
transformations :

i) Reflection through the line y = –x.

ii) Shearing in x and y direction by 3 and –4 units respectively.
Further apply on the point p[3 –8].

b) Obtain combined transformation matrix for rotation about the line parallel

to y-axis passing through point (–1, –2, –3), through an angle 3
p .

c) Develope the cavalier and cabinet projection for α = 120º of the object

1 2 2 1
[X]

0 1 2 1

é ù
ê ú=
ê úë û

.
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d) Write an algorithm for rotation about local y-axis.

e) If B0[2 1], B1[4 4], B2[5 3], B3[5 1] are vertices of a Bézier Polygon
then determine P(0.7) of Bézier curve.

f) Obtain revursive formula to generate equispaced 10 points of the ellipse

2 2

1
4 9
x y

+ = .

Q4) Attempt any Two : [20]

a) Write an algorithm for rotation about an arbitrary axis in space.

b) i) If foreshortening factor along z-axis is fz = ½. What are the angles
φ and θ required to rotate about y-axis and x-axis respectively to
construct a dimetric projection.

ii) The line segment between the points A(–1, –3) and B(3, 4) is
transformed to the line segment A'B' by the transformation matrix

1 4
[T]

4 2

é ù-
ê ú=
ê úë û

. Find the midpoint of A'B'.

c) Generate uniformly spaced 3 points on the parabolic segment in the
first quadrant for 3 < x < 12 and equation of the parabola is y2 = 12x.

d) Find the combined transformation matrix required to make the plane
x + y + z = 0 coincident with z = 0 plane.





1[5808]-582

Total No. of Questions : 4]

[5808]-582

S.Y.B.A.
MATHEMATICS

CC-1D MG - 4 : Linear Algebra
(2019 Pattern) (Semester - IV) (24343)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of logarithmic table/calculator is allowed.

P4260 [Total No. of Pages : 3

SEAT No. :

P.T.O.

Q1) Attempt any five of the following. [10]

a) Write the system of linear equations whose augmented matrix is

1 2 1 4

2 1 2 3

 
 − 

.

b) Is x = 2, y = 3, a solution of the following system of linear equations.
2x + y = 7,
3x – y = 3

c) Find rank of the matrix 
1 2 3 4

A
0 0 1 0

 
=  
 

.

d) Determine whether the set {(1, 2), (–2, –4)} is linearly independent?

e) Define basis of a vector space.

f) Define kernel of linear transformation.

g) If S={(1, 2, 3), (1, 2, 0)} is a basis for subspace W of 3 , then what is
dimension of W?
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3

Q2) Attempt any four. [20]

a) If V is a vector space, then prove that

i) 0.u = 0, ∀u∈V,

ii)  (–1). u = – u, ∀u∈V.

b) Reduce the matrix 

1 1 1 1

A 2 3 4 2

3 4 5 1

− 
 = − 
  

,to echelon from

c) Determine whether the set W={(x, y, z)     |x = 2y + 3z}
is a subspace of     .

d) Show that the vectors V
1
= (1, 1, 1), V

2
 = (1, 1, 0) and V

3
 = (1, 0, 0)

Spans    .

e) If dim V = n, then prove that any set containing more than ‘n’ vectors of
V, is linearly dependent.

f) Find coordinate vector of w = (3, 3, 3) relative to the basis S = {V
1
, V

2
, V

3
},

where V
1
 = (2, –1, 3), V

2
 = (1, 0, 0) and V

3
= (2, 2, 0).

Q3) Attempt any four of the following. [20]

a) Solve the following system of linear equations x + y + z = 9, 2x – 3y + 4z
= 13, 3x + 4y – z = 10

b) Reduce the matrix A to echelon form, hence find rank of A

1 1 2 1

2 1 2 2
A

1 2 4 1

3 0 0 3

− − 
 − − =
 − −
 − 

.

c) If W is a subspace of a finite dimensinal vector space V, then prove that
dim W < dim V.

d) If T : V → W is a linear transformation, then prove that kernel (T) is a
subspace of V.

e) Show that the mapping 3 3T : ,→   given by

T (x, y, z) = (0, x + y + z, 3y) is a linear transformation.

f) Find domain, co-domain and formula for T
2
oT

1
 (x, y), if

T
1
(x, y) = (2x, 3y), T

2
 (x, y) = (x – y, x + y).

∈ 3

3
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Q4) Attempt any two of the following. [20]
a) If {V1, V2, V3.......,Vn

} is a basis for a vector space V, and w1, w2,
w3,....., w

n
 are any ‘n’ vectors of a vector space W, then prove that,

there exists a unique linear transformation T:V→ W, such that
T(v

i
) = w

i 
, i =1, 2, 3, .......,n

b) Let 

1 2 3 1 5

A 2 1 3 1 4 ,

1 1 2 1 3

 
 =  
  

find basis and dimension of

i) Row space of A.

ii) Column space of A.

iii) Null space of A

c) Let T: 2 → 2  be a linear transformation, given by T (x, y)  = (2x – y, – 8x + 4y).
Determine:

i) Which of the following vectors are in ker (T)? (5, 10) ; (1, 1). [4]

ii) Which of the following vectors are in R(T)? (1, –4), (5, 0), (–3, 12).
[6]

d) Let T:     →     be a linear transformation, given by T (X) = AX,

where 

1 1 2

A 3 1 1 ,X

5 1 5

x

y

z

−   
   = =   
   −   

 .

Find:

i) Basis and dimension of ker (T).

ii) Basis and dimension of R (T).



3 3



Q1) Attempt any five of the following. [10]

i) Evaluate 
2 2

2

sin( 2) 4
lim

2 2t

t t
i j

t t→

  − −+  − −  
.

ii) Find the gradient field of the function f (x, y, z) = (x2 + y2 +z2)–½.

iii) Define unit tangent vector.

iv) Give parametric representation for elliptic paraboloid x = 5y2 + 2z2 – 10.

v) Find the curl of a vector field,

F ( ) (2 3 ) (3 2 )x y z i x y z j x y z k= + − + − + + + +

vi) Define the curl of a vector field.

vii) Find divergence of vector field

F ( ) (2 3 ) (3 2 )x y z i x y z j x y z k= + − + − + + + +

Q2) Attempt any four of the following. [20]

i) Find T, K and N for the curve given by,

( ) 3sin 3cos 4r t t i t j t k= + +

Total No. of Questions : 4]

[Total No. of Pages : 3

[5808]-583
S.Y. B.A.  (Semester - IV)

CC -  2D : MATHEMATICS

AMG-4 : Vector Calculus
(2019 Pattern) (24344)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P8858

SEAT No. :

P.T.O.



[5808]-583 2

ii) If φ(x, y, z) is a scalar function and u(x, y, z) is vector function which
possess first order partial derivative then ∇. (φu) = ∇ φ.u + φ.∇u

iii) Prove that 2 3 2F ( cos ) (2 sin 4) (3 2)y x z i y x j xz k= + + − + + is
conservative. Find scalar potential φ such that F = grad φ. Hence compute
the total work done by partial moving from (0, 0, 0) to (2, 1, 1)

iv) Evaluate 
C

[ (2 1) (2 1) ]y xy dx x xy dy− + +  where C is the circle x2 + y2 = 1

using Green's theorem.

v) Find the flux of 2F zx i zy j z k= + +  across the sphere x2 + y2 + z2 = a2

in the direction away from the origin.

vi) Evaluate [( ) ( ) ( ) ]
S

x z dy dz y z dz dx x y dx dy+ + + + +  using divergence

theorem. Where S is surface of the sphere x2 + y2 + z2 = 4.

Q3) Attempt any four of the following. [20]

i) Solve the initial value problem for ( )r t  where 
2

2
( )

d
r t i j k

dt
= − − −

with initial condition (0) 10 10 10r i j k= + +  and (0) 0
d

r
dt

=

ii) Find the arc length along the curve 3 3( ) cos sinr t t j t k= +  from t = 0 to

2
t

π= . Also find unit tangent vector of the curve.

iii) Evaluate 2

C

z dy yz dz−  where C is the line segment from (4, –1, 2) to

(1, 7, –1).

iv) Evaluate ( )
C

x y dx−  where C : x = t, y = 2t + 1 for 0 < t < 3.

v) Show that the differential froms in the integrals is exact. Then evaluate the

integral 
(2,3, 6)

(0,0,0)
2 2 2x dx y dy z dz

−
+ +
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vi) Verify 
N M

F.T. M N
C R

ds dx dy dx dy
x y

∂ ∂= + = −
∂ ∂     for the vector

field F 2 3x i y j= − . The region R : x2 + y2 < a2 and it's bounding circle

C: ( cos ) ( sin )r a t i a t j= + , 0 < t < 2π.

Q4) Attempt any Two of the following. [20]

i) State and prove tangential form of Green's Theorem. Hence evaluate
3 3

C

y dx x dy− , where C is the positively oriented circle of radius 2 centered

at the origin.

ii) State divergence theorem in three dimension. Evaluate F.
S

n ds , where

2 2 4 3 2F ( 3 ) ( )yx i xy z j x y k= + − + + . Where S is the surface of the

sphere of radius 4 with z < 0 and y < 0.

Note that all the surfaces of this solid are included in S.

iii) Evaluate 22
C

x dy xy dx− , where C is the line segment from (1, –5) to (–2, –3)

followed by the portion of y = 1 – x2 from x = –2 to x = 2 which in turn
is followed by the line segment from (2, –3) to (4, – 3)

iv) Find the surface area of the portion of the sphere of radius 4 that dies
inside the cylinder x2 + y2 = 12 and above xy - plane.


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Q1) Attempt any Five of the following : [10]

a) Mention any two areas of application of network techniques.

b) Distinguish between CPM and PERT.

c) Write any two assumptions made while dealing with sequencing problem.

d) Explain the term sudden failure in replacement and maintenance model.

e) Define value of the game.

f) Write dominance principle of game problem.

g) Write the Hessian matrix for real valued function f (x1, x2) of two variables.

Q2) Attempt any Four of the following : [20]

a) An architect has been awarded a contract to prepare plans for an urban
renewal project. The job consists of following activities and their time
estimates. Draw Network for the project.

Activity : A B C D E F G

Predecessors : - - A A,B C,D B,D E,F

Time (days) : 2 1 3 2 1 3 1

SEAT No. :

P.T.O.
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b) Solve the game whose payoff matrix is given below.

         Player - B

B1 B2 B3 B4

A1 3 2 4 0

Player - A
A2 3 4 2 4

A3 4 2 4 0

A4 0 4 0 8

c) Find the sequence that minimizes the total elapsed time required to complete
the following job on two machines M1 and M2 in the order M1 M2.

Jobs

    Machines J1 J2 J3 J4 J5 J6

 M1 7 4 2 5 9 8

 M2 3 8 6 6 4 1

d) The data on the operating cost per year and resale prices of equipment A,
whose purchase price is Rs. 10,000 are given below :

Year : 1 2 3 4 5 6 7

Operating Cost (Rs.) 1500 1900 2300 2900 3600 4500 5500

Resale value (Rs.) 5000 2500 1250 600 400 400 400

Determine the optimal age of replacement of the equipment A.

e) Solve the following game by graphical method

          Player - B

B1 B2 B3 B4

Player - A
A1 8 5 –7 9

A2 –6 6 4 –2

f) Determine local optimum point(s) of the function

= + + - -2 2
1 2 1 2 1 2( ) 2f x x x x x x x .
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Q3) Attempt any Four of the following : [20]

a) Draw the project network and project completion time; for the following
data.

Activity A B C D E F G

Predecessor - - - A,B A,B C,D,E C,D,E

Duration 4 7 6 5 7 6 5

b) Two players A and B match coins. If the coins match, then A wins Rs. 2,
if the coins not match, then B wins Rs. 2.

It is a fair game? What is the value of the game? What are the optimal
strategies for each player?

c) A firm is considering replacement of an equipment whose cost is
Rs. 12,200 and scrap value is Rs. 200. The maintenance cost is as follows.
When should the said equipment be replaced.

Year  : 1 2 3 4 5 6 7 8

Maintenance : 200 500 800 1200 1800 2500 3200 4000
cost (Rs.)

d) Determine a sequence for five jobs that will minimize the total elapsed
time and also idle time for both machines (order is AB)

      Job 1 2 3 4 5

Machine - I 5 1 9 3 10

Machine - II 2 6 7 8 4

e) Express the following game as LPP.

            Player - B

1 2 3

1 1 –2 1

Player - A 2 –1 3 –2

3 –1 –2 3

f) Determine the maximum or minimum of the function

=- - - -2 2
1 2 3 1 2 2 1 2( , , ) 2 2f x x x x x x x x
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Q4) Attempt any Two of the following : [20]
a) A small project is composed of seven activities whose time estimates are

listed below.
 Activities     Time in Weeks

i  j to tm tp
1 – 2 1 1 7
1 – 3 1 4 7
1 – 4 2 2 8
2 – 4 1 1 1
3 – 5 2 2 14
4 – 6 2 5 8
5 – 6 3 6 15

i) Draw the network
ii) Calculate the expected variances for each activity and expected

project completion time.
b) Find the sequence that minimizes the total elapsed time for the following

data. Each job is processed in the order AÌB. Also find idle times of all
three machines.
      Job 1 2 3 4 5 6
Machine - I 12 8 7 11 10 5
Machine - II 7 10 9 6 10 4
Machine - III 3 4 2 5 2 4

c) Reduce the following game to 2 × 4 size and hence solve it by graphical method.
         B

I II III IV
I 4 –2 3 –1

A II –1 2 0 1
III –2 1 –2 0

d) Solve the following problem by using Lagrangian multipliers.

Optimize = + + + + + -2 2 2
1 2 3 1 2 32 3 10 8 6 100Z x x x x x x

Subject to g(x) = x1 + x2 + x3 = 20
x1, x2, x3  0


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Q1) Attempt each of the following: [5×1=5]
A) Choose the correct alternative of the following:

 i) Suppose X~B  10, 0.7n p  then mean of X is
a) 7 b) 10
c) 0.7 d) 0.07

ii) The mean of binomial distribution is
a) Always more than its variance
b) Always equal to its variance
c) Always less than its variance
d) Always equal to its standard deviation

iii) If X is a discrete r.v., then

a)     22E X E X    b)     22E X E X   

c)     22E X E X    d)    2E X 2E X

iv) If X and Y are two random variables with means E(X) and E(Y)

respectively, then the expression      E X E X Y E Y     is
called
a) Variance of X
b) Variance of Y
c) Covariance between X and Y
d) Correlation coefficient between X and Y

P.T.O.
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v) If X follows discrete uniform distribution on 1,2, ...., n and the mean of
the distribution is 6. Hence the value of n is

a) 11 b) 6
c) 36 d) 12

(B) State whether the following statements are true or false. [5×1=5]
i) Mean of uniform distribution is p.
ii) Expectation of constant is zero.
iii) Variance of Binomial distribution is np.
iv) Mean of Poisson distribution is equal to parameter.
v) If X~P(m) then variance is m.

Q2) Attempt any Four of the following: [4×5=20]
a) Define the following terms:

i) Mode of a Discrete Probability Distribution:
ii) Joint p.m.f. of two dimensional discrete r.v.
iii) Define random variable of a function.
iv) Define mathematical expectation of a discrete r.v.X.

b) Prove that the Variance is affected by change of scale.
c) If Y = X  – a, then prove that except the first cumulant all other cumulants

of X and Y are same, a being constant.
d) Define hypergeometric distribution and find its mean.

e) Given that,   1P
2

x

x k    
 

is a probability distribution for a random

variable which can take the values x = 0, 1, 2, 3, 4, 5, 6 find k and c. d. f.
f) For a binomial distribution with mean 5 and S.D. 2, find the mode.

Q3) Attempt any Four of the following: [4×5=20]
a) Let X B(n, p), find the m.g.f. of X.
b) Define a discrete uniform distribution with parameter ‘n’, also find its

variance.
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c) Give two real-life situations where hypergeometric distribution can be
applied.

d) If X is Poisson variate such that    2 9 3P X P X    find

i) m

ii) S.D of X

e) Prove that    E X E Xa b a b  

f) Determine the parameters of binomial distribution for which the mean is
4 and variance 3, find its mode.

Q4) Attempt any Two of the following: [2×10=20]

a) If X P(m) find mode of Poisson distribution.

b) If X B(n,p) then show that

i)
2

E x pqp
n n

   
 

ii) Cov ,x n x pq
n n n

    
 

c) Among the 200 employees of a company, 160 are union members and
the others are non-union. If four employees are to be chosen to serve on
the staff welfare committee, find the probability that two of them will be
union members and the others non-union, using

i) hypergeometric distribution

ii) binomial distribution as an approximation

d) i) State and prove additive property of Poisson distribution

ii) If X P(m) Prove that all cumulants of Poisson distribution are
equal to parameter m.

 
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Q1) Answer any three of the following questions in 50 words. [15]

a) Explain symmetry as relation.

b) What is an individual constant?

c) Describe existential proposition.

d) What propositional function?

e) State nontransitive relation.

Q2) Write short notes on any three of the following in 50 words. [15]

a) Singular propositions.

b) Universal quantifier.

c) Symbolize the following relational propositions. (Any five)

i) Shirur is between Pune and Ahmednagar. (Bxyz,s,p,a)

ii) Meena is older than Rakhi. (Ozy, m,r)

iii) Rajesh like books more than film. (Lxyz, r, b, f)

iv) Mother loves with her daughter. (Lxy, m,d)

v) Mango is more tasty than apples. (Txy, m,a)

vi) Something attracts something. (Axy, x attracts y)

vii) John loves Mary. (Lxy, J, M)

d) Instantiation.

e) Nonreflexive relations

P.T.O.
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.Q3) Answer two of the following questions in 200 words. [20]

a) Explain preliminary quantificational rules of Universal Instantiation [UI]
and Existential Instantiation [EI].

b) Symbolize the following propositions. (Any five)

i) All books are readable. (Bx, Rx)

ii) No women are men. (Wx, Mx)

iii) Some trees are green. (Tx, Gx)

iv) Some workers are not active. (Wx, Ax)

v) Students are healthy. (Sx, Hx)

vi) Not a single pencil is eraser. (Px, Ex)

vii) Snakes are not poisonous. (Sx, Px)

c) Describe nature of direct proof with example.

Q4) Answer any one of the following questions in 400 words. [20]

a) What is relational logic? Explain transitive and intransitive relations.

b) What is quantification? Explain preliminary quantificational rules of
Universal Generalization [UG] and Existential Generalization [EG].


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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXmV {bhm. [15]

A) g‘‘mÌVm g§~§Y ñnï> H$am.

~) ì¶º$s Ma åhUOo H$m¶?

H$) A§edmMr {dYmZ ñnï> H$am.

S>) {dYmZ ’$bZ åhUOo H$m¶?

B) {df‘ àdm{hÎmVm g§~§Y ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ Q>rnm 50 eãXmV {bhm. [15]

A) EH$dmMr {dYmZ.

~) gd©dmMr g§»¶rH$maH$.

H$) Imbrb g§~§YdmMr {dYmZmMo MrÝhm§H$U H$am.

i) {eéa ho nwUo Am{U Ah‘XZJa ¶m§Mo‘Ü¶o Amho. (Bxyz,s,p,a)

ii) ‘rZm {h amIrnojm ‘moR>r Amho. (Ozy, m,r)

iii) amOoebm nwñVH$m§nojm {MÌnQ> OmñV AmdS>Vmo. (Lxyz, r, b, f)

iv) AmB© {VÀ¶m ‘wbrda OmñV ào‘ H$aVo. (Lxy, m, d)

v) Am§~m g’$aM§Xmnojm MdXma Amho. (Txy, m, a)

vi) H$mhrVar H$í¶mbmVar AmH${f©V H$aVo. (Axy, x attracts y)

vii) Om°ZMo ‘oarda ào‘ Amho. (Lxy, J, M)

S>) CXmhaUrH$aU

B) A§namdVuVVm
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎma 200 eãXmV {bhm. [20]

A) g§»¶rH$aUmMo àmW{‘H$ gmd©{ÌH$ CXmhaUrH$aU [UI] d A§edmMr CXmhaUrH$aU [EI] {Z¶‘
ñnï> H$am.

~) Imbrb g§»¶rH$maH$s¶ {dYmZmMo MrÝhm§H$U H$am. (H$moUVohr nmM)

i) gd© nwñVHo$ dmMZr¶ AmhoV. (Bx, Rx)

ii) EH$hr ór nwê$f Zmhr. (Wx, Mx)

iii) H$mhr PmS>o {hadr AmhoV. (Tx, Gx)

iv) H$mhr H$m‘Jma g{H«$¶ ZmhrV. (Wx, Ax)

v) {dÚmWu {ZamoJr AgVmV. (Sx, Hx)

vi) EH$hr nopÝgb ImoS>a~a Zmhr. (Px, Ex)

vii) gmn {dfmar ZgVmV. (Sx, Px)

H$) CXmhaUmgh àË¶j {gÕVoMo ñdê$n dU©Z H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎma 400 eãXmV {bhm. [20]

A) g§~§YdmMr VH©$emó åhUOo H$m¶ gm§JyZ Ë¶mMo àH$ma åhUyZ àdmhrVVm, A-àdmhrVVm ñnï> H$am.

~) g§»¶rH$aU åhUOo H$m¶? g§»¶rH$aUmMo àmW{‘H$ gmd©{ÌH$ gm‘mÝ¶rH$aU [UG] d A§edmMr
gm‘mÝ¶rH$aU [EG] {Z¶‘ {deX H$am.





Total No. of Questions : 4]

[5808]-588
S.Y. B.A.

SOCIOLOGY
DSE - 1B : Development of Sociology in India

(2019 Pattern) (Semester - IV) (24371)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4265 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes. (any three) [15]
a) Dominant caste.
b) Indian Nationalism.
c) Caste and occupation.
d) French Revolution.
e) Origin of caste (Dr. B.R. Ambedkar).

Q2) Write the answers of any 3 of the following question in 50 words each. [15]
a) Hierarchy - Define concept.
b) Write the definition of caste.
c) Explain indological perspective of Dr. Ghurye.
d) What is modernization.
e) Explain the endogamous nature of caste system.

Q3) Write the answers of any 2 of the following questions in 200 words each. [20]
a) Explain the impact of dominant caste on political and economic sector

of society.
b) Describe the theory of Sanskritization.
c) Elaborate the development of sociology in British period.
d) Write Dr. Ghurye’s characterstics of caste system.

Q4) Write the answer of any one of the following questions. [20]
a) Explain the social background of Indian Nationalism.
b) Explain Dr. B.R. Ambedkar’s Theory of origin of caste.


P.T.O.



2[5808]-588
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[5808]-588
S.Y. B.A.

SOCIOLOGY
DSE - 1B : Development of Sociology in India

(2019 Pattern) (Semester - IV) (24371)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4265

à.à.à.à.à.1) Q>rnm {bhm. (H$moUË`mhr VrZ) [15]
A) à^mdr OmV
~) ^maVr` amï´>dmX
H$) OmV Am{U ì`dgm`
S>) \«|$M amÁ`H«$m§Vr
B) OmVrMr CËnÎmr (S>m°. ~m~mgmho~ Am§~oS>H$a)

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. [15]
A) loUraMZm - g§H$ënZm ñnï> H$am.
~) OmVr ì`dñWoMr ì`m»`m {bhm.
H$) S>m°. Kẁ } `m§Mm àmÀ`m{dÚm Ñ{ï>H$moZ {deX H$am.
S>) AmYw{ZH$sH$aU åhUOo H$m`?
B) OmVrì`dñWoMo A§V{d©dmhr ñdê$n ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. [20]
A) g_mOmÀ`m amOH$s` Am{U Am{W©H$ joÌmda Pmbobm à^mdr OmVtMm n[aUm_ ñnï> H$am.
~) g§ñH¥$VrH$aUmMm {gÕmÝV ñnï> H$am.
H$) {~«Q>re H$mimVrb ^maVr` g_mOemómMm {dH$mg {deX H$am.
S>) S>m°. Kỳ } `m§Mr OmVrì`dñWoMr d¡{eîQ>ço {bhm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 200 eãXm§V {bhm. [20]
A) ^maVr` amï´>dmXmMr gm_m{OH$ nmœ©̂ y_r ñnï> H$am.
~) S>m°. ~m~mgmho~ Am§~oS>H$a `m§Mm OmVrÀ`m CËnÎmrMm {gÕmÝV ñnï> H$am.





Total No. of Questions : 4]

[5808]-589
S.Y. B.A.

SOCIOLOGY
DSE - 2B : Indian Society : Understanding Issues

(CBCS 2019 Pattern) (Semester -IV) (24372)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4266 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes (Any three) [15]
a) Concept of Urban poverty.
b) Displacement.
c) Concept of civil society.
d) Drugs addiction among youth.
e) Social justice concept.

Q2) Answer the following questions in 50 words each (Any three) [15]
a) Elaborate the concept of rural poverty.
b) Briefly describe the degradation of environment.
c) Write the psychological problems in senior citizens.
d) Elaborate the roll of sociology.
e) Non-Government organization.

Q3) Answer the following questions in 200 words each (Any two) [20]
a) Explain the various laws related to policies encate in relation to the role

of the state.
b) Explain the role of the state in relation to social issues.
c) Explain the nature of poverty in India
d) Write about various problems of youth in India.

Q4) Answer the following questions in 300 words each (Any one) [20]
a) Elaborate the consequences of displacement.
b) Describe the role of civil institutions and organisations.



P.T.O.
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[5808]-589
S.Y. B.A.

SOCIOLOGY
DSE - 2B : Indian Society : Understanding Issues

(CBCS 2019 Pattern) (Semester -IV) (24372)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4266

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr VrZ {Q>nm {bhm. [15]
A) ehar Xm[aÐçmMr g§H$ënZm.
~) {dñWmnZ
H$) ZmJar g_mOmMr g§H$ënZm
S>) Vê$Um§_Yrb A_brnXmWm©Mr ì`gZ{YZVm
B) gm_m{OH$ Ý`m` g§H$ënZm

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr VrZ àíZmMr CÎmao 50 eãXm§V {bhm. [15]
A) J«m_rU Xm[aÐçmMr g§H$ënZm {deX H$am.
~) n`m©daUmMm èhmg WmoS>Š`mV ñnï> H$am.
H$) d¥Õm§À`m _mZ{gH$ g_ñ`m {bhm.
S>) g_mOemómMr ŷ{_H$m {deX H$am.
B) {~Ja emgH$s` g§KQ>Zm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr 200 eãXm§V CÎmao {bhm. [20]
A) amÁ`mÀ`m ŷ{_Ho$À`m AZw§fJmZo Ho$bobo YmoaUr {df` H$m`Xo {deX H$am.
~) gm_m{OH$ g_ñ ò g§X^m©V amÁ`mÀ`m ŷ{_H$m ñnï> H$am.
H$) ^maVmVrb Xm[aÐçmMo ñdê$n ñnï> H$am.
S>) ^maVmVrb ẁdH$m§À`m {d{dY g_ñ`m {bhm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma 300 eãXm§V {bhm. [20]
A) {dñWmnZmMo n[aUm_ {deX H$am.
~) ZmJar g§ñWm Am{U g§KQ>ZmZMr ŷ{_Ho$Mo dU©Z H$am.





Total No. of Questions : 4]

[5808]-590

S.Y. B.A.
SCIOLOGY

G2 - SEC - 1B : Population and Indian Society
(2019 Pattern) (Semester -IV) (CBCS) (24373)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P4267 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes on (Any three) [15]
a) Sterility.
b) Meaning of population policy.
c) Family welfare.
d) Infant mortality.
e) P.C.P.N.D.T. Act 1994.

Q2) Answer the following questions in 50 words each (Any three) [15]
a) State the two types of migration.
b) State the definition and meaning of fertility.
c) Evaluate the family welfare programme.
d) Write the factors affecting population.
e) State the effects of migration on human life.

Q3) Answer the following questions in 200 words each (any two) [20]
a) Explain the growth of population in India since 1901.
b) Explain the characteristics of population in India.
c) Give a brief review of India’s population policy after independence.
d) Describe the role of state in implementing the national population policy.

Q4) Answer the following questions in 300 words (Any one) [20]
a) Write an essay on “National Rural Health Mission”.
b) Define population education and state the importance of population

education.



P.T.O.
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[5808]-590

S.Y. B.A.
SCIOLOGY

G2 - SEC - 1B : Population and Indian Society
(2019 Pattern) (Semester -IV) (CBCS) (24373)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZ n{ÌH$m nhmdr.

P4267

à.à.à.à.à.1) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) d§Ü`Ëd
~) bmoH$g§»`m YmoaUmMm AW©
H$) Hw$Qw>§~ H$ë`mU
S>) A ©̂H$ _Ë ©̀Vm
B) qbJ {ZXmZ MmMUr à{V~§Y H$m`Xm 1994

à.à.à.à.à.2) Imbrb àíZm§Mr CÎma 50 eãXmV {bhm. (H$moUVohr VrZ) [15]
A) ñWbm§VamMo XmoZ àH$ma {bhm.
~) OZZmMr ì`m»`m d AW© ñnï> H$am.
H$) Hw$Qw>§~ H$ë`mU H$m ©̀H«$_mMo _yë`_mnZ H$am.
S>) bmoH$g§» òda n[aUm_ H$aUmao KQ>H$ {bhm.
B) ñWbm§VamMm _mZdr OrdZmda  hmoUmam n[aUm_ {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎma 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) 1901 nmgyZ ^maVmÀ`m bmoH$g§» òV Pmbobr dmT> ñnï> H$am.
~) ^maVmVrb bmoH$g§» òMr d¡{eîQ>ço {deX H$am.
H$) ñdmV§Í`moVa ^maVr` bmoH$g§»`m YmoaUmMm WmoS>Š`mV AmT>mdm ¿`m.
S>) amï´>r` bmoH$g§»`m YmoaU am~{dVmZm emgZmMr ŷ{_H$m ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎma 300 eãXmV {bhm. (H$moUVmhr EH$) [20]
A) ""amï´>r` J«m_rU Amamo½` A{^`mZ'' `mda {Z~§Y {bhm.
~) bmoH$g§»`m {ejUmMr ì`m»`m {bhm Am{U bmoH$g§»`m {ejUmMo _hËd {deX H$am.





Total No. of Questions : 4]

[5808]-591
S.Y. B.A.

SOCIOLOGY
SEC - 1B - G2 : WELFARE, JUSTICE AND  CITIZENSHIP

(2019 Pattern) (Semester - IV) (24374) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4268 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes on (Any Three) [15]
a) PCPNDT
b) LGBTQ
c) Problems of Child Labour.
d) Xenophobia
e) NRC Act

Q2) Answer the following questions in 50 words each (Any Three) [15]
a) Law of adopted, 2019.
b) Corona and changing Social life.
c) Provisions of the Indian constitutions for minorities.
d) Pradhanamantri Suraksha Bima Yojana.
e) Issues of Identity and citizenship in India.

Q3) Answer the following questions in 200 words each (Any Two) [20]
a) State the provisions of Vishakha Law.
b) Evaluate the Laws of labour in India.
c) Discuss on the unorganized workers social security Act-2008
d) State the provisions of the Citizenship ammendment act.

Q4) Answer the following questions in 300 words (Any one) [20]
a) Discuss the Issues of women in India.
b) Discuss the Neoliberalism policy and problems of workers in India.



P.T.O.
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[5808]-591
S.Y. B.A.

SOCIOLOGY
SEC - 1B - G2 : WELFARE, JUSTICE AND CITIZENSHIP

(2019 Pattern) (Semester - IV) (24374) (CBCS)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4268

à.à.à.à.à.1) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) PCPNDT
~) LGBTQ
H$) ~mbH$m‘Jmam§Mr g‘ñ¶m
S>) PoZmo’$mo{~¶m
B) EZ Ama gr H$m¶Xm

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [15]
A) XÎmH$ H$m¶Xm -2019.
~) H$moamoZm Am{U ~XbVo gm‘m{OH$ OrdZ.
H$) ^maVr¶ amÁ¶KQ>ZoVrb Aëng§»¶mH$mgmR>rÀ¶m VaVwXr.
S>) àYmZ‘§Ìr gwajm {d‘m ¶moOZm.
B) ^maVmVrb AmoiI Am{U ZmJarH$ËdmMm àíZ.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) {demIm H$m¶XçmÀ¶m VaVwXr gm§Jm.
~) ^maVmVrb H$m‘Jma H$m¶XçmMo ‘yë¶‘mnZ H$am.
H$) Ag§K{Q>V H$m‘Jmam§Mm gm‘m{OH$ gwajm H$m¶Xm - 2008 ¶mda MMm© H$am.
S>) ZmJarH$Îd gwYmaUm H$m¶XçmVrb VaVwXr {bhm.

à.à.à.à.à.4) Imbrb àíZm§Mr 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]
A) ^maVmVrb ‘{hbm§À¶m àíZmda MMm© H$am.
~) ZdD$Xma‘VdmXr YmoaU Am{U ^maVmVrb H$m‘Jmam§À¶m g‘ñ¶m {deX H$am.





Total No. of Questions : 2]

[5808]-592
S.Y.B.A.

SOCIOLOGY
SEC - 2B : RESEARCH PROJECTS : STEPS AND PROTOCOLS

(2019 Pattern) (Semester - IV) (CBCS) (24375)

Time :2 Hour] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4269 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 200 words (Any one) [10]

a) Explain the significance of ethics in social science research.

b) Write the steps of social research.

Q2) Write short notes on (Any three) [15]

a) Social Research.

b) Methodology.

c) Protection of respondents.

d)  Report Writing.

e) Variable.



P.T.O.
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Total No. of Questions : 2]

[5808]-592
S.Y.B.A.

SOCIOLOGY
SEC - 2 B : RESEARCH PROJECTS : STEPS AND PROTOCOLS

(2019 Pattern) (Semester - IV) (CBCS) (24375)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) CO{dH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4269

à.à.à.à.à.1) Imbrb àíZm§Mo CÎma 200 eãXmV {bhm. (H$moUVmhr EH$) [10]

A) gm‘m{OH$ g§emoYZmVrb Z¡{VH$VoMo ‘hËd ñnï> H$am.

~) gm‘m{OH$ g§emoYZmÀ¶m nm¶è¶m {bhm.

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) gm‘m{OH$ g§emoYZ

~) nÕÎmremó

H$) CÎmaXmË¶mMr gwajrVVm

S>) Ahdmb boIZ

B) Mb


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[5808] - 595
 S.Y.B.A.

STATISTICS (GENERAL)
CC-1D, ST-23844: Statistical Quality Control
(2019 CBCS Pattern) (Semester - IV) (24383)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.
3) Use of Statistical tables and calculator is allowed.
4) Symbols and abbrviations have thir usual meaning.
5) Graph papers will be provided on request.

P4270 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt each of the following. [1each]
A) Choose correct alternative of the following:
i) If a point is out of control in R-chart then we

a) Eliminate the out-of-control points and recalculate the control limits
b) Take one more sample and recalculate the control limits
c) Eliminate the out-of-control points and the nearest two points, and

recalculate the control limits.
d) Take no action

ii) The c-chart is based on.
a) Poisson distribution
b) Binomial distribution
c) Hypergeometric distribution
d) Normal distribution

iii) The p-chart used to study process under control related to:
a) Average b) Dispersion
c) Defects d) Defective

iv) The average value of the quality characteristic corresponding to in-control
state is represented by____in the control charts.
a) CL b) UCL
c) LCL d) Sample number

P.T.O.
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v) If a point is out of control in X -chart then we.

a) Take one more sample and recalculate the control limits
b) Eliminate the out-of-control points and the nearest two points, and

recalculate the control limits
c) Eliminate the out -of-control points and recalculate the control limits
d) Take no action

B) State whether the following statements are ture or false: [1each]
i) X - charts are used for checking whether the process is in control

with respect to average.
ii) The chance causes in the manufacture can be discovered and

corrected.
iii) The c-chart is used for the fraction defectives.
iv) Control charts can be used very effectively in the process of

hypothesis testing.
v) R-charts are used for checking whether the process is in control

with respect to average.

Q2) Attempt any four of the following: [4×5]
a) Describe various criterion for judging lack of controls in control charts.
b) Explain the chance causes and assignable causes of variations.
c) Explain in brief the meaning and purpose of statistical quality control.
d) Describe the procedure of construction of the c-chart.
e) For double sampling plan with N = 3000, n1 = 50,c1=2,n2=60,c2=4, find

the probability of producer’s risk for AQL p=1%.
f) For single sampling plan with n=10 and c=2, compute probability of

accepting a lot if the incoming quality is 0.1, use Binomial distribution.

Q3) Attempt any four of the following. [4×5]
a) What do you mean by saying that a production process is under statistical

control? Explain the necessity of constructing both R and X charts.

b) Derive an expression for Average Outgoing Quality (AOQ) in case of
Single Sampling Plan (SSP).
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c) Explain the constructions of R and X charts, when standards are
unknown.

d) Distinguish between a defect and defective. Describe the construction
and interpretation of C-chart.

e) A p-chart indicates that the average is 0.2. If 50 items are inspected each
day, what is the probability of detecting a shift of 0.04:

i) On the first day after the shift,

ii) By the end of the third day after the shift.

f) Describe the working of Double Sampling Plan (DSP).

Q4) Attempt any two of the following:

a) The following data indicates the sample mean and range values for 10
subgroups of size 5 items each.

Subgroup No. 1 2 3 4 5 6 7 8 9 10

Average (X) 18.8 19.2 18.9 19.3 19.1 18.6 10.8 19.2 18.7 19

Range (R) 0.9 1.2 1.6 1 2 1.8 1.7 0.7 2.1 1.9

Set up X  and R-charts, and examine the state of control of the given
process. Comment on your results. [10]

b)  The number of defects in each sample of 20 items are given below.

Item No. 1 2 3 4 5 6 7 8 9 10

No. of defects 4 3 0 2 0 0 5 0 2 3

Item No. 11 12 13 14 15 16 17 18 19 20

No. of defects 1 8 7 0 2 5 0 4 6 1

Draw c-chart and check whether the process is under control. [10]
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c) The following table is obtained from the inspected on completed units
of products in 20 lots of size 100 each:
LOT No. 1 2 3 4 5 6 7 8 9 10
No. of defectives 7 4 4 10 12 3 6 12 11 11

LOT No. 11 12 13 14 15 16 17 18 19 20
No. of defectives 6 7 4 8 10 4 11 4 8 6
Set up an appropriate control chart and comment on the state of control.

[10]
d) i) Describe the working of Double Sampling Plan (DSP). Obtain an

expression for average sample number in case of DSP. [7]
ii) Describe the terms ‘AQL’ and ‘LTPD’ in acceptance sampling plan.

[3]


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Q1) Attempt any Five of the following: [10]

a) Evaluate 
0

lim cos  sin  t t t

t
e t i e t j e k  


   

b) Find the gradient field of the function    2 2, , logzf x y z e x y  

c) Define curvature of a plane curve.

d) Give parametric representation for the cylinder 2 2 25y z  .

e) Find the curl of vector field      2 2 2F x y i y z j z x k      .

f) State Stoke’s theorem.

g) Find the divergence of vector field

      2 2 2F x y i y z j z x k      .

Q2) Attempt any four of the following: [20]

a) Find T, K, N for the curve given by   cos 2  sin 2  2 .r t t i t j k  

b) If u and v are two vector functions which possess first partial derivatives
then  . u v v  .×u – u.×v.

c) Show that  3 2 2F 2 3xy z i x j xz k    is conservative field. Find the

scalar field  , ,  s.t. F = grad .x y z   Hence compute the total workdone

by the particle moving from    1, 2,1  to 3,1,4 .

P.T.O.
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d) Evaluate  3 2 2

C

 x x y dx xy dy   where C is enclosed by the region

2 2 2 21,  9x y x y    .

e) Find the Flux of 2F zxi zyj z k   across the portion of the sphere
2 2 2 2x y z a    in the first octant in the direction away from the origin.

f) Evaluate 3 2 2

S

x dydz x ydzdx x zdxdy  using divergence theorem where

 S is closed surface bounded by the planes 0,z z b  and circle
2 2 2.x y a 

Q3) Attempt any Four of the following: [20]

a) Solve the initial value problem for  r t  where

   3 24  2d r t t t i t j t k
dt

     with initital condition  0 .r i j 

b) Find the arc length along the curve   6sin 2  6cos 2  5r t t i t j tk   from
0t   to t   also find the unit tangent vector of the curve.

c) Evaluate  2

C

3 2  x y ds where C is the line segment from (3, 6) to

(1, –1).

d) Evaluate 
C

xdy
y  where 2C: ,x t y t  for 1 2t  .

e) Show that the differential forms in the integrals is exact. Then evaluate

the integrals 
 

 3,5,0

1,1,2

.yzdx xzdy xydz 

f) Verify 
C C

F  
R

M Nn ds Mdy Ndx dxdy
y x

 
    

      for the vector field

F .yi  The region 2 2 2R : x y a   and its bounding circle C is

    cos  sin ,r a t i a t j  0 2 .t  
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Q4) Attempt any two of the following: [20]

a) State and prove tangential form of Green’s theorem. Hence evaluate
2 3

C

 xy dx x y dy  where C is the triangle with vertices (0, 0) (1, 0) (1, 2)

with positive orientation.

b) State divergence theorem in three dimension, hence evaluate 
S

F  n ds

where    3 2F sin 4x i zy j z x k    and ‘S’ is the surface of the

box with 1 2,  0 1,x y     1 4z   note that all six sides of the box
are included in S.

c) Evaluate 3

C

2x ds  for each of the following curves

i) C is the portion 3y x  from 1x    to 2x 

ii) C is the portion 3y x  from 2x   to 1x

d) Find the surface area of a sphere of radius ‘a’.

 
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Q1) Attempt each of the following:

A) Choose the correct alternative of the following: [1 each]

i) If E(X) = 7 then E(X–3) = _______

a) 10 b) 4

c) 7 d) 3

ii) If the  p.m.f. of discrete random variable is

X 0 1 2

 P(X) 0.5 0.3 0.2

Then mode (X) = ________.

a) 0 b) 1
c) 2 d) 1.5

iii) If first two raw moments of a distribution are 1 & 4 respectively
then variance of the distribution is
a) 1 b) 2
c) 3 d) 4

iv) Let the covariance between X and Y is Cov (X, Y) then
Cov (X+b, Y+d) is

a) Cov (X, Y) b) ac Cov(X, Y)

c) abcd Cov(X, Y) d) bd Cov (X, Y)

P.T.O.



2[5808]-598

v) In vital statistics the rates of vital events are measured in :

a) Fraction b) Percentages

c) Per thousand d) Per Million

(B) State whether the following statement is True or False. [1 each]

i) Vital statistics deals with study of births, deaths marriages etc.

ii) A discrete random variable assumes only finite number of values.

iii) If X and Y are independent random variables then Corr(X, Y) = 1.

iv) If X follows Poisson (3) then variance of X is 3.

v) Mode of the discrete distribution is always unique.

Q2) Attempt any Four of the following: [4×5=20]

a) Define Binomial distribution. Also mention three real life situations, where
the distribution is applicable.

b) Following is the joint probability distribution of (X, Y):

Y 1 2 Total
X

0 1/4 - 2/4

1 - - -

Total  - 2/4

Find

i) Missing Probabilities

ii) Covariance between X and Y

iii) Check whether X and Y are independent.

c) Obtain mean and variance of discrete uniform random variable taking
values 1, 2....n.

d) Explain how S.T.D.R is superior to C.D.R.
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e) Let a random variable X has Poisson distribution with mean 2 then find

i) P(X=3)
ii) P(X>1)
iii) Var(X)
iv) P(X = 3.15)

f) Explain what is meant by marginal probability distribution of X and Y
with example.

Q3) Attempt any Four of the following: [4×5=20]
a) Suppose a fair coin is tossed thrice, X denotes number of heads obtain

the probability distribution of X also compute E(X+2).
b) Explain the term:

i) infant mortality rate,
ii) dependency ratio

c) Given the following distribution function of random variable X

X 0 1 2  3 4

F ( )x x 0.1 0.4 0.55 0.9 1

Obtain:

i) p.m.f. of X

ii) P(2<X<5)

iii) mode of X.

d) Does cov(X, Y) = 0 imply that X and Y are independent? Justify?

e) Let X follows binomial distribution with mean = 10 and variance = 5.

Find

i) the parameter of the distribution.

ii) P(X = 0)

iii) P(X>2)

f) Define conditional expectation of X given Y and Y given X. Also give
their interpretations.
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Q4) Attempt any Two of the following: [2×10=20]

a) X and Y are two discrete r.v.s with joint p.m.f:

           

 

1,     for , 0,0 , 0,1 , 1,0 , 1,1  and
4

, 0      otherwise

p X Y x y

p X Y

 



i) Write joint p.m.f in the tabular form.

ii) Cov(X,Y)

iii) Var(X+Y)

iv) Corr(X, Y)

b) i) State the additive property of Poisson distribution, also give any
two situations where the distribution is applicable.

ii) Given the following p.m.f of randow variable X

 X   0  1  2  3

P(X) 0.10 0.3 0.25 0.35

Obtain E(2X+3)

c) Explain in brief the methods of collecting vital statistics.

d) i) State the property of effect of change of origin and scale on variance
and covariance with example.

ii) Calculate the variance of X, if X denotes the number obtain on the
upper face of a fair dice.

 



Q1) Answer any Three of the following questions in 50 words. [15]

a) Write a note on Nyaya Darshana’s views on Shabda pramana.

b) Explain Vaisheshika’s notion of Padarth.

c) Narrate Samkhya’s theory of liberation.

d) Write a note on Purvamimansa’s concept of Apurva.

e) Explain Trividh-Satta theory Shankaracharya.

Q2) Write short notes on any Three of the following in 50 words: [15]

a) Explain Nyaya theory of Anumana.

b) Narrate Samkhya evaluation of Tattvas.

c) Write a note on Yoga concepts of Yama.

d) Elucidate Purvamimansa’s concept of Apurva.

e) Explain Shankaracharya’s notion of Maya.

Total No. of Questions : 4]
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Q3) Answer Two of the following questions in 200 words. [20]

a) Explain Nyaya notion of Anuman as a pramana.

b) Narrate Purvamimansa’s attitude towards Veda.

c) Elucidate Shankaracharya’s concept of Moksha.

Q4) Answer any One of the following questions in 400 words. [20]

a) Explain Nyaya and Vaisheshika’s concept of God.

b) Describe Yoga’s conceptions of Chitta in detail.


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P4272

àíZ 1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. [15]

A) Ý¶m¶ Xe©ZmÀ¶m eãX à‘mUmdarb Ñ{ï>H$moZmda Q>rn {bhm.

~) d¡eo{fH$m§Mr nXmW© g§H$ënZm ñnï> H$am.

H$) gm§»¶m§Mr ‘wº$s g§H$ënZm ñnï> H$am.

S>) nyd©‘r‘m§goÀ¶m Anyd© g§H$ënZoda Q>rn {bhm.

B) e§H$amMm¶mªMm {Ì{dY gÎmm {gÕm§V ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË¶mhr VrZ Q>rnm 50 eãXm§V {bhm. [15]

A) Ý¶m¶m§Mm AZw‘mZ {gÕm§V ñnï> H$am.

~) gm§»¶m§À¶m VËd g§H$ënZodarb ‘yë¶‘mnZ {deX H$am.

H$) ¶moJXe©ZmÀ¶m ¶‘ g§H$ënZoda Q>rn {bhm.

S>) nyd©‘r‘m§goÀ¶m Anyd© g§H$ënZoda ‘V ‘m§S>m.

B) e§H$amMm¶m©Mr ‘m¶m g§H$ënZm gm§Jm.

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎma 200 eãXm§V {bhm. [20]
A) AZw‘mZ EH$ à‘mU ¶mdarb Ý¶m¶Xe©ZmMo ‘V gm§Jm.

~) nyd©‘r‘m§goMm doX{df¶H$ Ñ{ï>H$moZ ñnîQ> H$am.

H$) e§H$amMm¶m©Mr ‘moj g§H$ënZm gm§Jm.

àíZ 4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎma 400 eãXm§V {bhm. [20]

A) Ý¶m¶ Am{U d¡eo{fH$ ¶m§Mr B©ída g§H$ënZm ñnï> H$am.

~) ¶moJXe©ZmMr {MÎm g§H$ënZm g{dñVanUo ‘m§S>m.


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Q1) Write Answer in 50 words. (Any Three) : [15]

a) Explain Descartes’s Innate Ideas theory.

b) Explain Spinoza’s mora philosophy.

c) Explain George Berkeley’s abstract Ideas.

d) Explain Hume concept of Soul.

e) State the Kant’s problem about knowledge.

Q2) Write Answer any three of the following questions in 50 words each. [15]

a) Explain Descartes’s concept of Soul.

b) Explain Spinoza’s pantheism.

c) Elaborate John Locke’s concept of Tabula Rasa.

d) Explain Hume’s Skepticism.

e) State the Hegel’s thinking about ‘Religion’ and ‘Art’.

SEAT No. :

P.T.O.
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Q3) Write short notes on any two of the following in 200 words each. [20]

a) Descartes’s Doubt method.

b) Spinoza’s “Substance” Idea.

c) Hume’s Empiricism.

d) Hegel’s Dialectical method.

Q4) Answer any one of the following in 400 words each. [20]

a) Elaborately discuss Descartes’s body-mind problem.

b) Elaborately explain Hegel’s absolute idealism.


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àíZ 1) 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]

A) XoH$mV©Mm OÝ‘:OmV H$ënZm {gÕm§V ñnï> H$am.

~) pñnZmoPmMo Z¡{VH$ VÎdkmZ {deX H$am.

H$) Om°O© ~H$b}Mo A‘wV© H$ënZo {df¶H$ {dMma gm§Jm.

S>) h¶y‘Mr AmË‘ g§H$ënZm {deX H$am.

¶) H$m§Q>Mr kmZ {df¶H$ g‘ñ¶m gm§Jm.

àíZ 2) 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]

A) XoH$mV©Mr AmË‘-g§H$ënZm {deX H$am.

~) pñnZmoPmÀ¶m gd}ídadmXmMo {ddoMZ H$am.

H$) bm°H$Mo H$moar-nmQ>r H$ënZo {df¶H$ {dMma ñnîQ> H$am.

S>) h¶y‘Mm g§e¶dmX {deX H$am.

¶) hoJobMo "Y‘©' Am{U "H$bm' {df¶H$ {dMma gm§Jm.

P.T.O.
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àíZ 3) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr XmoZ) [20]

A) XoH$mV©Mr g§e¶ nÕVr.

~) pñnZmoPmMr "Ðì¶' H$ënZm.

H$) h¶y‘Mm AZŵ ddmX.

S>) hoJobMr Û§ÛmË‘H$ nÕVr.

àíZ 4) 400 eãXm§V CÎma {bhm. (H$moUVohr EH$) [20]

A) XoH$mV©Mr eara-‘Z g‘ñ¶m g{dñVa {deX H$am.

~) hoJobMm {Zanoj H$ënZmdmX g{dñVa ñnï> H$am.


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Q1) Answer the questions in 50 words (any three) [15]
a) Give the definitions of applied ethics.

b) Describe the need of environmental ethics.

c) Explain shortly about marriage and status of women according
Simon-de-Beauvoir.

d) What the Hippocratic Oath?

e) Explain in short ‘marriage is ceremony in India culture’.

Q2) Answer the questions in 200 words (Any Three) [15]
a) Discuss about the scope of applied ethics.

b) Discuss the principle of beneficence as a principle of medical ethics.

c) Explain the inter cast marriage from the point of view of marital ethics.

d) Discuss about the preservation of animals.

e) Write briefly about uses and misuses of the media during pandemic.

Q3) Write a short notes (Any Two) [20]
a) Animal rights.

b) Social moral impact of pandemic.

c) Special marriage act.

Q4) Write short notes (Any one) [20]
a) Explain the types of marriage in Hinduism.

b) State the nature of Indian health care system.


P.T.O.
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à.à.à.à.à.1) H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXmV {bhm. [15]

A) Cn¶mo{OV Zr{VemómÀ¶m ì¶m»¶m Úm.
~) n¶m©daUmÀ¶m Zr{VemómMr JaO dU©Z H$am.
H$) {g‘m± X ~modydm±À¶m Ñï>rH$moUmVyZ {ddmh d {ó¶m§Mo ñWmZ WmoS>³¶mV ñnï> H$am.
S>) {hßnmoH«o${Q>H$Mr enW H$moUVr Amho.
B) ^maVr¶ g§ñH¥$VrV {ddmh hm EH$ g§ñH$ma Amho ho WmoS>³¶mV ñnï> H$am?

à.à.à.à.à.2) H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. [15]

A) Cn¶mo{OV Zr{VemómÀ¶m ì¶márda MMm© H$am.
~) d¡ÚH$s¶ Zr{VemómMo VÎd åhUyZ namonH$ma ¶m VÎdmMr MMm© H$am.
H$) d¡dm{hH$ Zr{VemómÀ¶m Ñï>rH$moUmVyZ Am§VaOmVr¶ {ddmh g§H$ënZm ñnï> H$am.
S>) àmÊ¶m§À¶m ajUm~Ôb MMm© H$am.
B) gmWrÀ¶m amoJmÀ¶m doir ‘mÜ¶‘mM§ gXþn¶moJ d Xþê$n¶moJ ¶mda WmoS>³¶mV {bhm.

à.à.à.à.à.3) H$moUË¶mhr XmoZda g§{já Q>rnm {bhm. [20]

A) àmÊ¶m§Mo h¸$
~) ‘hm‘marMm gm‘m{OH$ Z¡{VH$ à^md
H$) {ddmh{df¶H$ {deof H$m¶Xm

à.à.à.à.à.4) H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]

A) qhXÿ Y‘m©Vrb {ddmhmMo àH$ma gm§Jm.
~) ^maVr¶ Amamo½¶ godm àUmbrMo ñdê$n g{dñVa gm§Jm.


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(CBCS 2019 Pattern ) (Semester-IV) (24425)

Time :2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4275 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes on any three of the following in 50 words each. [15]

a) Rajayoga.

b) Bandha Mudra.

c) Dharana.

d) Pratyahara.

e) The concept of Ishvara.

Q2) Answer the following question in 200 words (Any one) [10]

a) What is Kriyayoga.

b) Make the comparision between ‘Hathayoga’ and ‘Rajayoga’.



P.T.O.
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Total No. of Questions : 2]

[5808]-602
S.Y.B.A.

PHILOSOPHY
SEC-2B : A Course on Philosophy and Practice of Yoga

(CBCS 2019 Pattern) (Semester-IV) (24425)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) CO{dH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZ n{ÌH$m nmhmdr.

P4275

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZda àË¶oH$s 50 eãXm§V Q>rnm {bhm. [15]

A) amO¶moJ

~) ~§Y‘wÐm

H$) YmaUm

S>) àË¶hmam

B) ¶moJmVrb B©œa g§H$ënZm

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXm§V {bhm. [10]

A) {H«$¶m¶moJ åhUOo H$m¶

~) "hR>¶moJ' AmUr "amO¶moJ' ¶m§Mr VwbZm H$am.





Total No. of Questions : 5]

[5808]-603
S.Y. B.A.

SOCIAL WORK
CC - 1D : Population Education

(2019 Pattern) (Semester - IV) (24433)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compolsory
2) Figures to the right indicate full marks.

P4644 [Total No. of Pages : 4

SEAT No. :

Q1) Answer any one question in 500 words: [14]

Write the importance of population Education and Scope of Indian population?

OR

 Describe the features of Indian Population and how psychological Factors
affecting on population growth.

Q2) Answer any one question in 500 words: [14]

Write how Economic Factors affecting on population growth and explain the
impact on basic amenities in the urban areas?

OR

 Discuss the features of Indian population policy and importance of Population
education.

Q3) Answer any one question in 500 words: [14]

Write the Scope of World Population and explain it impacts on the global.

OR

 Write the detail policies and programmes on control the population in India
within five-year plan?

P.T.O.
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Q4) Answer any one question in 500 words: [14]

Write the concept of population Education and Scope of population Education.

OR

 Importance of population education in Indian Society and its impact on socio-
culture.

Q5) Write short notes on. (any two) [14]

a) Migration

b) Morbidity

c) Objective of population Education

d) Source of Population Control


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Total No. of Questions : 5]

[5808]-603
S.Y. B.A.

SOCIAL WORK
CC - 1D : Population Education

( Pattern 2019) (Semester - IV)  (24433)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb H§$gmVrb A§H$ JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P4644

à.à.à.à.à.1) H$moUVohr EH$m àíZmMo CÎma 500 eãXmV {bhm. [14]

bmoH$g§» òMo _hÎd {ejU Am{U ^maVr` bmoH$g§» òMr ì`már {bhm.

qH$dm

^maVr` bmoH$g§» òMr d¡{eîQ>ço Am{U bmoH$g§»`m dmT>rda _Zmod¡km{ZH$ KQ>H$ H$go n[aUm_ H$aVmV
`mMo dU©Z H$am.

à.à.à.à.à.2) H$moUVohr EH$m àíZmMo CÎma 500 eãXmV {bhm. [14]

bmoH$g§»`m dmT>rda Am{W©H$ KQ>H$m§Mm H$gm n[aUm_ hmoVmo Vo {bhm Am{U ehar ^mJmVrb _yb^yV
gw{dYm§da H$m` n[aUm_ hmoVmo Vo ñnï> H$am.

qH$dm

^maVr` bmoH$g§»`m YmoaUmMr d¡{eîQ>ço Am{U bmoH$g§»`m {ejUmMo _hÎd `m{df`r MMm© H$am.

à.à.à.à.à.3) H$moUVohr EH$m àíZmMo CÎma 500 eãXmV {bhm. [14]

OmJ{VH$ bmoH$g§» òMr ì`már {bhm Am{U Ë`mMm OmJ{VH$ ñVamda hmoUmam n[aUm_ ñnï> H$am.

qH$dm

n§Mdm{f©H$ `moOZoV ^maVmVrb bmoH$g§»`m {Z §̀ÌUm~m~V Vnerbdma YmoaUo Am{U H$m ©̀H«$_ {bhm.
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à.à.à.à.à.4) H$moUVohr EH$m àíZmMo CÎma 500 eãXmV {bhm. [14]

bmoH$g§»`m {ejUmMr g§H$ënZm Am{U bmoH$g§»`m {ejUmMr ì`már {bhm.

qH$dm

^maVr` g_mOmV bmoH$g§»`m {ejUmMo _hÎd Am{U Ë`mMm gm_m{OH$-g§ñH¥$Vrda hmoUmam n[aUm_
{bhm.

à.à.à.à.à.5) Imbrbn¡H$s H$moUË`mhr XmoZ {Q>nm {bhm. [14]

A) ñWbm§Va

~) _m°{~©{S>Q>r

H$) bmoH$g§» òÀ`m {ejUmMo C{Ôï>

S>) bmoH$g§»`m {Z §̀ÌU ómoV





Q1) Attempt any eight questions : [16]
a) What is the backbone of public system in every country?
b) What is Human resource development?
c) State the performance appraisal two objectives.
d) What is Stress?
e) In what language did the word Motivation originate?
f) Name any two factors that affect Motivation.
g) Write down any two functions of employee unions.
h) In which article of the constitution the citizens are given the right to

organize?
i) What is a strike?
j) Explain any two types of accountability.

Q2) Attempt any four questions (50 words) : [16]
a) Concept of Administrative accountability.
b) Concept of administrative corruption.
c) Administrative Tribunal.
d) Stress Management.
e) Administrative Discipline.
f) Rightstrike.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5808]-604
S.Y. B.A.  (Semester - IV)

PUBLIC ADMINISTRATION
DSE-1B : Personnel Administration
(2019 Pattern) (CBCS) (24441)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4276

SEAT No. :

P.T.O.
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Q3) Attempt any three questions (100 words) : [18]

a) Explain the problem facing HR.

b) Explain the different types of Motivation.

c) What are the objectives of discipline in the civil services.

d) Explain the process of performance appraisal.

Q4) Attempt any two questions (200 words) : [20]

a) What are the causes at administrative corruption?

b) Explain the objectives and functions of the vitale council.

c) What is stress management? Write down information on stress
management strategies.





Total No. of Questions : 4]

[5808]-604
S.Y. B.A.  (Semester - IV)

PUBLIC ADMINISTRATION
DSE-1B : Personnel Administration
(2019 Pattern) (CBCS) (24441)

(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

3) gX§̂ m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ  1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) àË òH$ XoemV gmd©O{ZH$ ì`dñWoMm H$Um H$moUVm AgVmo.

~) _mZd g§gmYZ {dH$mg åhUOo H$m`?

g) H$m ©̀{gÕr _yë`_mnZMr H$moUVrhr XmoZ C{ÔîQ>ço gm§Jm.

X) VUmd åhUOo H$m`?

B) Motivation (A{^àoaUm) `m eãXmMr _yi CËnÎmr H$moUË`m ^mfoVyZ Pmbr?

\$) A{^àoaUog à^m{dV H$aUmao H$moUVohr XmoZ KQ>H$ gm§Jm.

`) H$_©Mmar g§KQ>Zm§Mo H$moUVohr XmoZ H$m ©̀ {bhm.

a) amÁ`KQ>ZoÀ`m H$moUË`m H$b_mV ZmJarH$m§Zm g§KQ>Zm XoÊ`mMm A{YH$ma XoÊ`mV Ambm Amho.

b) g§n åhUOo H$m`?

d) CÎmaXm{`ËdmMo H$moUVohr XmoZ àH$ma ñnï> H$am.

àíZ  2) Imbrbn¡H$s H$moUË`mhr Mma {Q>nm {bhm. (50 eãXmV) [16]

A) àemgH$s` CÎmaXm{`Ëd g§H$ënZm

~) àemgH$s` «̂ï>mMma

P4276

3 P.T.O.
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g) àemgH$s` Ý`m`m{YH$aU

X) VmUVUmd ì`dñWmnZ

B) àemgH$s` AZwemgZ / {eñV

\$) g§nmMm A{YH$ma

àíZ  3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) _mZd g§gmYZm g_moarb g_ñ`m ñnï> H$am.

~) A{^àoaUoMo {d{dY àH$ma ñnï> H$am.

H$) gZXr godoVrb {eñVrMm AW© gm§JyZ CX²XrîQ>ço ñnï> H$am.

S>) H$m ©̀{gÕr _yë`_mnZmMr à{H«$`m ñnï> H$am.

àíZ  4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) àemgH$s` «̂ï>mMma åhUOo H$m` Vo gm§JyZ H$maUo d Cnm``moOZm {bhm.

~) pìhQ>bo n[afXoMr CX²XrîQ>ço d H$m`© ñnï> H$am.

H$) VmUVUmd ì`dñWmnZ åhUOo H$m`? VmUVUmdmMo ì`dñWmnZ H$aÊ`mgmR>r Amdí`H$
Cnm``moOZm§Mr _m{hVr {bhm.





Q1) Attempt any eight questions : [16]
a) Who coined the concept of bureaucracy?
b) 'Bureaucracy' which language has the original word.
c) Which NGOs contribute to the development of children?
d) Who coined the concept of Human Development?
e) State any two human development indices?
f) Write down the meaning at sustainable development.
g) Who is the originator of Human Development Index?
h) What is globalization?
i) What is the female literacy rate in India?
j) Write down any two name of NGOs?

Q2) Attempt any four questions (50 words) : [16]
a) Meaning of Bureaucracy
b) Nature of NGOs
c) Reasons for the growth of voluntary groups?
d) Role of Voluntary groups in woman development.
e) Voluntary organization
f) Woman empowerment

Total No. of Questions : 4]

[Total No. of Pages : 4

[5808]-605
S.Y. B.A.  (Semester - IV)

24442 : PUBLIC ADMINISTRATION
DSE-2B : Development Administration

(2019 Pattern) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4277

SEAT No. :

P.T.O.
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Q3) Attempt any three questons (100 words) : [18]

a) Explain to Gender Equality?

b) Role of voluntary groups in children development?

c) Role of NGOs of Public Administration.

d) Explain to objectives of Bureaucracy.

Q4) Attempt any two questions (200 words) : [20]

a) Prepared by Max weber Bureaucracy Model.

b) What is volunatry organization & Explain to Role of voluntary organization
in Development.

c) Explain to sustainable development.





Total No. of Questions : 4]

[5808]-605
S.Y. B.A.  (Semester - IV)

24442 : PUBLIC ADMINISTRATION
DSE-2B : Development Administration

(2019 Pattern) (CBCS)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$.
2) COdrH$S>rb A§H$ àíZmMo nwU© JwU Xe©{dVmV.

3) gX§̂ m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ  1) H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) ZmoH$aemhr hr g§H$ënZm H$moUr _m§S>br?

~) "ã ẁamoH«$gr' hm eãX H$moUË`m ^mfoVrb _wi eãX Amho?

g) _wbm§À`m {dH$mgmV `moJXmZ XoUmè`m ñd §̀ godr g§ñWmMr Zmdo gm§Jm.

X) "_mZd {dH$mg' `m g§H$ënZoMm nwañH$ma H$moUË`m g§ñWoZr Ho$bm.

B) H$moUVohr XmoZ _mZd {dH$mg {ZX}eH$ gm§Jm?

\$) _mZd {dH$mg {ZX}e§H$mMo OZH$ H$moU?

`) emídV {dH$mg g§H$ënZoMm AW© gm§Jm.

a) OmJ{VH$sH$aU åhUOo H$m`?

b) ^maVmV _{hbm gmjaVm Xa {H$Vr Q> o̧$ Amho.

d) H$moUË`mhr XmoZ J¡a gaH$mar g§KQ>ZmMr (NGOs) Zmdo gm§Jm?

àíZ  2) Imbrbn¡H$s H$moUË`mhr Mma {Q>nm {bhm. (50 eãXmV) [16]

A) ZmoH$aemhrMm AW©

~) J¡a gaH$mar g§ñWmMo ñdén

P4277

3 P.T.O.
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g) ñd §̀ godr JQ> dmT>Ê`mMr H$maUo

X) ñÌr {dH$mgmVrb ñd §̀ godr g§ñWmMr ŷ{_H$m

B) ñd §̀ godr g§KQ>Zm

\$) ór gdbrH$aU

àíZ  3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) qbJ g_mZVm `mda WmoS>Š`mV {bhm.

~) _wbm§À`m {dH$mgm_Ü ò ñd §̀ godr g§ñWmMo `moJXmZ ñnï> H$am.

H$) gmd©O{ZH$ àemgZmV J¡a gaH$mar g§ñWmMr ŷ{_H$m ñnï> H$am.

S>) ZmoH$aemhrMo d¡{eîQ>ço ñnï> H$am.

àíZ  4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) _°Šg do~a à{UV ZmoH$aemhrMo àmén ñnï> H$am.

~) ñd §̀ godr g§KQ>Zm ì`m»`m gm§JyZ ñd §̀ godr g§ñWmMr {dH$mgmVrb ŷ{_H$m ñnï> H$am.

H$) emídV {dH$mgmMr g§H$ënZm ñnï> H$am.





Total No. of Questions : 4]

[5808]-606
S.Y. B.A.

PUBLIC ADMINISTRATION
CC - 1D : District Administration

(2019 Pattern) (Semester - IV) (CBCS) (24443)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2 Figures to the right indicate full marks.

P4278 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions (20 words each) [16]

a) What is District Police Administration?

b) State two functions of District Superintendent of Police.

c) L.C.B. explain the meaning.

d) Explain the two functions of Police Patil.

e)  Explain the meaning of District Court.

f) What is the meaning of Distric Consumer Court?

g) State two features of District Consumer Court.

h) State two problems of District Prison.

i) What is District Planning Committee?

j) Explain the meaning of district rural development.

Q2) Attempt any four questions (50 words) [16]

a) State the functions of District Superintendent of Police.

b) State the features of District Consumer Court.

c) State the Role of District Planning Committee.

d) Explain the meaning of District disaster management.

e) What is District Prison administration?

f) State the importance of District Rural Development Organization.

P.T.O.
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Q3) Attempt any three questions (100 words) [18]

a) Sate the role of District Superintendent of Police.

b) Explain the function of district justice system.

c) Explain the structure of district prison administration.

d) Describe the features of District Prison administration.

e) Describe the features of District rural development organization.

Q4) Attempt any two questions (200 words) [20]

a) State the powers and functions of the district Superintendent of Police.

b) Explain the relationship between Police Administration and Public.

c) Explain the information about district Rural Development Institutions


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Total No. of Questions : 4]

[5808]-606
S.Y. B.A.

PUBLIC ADMINISTRATION
CC - 1D : District Administration

(2019 Pattern) (Semester - IV) (CBCS) (24443)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4278

à.à.à.à.à.1) H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (àË¶oH$s 20 eãXmV) [16]

A) {Oëhm nmo{bg àemgZ åhUOo H$m¶?

~) {Oëhm A{YjH$mMr XmoZ H$m¶} gm§Jm.

H$) L.C.B. Mm AW© gm§Jm.

S>) nmo{bg nmQ>rbMr XmoZ H$m¶© gm§Jm.

B) {Oëhm Ý¶m¶mb¶mMm AW© gm§Jm.

’$) {Oëhm J«mhH$ Ý¶m¶mb¶ åhUOo H$m¶?

¶) {Oëhm J«mhH$ Ý¶m¶mb¶mMr XmoZ d¡{eï>¶o gm§Jm.

a) {Oëhm H$mamJ¥hmÀ¶m XmoZ g‘ñ¶m g§mJm.

b) {Oëhm {Z¶moOZ g{‘Vr åhUOo H$m¶?

d) {Oëhm J«m‘rU {dH$mg g§ñWoMm AW© gm§Jm.

à.à.à.à.à.2) H$moUVohr Mma àíZ gmoS>dm (50 eãXmV) [16]

A) nmo{bg A{YjH$mMo H$m¶© gm§Jm.

~) {Oëhm J«mhH$ Ý¶m¶mb¶mMr d¡{eï>ço gm§Jm.

H$) {Oëhm {Z¶moOZ g{‘VrMr ŷ{‘H$m gm§Jm.

S>) {Oëhm AmnÎmr ì¶dñWmnZmMm AW© ñnï> H$am.

B) {Oëhm H$mamJ¥h àemgZ åhUOo H$m¶?

’$) {Oëhm J«m‘rU {dH$mg g§ñWoMo ‘hËd gm§Jm.
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à.à.à.à.à.3) H$moUVohr VrZ àíZ gmoS>dm. (100 eãXmV) [18]

A) {Oëhm nmo{bg A{YjH$mMr ŷ{‘H$m gm§Jm.

~) {Oëhm Ý¶m¶ ì¶dñWoMo H$m¶© gm§Jm.

H$) {Oëhm H$mamJ¥h àemgZmMr aMZm ñnï> H$am.

S>) {Oëhm H$mamJ¥h àemgZmgmR>r d¡{eï>ço gm§mJm.

B) {Oëhm J«m‘rU {dH$mg g§ñWoMr d¡{eï>o gm§Jm.

à.à.à.à.à.4) H$moUVohr XmoZ àíZ gmoS>dm. (200 eãXmV) [20]

A) {Oëhm nmo{bg A{YjH$mMo A{YH$ma d H$m¶} gm§Jm.

~) nmo{bg àemgZ Am{U gm‘mÝ¶ ZmJ[aH$ g§~§Y ñnï> H$am.

H$) {Oëhm J«m‘rU {dH$mg g§ñWoMr ‘m{hVr ñnï> H$am.





Total No. of Questions :3]

[5808]-607
S.Y.B.A.

PUBLIC ADMINISTRATION
SEC-2B (2) Basics of Indian constitution
(2019 Pattern) (CBCS) (Semester -IV)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4279 [Total No. of Pages : 2
SEAT No. :

Q1) Write answers of the following questions in 200 words. (Any one) [10]

a) Explain the demerits of Fundamental duties?

b) Explain the social Directive principles of state policy?

Q2) Write answers of the following questions in 200 words. (Any one) [10]

a) Explain the political and Economic Directive Principles of state policy?

b) Explain the Nature of Fundamental duties?

Q3) Write Notes (Any one). [5]

a) Importance of Directive principles of state policy.

b) Importance of Fundamental duties.



P.T.O.
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Total No. of Questions : 3]

[5808]-607
S.Y. B.A.

PUBLIC ADMINISTRATION
SEC -2 B(2) : Basics of Indian Constitution

(2019 Pattern) (CBCS) (Semester -IV)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZmMo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4279

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm (H$moUVmhr EH$). [10]
A) ‘yb^yV H$V©ì¶m§Mo Xmof ñnï> H$am?

~) amÁ¶mÀ¶m YmoaUmMr gm‘m{OH$ ‘mJ©Xe©H$ VËdo ñnï> H$am?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm (H$moUVmhr EH$). [10]
A) amÁ¶mÀ¶m YmoaUmMr amOH$s¶ Am{U Am{W©H$ ‘mJ©Xe©H$ VËdo ñnï> H$am?

~) ‘yb^yV H$V©ì¶mMo ñdén ñnï> H$am?

à.à.à.à.à.3) {Q>nm {bhm (H$moUVrhr EH$). [5]
A) amÁ¶mÀ¶m ‘mJ©Xe©H$ VËdm§Mo ‘hËd.

~) ‘yb ŷV H$V©ì¶mMr Cn¶wº$Vm.


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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4280 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any two of the following: [16]

a) You are a reporter with a national daily. You have heard that a multi-
storey building near the main railway station has collaped causing panic
in the area. You rush to the site of the accident along with your team.
Write a report with reference to the following points:

* Time of the accident.

* Place of the accident.

* Number of casualties.

* Cause of the accident.

* Rescue operation conducted by the authorities.

b) Your college has organized a Blood - donation camp on the occassion
of the Republic Day. Write a report of the event in 125-150 words by
considering the number of participants, name of the blood bank etc.

c) In your college Department of English has organized a seminar for UG
students of the colleges of your zone on the topic,  Career opportunities
for the Special English  students. Write a report of the seminar with the
help of the following points: Date, time and place - No. of participants -
speech of resource person - presidential address and objectives and
outcomes of the seminar.

P.T.O.
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Q2) a) Attempt any one of the following: [10]
i) You are asked to compere ‘Farewell Function’ for the last year

students of the college. Write a script by considering following
points: Introduction of the programme and cheif guest worshipping
the idol - Felocitation - speeches of the students - speech of the
chief guest - presidential address - vote of thanks etc.

OR
ii) Department of  English of your college has organized a guest lecture

series for the students you are comperer of the inauguration
ceremoney of the guest lecture series. Write a programme script to
host the programme.

b) Attempt any one of the following: [10]
i) What is blog? Explain elements of blog.

OR
ii) Write a blog on personality development.

Q3) Attempt any Two of the following: [12]
a) Explain how Radio is more convenient medium of mass communication

than print media.

b) What are the characteristics of Radio?
c) What are the limitations of Radio as a medium?

Q4) Attempt any two of the following: [12]
a) What are the major characteristics of television as a medium?
b) The term ‘Edutainment’ is aptly applied for television. Explain.
c) Discuss, Television as convienient means of Mass communication in

today’s era.

Q5) Attempt any two of the following. [10]
a) Bring out the difference between Radio and Television as means of mass

communication.
b) Distinguish between print media and electronic media.
c) Compare and contrast television advertisements with radio advertisements.


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Q1) Answer any eight (Around 20 words each) [16]

a) Define Hotel.

b) What are various types of hotels?

c) Explain the concept of youth hotel.

d) Define Motels.

e) What is full form of VISA?

f) What does hotel on wheels is known?

g) What does a hotel situated near an airport is known?

h) What is hotel tariff?

i) Define capsule hotel.

j) What do you understand by the term “wake up call”?

Q2) Write short notes on any three (Around 50 words each). [18]

a) Explain the concept front office in hotel industry.

b) Explain various types of star hotels.

c) What do you mean by European meal plan?

d) Explain the Ministry of Foreign Affairs.

P.T.O.
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Q3) Answer any two (Around 100 words each) [16]

a) What do you mean by American hotel meal plan?

b) Elaborate the origin of hotel industry in India.

c) Explain various types of hotel rooms.

Q4) Answer in detail any one (Around 500 words each). [20]

a) Explain the procedure of “check in” and “check out”.

b) Elaborate the concept of homestay and its important in today’s world.

 
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